THREE VILLAGE CENTRAL SCHOOL DISTRICT SETAUKET, NEW YORK



BOARD OF EDUCATION AGENDA MATERIALS

DATE OF BOARD MEETING: August 24, 2016 DATE MATERIAL SUBMITTED: August 19, 2016

OFFICE OF ORIGIN: <u>District Clerk</u> CATEGORY OF ITEM: <u>Minutes</u>

TITLE: Minutes of June 8, 14, 22, and July 13, 2016

Staff Recommendation:

Be it RESOLVED that the Board of Education accept the minutes of its meetings of June 8, 14, 22, and July 13, 2016, as presented.

NOT AN OFFICIAL RECORD; SUBJECT TO CHANGE

	·		

THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JUNE 8, 2016

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 8, 2016 at 5:30 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

Members absent:

Inger Germano, Trustee

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Rebecca Cimini, Vice President of Student Council

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 5:37 p.m.

MOVE INTO EXECUTIVE SESSION

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION The meeting reconvened into open session at 7:35 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA

Addenda:

- O.1 SEQRA Determination in Connection with 2016-2017 Capital Improvement Projects
- Q.1 Resolution Abolishing Positions and Terminating Employees Having Least Seniority
- Item R.2 Schedule B.5

Replacement Pages:

- Item P Personnel Actions Establishment of Assistant Plant and Facilities Administrator and Addition of Titles to the Three Village School Administrators' Association Collective Bargaining Agreement.
- Item Q Approval of Agreement between the Three Village Central School District and the Three Village School Administrators' Association
- Item R.1 Schedule A.6
- Item R.2 Cover Page and Schedule B.2

STUDENT AND STAFF RECOGNITION Kathryn White presented a Certificate to students Neal Carpino and Matthew Chen in recognition of their achievements in the Social Studies Bee.

Mr. Mutter and Mr. Weiner presented certificates to Dupont Science Essay Contest winners.

Gary Vorwald presented certificates to Gelinas Junior High School Science Olympiad team members

Patrick McManus presented certificates to Murphy Junior High School Science Olympiad team members.

Ms. Serigano and Mr. Suesser presented certificates to WMHS Science Olympiad team members.

PUBLIC PARTICIPATION

Faculty members thanked the Board for hiring back excessed teachers.

BIDS

Bid Number B16-101 – Driver and Traffic Safety Education Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award bid number B16-101 to Turning Point Driving School, Inc., as presented.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

REPORTS

Student Representative Rebecca Cimini, Vice President of Student Council, reported on recent and upcoming events.

Report

STEM

Kerrin Welch-Pollera, Sean Dowling, Gretchen Tranchino, and Colleen Maier presented a report

on STEM.

ITEMS FOR BOARD DISCUSSION There were no Items for Board Discussion.

ITEMS FOR BOARD ACTION

Recommendation to Nominate NYSSBA Area 12 Director RESOLVED that the Three Village Central School District hereby nominates Fred Langstaff to the position of Area 12 Director for the New York State School Boards Association.

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Curriculum Writing Projects 2016-2017 Mr. Scanlon presented the Curriculum Writing Project report.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Annual Professional Performance Review (APPR) Plan Be it RESOLVED that upon recommendation of the Superintendent of Schools, the Board of Education of the Three Village Central School District hereby approves an Annual Professional Performance Review (APPR) Plan pursuant to the Education Law §3012-d and Subpart 30-3 of the Rules of the Board of Regents, and authorizes execution by the Superintendent of School and the President of the Board of Education of any and all required APPR Plan documents and/or certifications for submission to the State Education Department.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Claims Auditor's Report – February through March 2016 Mr. Carlson presented the Claims Auditor's Report.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

District Treasurer's Report - February through March 2016 Mr. Carlson presented the District Treasurer's Report.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Financial Reports

– February
through March
2016

Mr. Carlson presented the Financial Reports.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Extraclassroom Activity Treasurers' Reports --February through March 2016 Mr. Carlson presented the Extraclassroom Activity Treasurers' Reports.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Transfer of Funds (Under \$10,000) – February through March 2016 Mr. Carlson presented the Transfer of Funds Report.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Budgetary Transfers (Over \$10,000) Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the following budgetary transfer be approved:

<u>From</u>	<u>Amount</u>	<u>To</u>	Reason
A1620-4170-13-00 M & O Utilities	\$50,000 \$100,000	A1620-4192-13-00 Heating Oil & Gas A1621-4400-13-00 Maintenance Contracted Services	To cover expenditures relating to the rental of generator @ Mount; Tower Clock Repairs; unforeseen cesspool & electrical services districtwide.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Appointment of Independent Auditor

Be it hereby RESOLVED that upon recommendation of the Superintendent of Schools, the Board of Education appoint the firm of EFPR Group, CPAs (f/k/a Toski & Co., P.C.). at a fee of \$43,000 to conduct an audit of the operations of the Three Village Central School District in compliance with all federal, state and GASB regulations and pronouncements pertaining thereto, and to provide all reports required by said entities, as per their proposal dated April 18, 2016, for the fiscal year ending June 30, 2016.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a $6 \cdot 0 \cdot 0$ vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A check in the amount of \$5,000.00 donated by Society for Science & The Public
 to Ward Melville HS in recognition of our 5 semi-finalists in the Intel Science
 Talent search
- A check in the amount of \$120.00 donated by Ward Melville HS alumna, Sherree Hamilton O'Shea, of DazzleBar, Ltd. to the Ward Melville HS Student Scholarship fund.
- A check in the amount of \$100.00 donated by Ward Melville HS alumna, Sherree Hamilton O'Shea, of DazzleBar, Ltd. to the Nassakeag Elementary School's Allied fund to be used for student field trips.
- A scholarship (TE 092.10) check in the amount of \$3,000.00 donated by Suffolk Transportation Service, Inc.
- A check in the amount of \$381.20 donated by Box Tops Education to Minnesauke Elementary school.
- Ten (10) television sets and motivational signage donated by the Three Village Athletic Booster Club to the Ward Melville HS fitness center and gym lobby.
- Three Hundred dollars (\$300.00) donated to the Ward Melville HS Scholarship fund by the Ward Melville HS' Security staff.
- Three Hundred dollars (\$300.00) donated to the Ward Melville HS Scholarship fund by the Ward Melville HS staff and faculty.
- A check in the amount of \$100.00 donated by Target's Take Charge of Education program to Gelinas JHS.
- A check in the amount of \$66.79 donated by Target's Take Charge of Education program to Gelinas JHS.
- A check in the amount of \$368.05 donated by Target's Take Charge of Education program to Minnesauke Elementary School.
- A check in the amount of \$500.00 donated by Target's Take Charge of Education program to Ward Melville High School.
- A check in the amount of \$279.00 donated by Target's Take Charge of Education program to Ward Melville High School.
- A check in the amount of \$600.00 donated by Target's Take Charge of Education program to Minnesauke Elementary School.
- A check in the amount of \$30.00 donated by Kevin & Christine Harnett to the Jody Eff Memorial Scholarship Fund.
- A check in the amount of \$100.00 donated by Maureen & James Tauby donated to the Jody Eff Memorial Scholarship Fund.
- A check in the amount of \$250.00 donated by Kevin Scanlon to be used towards
 the restoration of the preserve at Mount Elementary school in honor of Kristianna
 Marindala

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the attached *Performance Contract* with Johnson Controls, Inc., as stated in the attached resolution and furthermore, that the President of the Board of Education be authorized to execute same.

Approval of Energy Services Performance Contract – Solar Panels

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

SEQRA
Determination in
Connection with
the 2016-2017
Capital
Improvement
Projects

Whereas, the Board of Education of the Three Village CSD is the lead agency under the State Environmental Quality Review Process for the purpose of required determinations respecting the proposed Capital Improvement Projects as follows:

- 1. HVAC Reconstruction at:
 - · Arrowhead Elementary
 - Minnesauke Elementary
 - William S. Mount Elementary
 - · Nassakeag Elementary
 - · Paul J. Gelinas Jr. High School
 - · Robert C. Murphy Jr. High School
- Setauket Elementary School Bus Loop Reconfigure the bus loop to make better use
 of the space. New asphalt pavement, curbing, sidewalk and handicapped accessibility.
- 3. Installation of a new Full-Building Generator at William S. Mount Elementary.
- 4. District Wide Asbestos Abatement and Plumbing Reconstruction

Whereas, in 1995, amendments were made to the SEQRA Regulation (Part 617) to classify projects, which will be excluded from the requirements for the preparation of an Environmental Impact Statement (Type II Actions). The projects mentioned above are (is) now classified as Type II Actions as determined by 6NYCRR§617.5 and

Whereas, these projects fall under the following categories:

- A. Maintenance or repair involving no substantial changes in an existing structure of facility;
- B. Replacement, Rehabilitation or Reconstruction of a structure or facility, in kind, on the same site, including upgrading buildings to meet building or fire codes, unless such action meets or exceeds any of the thresholds in Section 617.4 of this Part;

Therefore, as the lead agency for the SEQRA determination, all the above referenced projects fall under Categories "A" or "B" above. The procedure for Type II Actions, with regard to the SEQRA Process for Capital Projects noted above is "No Additional Required Action under 6NYCRR§617.5(a)".

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Establishment of Assistant Plant and Facilities Administrator and Addition of Titles to the Three Village School Administrators' Association Collective Bargaining Agreement RESOLVED that the Board of Education hereby establishes the administrator position of Assistant Plant and Facilities Administrator; and it is further, RESOLVED that the titles of "Assistant Plant and Facilities Administrator' and "Principal of the Alternative High School Program" be added to Schedule A of the Three Village School Administrators' Association Collective Bargaining Agreement.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement between the Three Village Central School District and The Three Village School Administrators' Association RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Agreement providing for a modification to the Three Village Administrators' Association Collective Bargaining Agreement, and authorizes the President of the Board of Education to approve said Agreement.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Resolution Abolishing Positions and Terminating Employees Having Least Seniority Be it RESOLVED, the employment of the employees having the least seniority in the District, shall be discontinued, effective July 1, 2016. The following employees are hereby excessed:

Name Job Title

Jamie Bilek Social Studies Teacher
No reduction/excessing

Ms. Bilek was previously excessed at the June 30, 2011, Board of Education meeting.

Alyssa Chesney-Gold

Business Teacher

No reduction/excessing

Ms. Chesney-Gold was previously excessed 0.1 at the June 25, 2013, Board of Education meeting, .5 at the June 18, 2014, Board of Education meeting. Ms. Chesney-Gold is being recalled to a 1.0 position.

Mary Beth Diviney

Elementary Teacher
No reduction/excessing

Ms. Diviney was previously excessed at the June 11, 2013, Board of Education meeting for a 1.0 reduction, effective June 30, 2013.

Ilene Littman

Business Teacher

No reduction/excessing

Ms. Littman was previously excessed at the May 22, 2012, Board of Education meeting for a 0.8 reduction. Ms. Littman is being recalled to a 1.0 position.

Alyson McGrath

Elementary Teacher No reduction/excessing

Ms. McGrath was previously excessed at the June 11, 2013, Board of Education meeting for 1.0 reduction, effective June 30, 2013.

Jayne Murphy

Elementary Teacher No reduction/excessing

Ms. Murphy was previously excessed at the June 11, 2013, Board of Education meeting for 1.0 reduction, effective June 30, 2013.

Nilsson, MaryLou

Elementary Teacher No reduction/excessing

Ms. Nilsson was previously excessed at the July 2, 2012, Board of Education meeting for 1.0 reduction, effective June 30, 2012.

Kelly Wallace

Elementary Teacher
No reduction/excessing

Ms. Wallace was previously excessed at the June 25, 2013, Board of Education meeting for 1.0 reduction, effective June 30, 2013.

Katherine Wonderland

Elementary Teacher
No reduction/excessing

Ms. Wonderland was previously excessed at the June 11, 2013, Board of Education meeting for 1.0 reduction, effective June 30, 2013.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

LEAVES OF ABSENCE

Name	School/ Assignment	Effective	Reason	Tenured
Besold,	Arrowhead	2016-2017	Childcare	Yes
Amanda	Elementary Teacher			
Reinhart,	Setauket	2016-2017	Article XXVI	Yes
Claudia	Music Teacher		Section A	
			Association	
			Leave	
Sihler, Kevin	Murphy JHS	2016-2017	Unpaid	Yes
	Math Teacher		•	

APPOINTMENTS TO INSTRUCTIONAL POSITIONS

Bilek, Jamie

Social Studies Teacher Dowling College - BA Dowling College - MS Previous Tenure - No Pelated to current appl

Related to current employee - No Salary, Step/Level - 8/MA

Effective – 9/1/16

This is a continuing 1.0 probationary appointment with tenure due 10/13/18. This appointment is due to the retirement of Ira Stern. Ms. Bilek was excessed from her probationary teaching position at the Board of Education meeting held on July 5, 2011. Ms. Bilek is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Bilek will be assigned to Ward

Melville High School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Booker, Karen

One-year Part-time Permanent Substitute Teacher

80% Position

St. Joseph's College - BA, MS Previous Tenure - Yes Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44.360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Booker will be assigned to Minnesauke Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

Brendel, Melanie

One-year Part-time Permanent Substitute Teacher

80% Position

St. Joseph's College - BA, MA

Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16-6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Brendel will be assigned District-wide for the 2016-17 school year. Fingerprint clearance is on file.

Buys, Megan

Mathematics Teacher SUNY Oneonta - BS Previous Tenure - No

Related to current employee - No Salary: Step/Level - 1/BA+30

Effective - 9/1/16

This is a three year probationary appointment with tenure due 9/1/19. This appointment is due to the retirement of Barbara Robertson. Ms. Buys will be assigned to Ward Melville High School for the 2016-17 school year. Ms. Buys is currently working in the district as a substitute teacher and fingerprint clearance for employment is on file.

Cappiello, Lisa

Art Teacher

St. Joseph's College – BA Adelphi University – MA Previous Tenure - No Related to current employee - No

Salary: Step/Level - 4/MA

Effective: 9/1/16

This is a three year, four month probationary appointment with an anticipated tenure date of 1/1/20. Ms. Cappiello has been working in this position since 10/5/15 and has been granted 8 months of Jarema credit towards four-year tenure. This appointment is due to increased enrollment. Ms. Cappiello will be assigned district-wide for the 2016-2017 school year. Ms. Cappiello is currently a one-year teacher in the district and fingerprint clearance is on file.

Casadei-Berwind, Daniela

Foreign Language Teacher State University of Milan - BA Hofstra University - MS Previous Tenure - No

Related to current employee - No Salary: Step/Level 1/MA

Effective: 9/1/16

This is a four-year probationary appointment with anticipated tenure due 9/1/20. This appointment is due to the retirement of Gisela Muller, Ms. Casadei-Berwind will be assigned to Ward Melville High School for the 2016-17 school year. Fingerprint clearance for employment has been received.

Chesney-Gold, Alyssa

Business Teacher

SUNY Stony Brook - BS Dowling College - MS Previous Tenure - Yes

Related to current employee - Yes Salary: Step/Level 22/MA+60

Effective - 9/1/16

This is a continuing 1.0 appointment, effective 9/1/16. This appointment is due to increased staffing. Ms. Chesney-Gold was a .4 business teacher for 2015-2016, having been excessed .1

on June 25, 2013 and .5 on June 18, 2014. Ms. Chesney-Gold is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Chesney-Gold will be assigned to Ward Melville High School for the 2016-17 school year. Fingerprint clearance for employment is on file.

DeGennaro, Dineen One-Year Part-Time Registered Nurse

60% Position

SUNY Stony Brook - BSN Previous Tenure - No Related to current employee - No

Salary Step/Level - $3/NURSE - $46,907 \times .6 =$

\$28,144

Effective - 9/1/16 - 6/30/17

This is a continuing one-year part-time (.6) appointment. This appointment is to help address any potential medical/medication issues at the Three Village Academy. Ms. DeGennaro will be assigned (.6) to the Three Village Academy for the 2016-17 school year. Fingerprint clearance for employment is on file.

Diviney, Mary Beth Elementary teacher

Boston College-BS Pace University - MS Previous Tenure - Yes

Related to current employee - No

Salary Step/Level - 14/MA+30

Effective - 9/1/16

This is a continuing 1.0 appointment, effective 9/1/16. This appointment is due to the transfer of Paul Wilgenkamp to AIS Mathematics position. Ms. Diviney was excessed from her teaching position at the Board of Education meeting held on June 11, 2013. Ms. Diviney is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Diviney will be assigned to Minnesauke Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on file.

One-year Part-time Permanent Substitute Teacher Dolan, Jennifer

80% Position

SUNY at Cortland - BS College of New Rochelle - MA Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Dolan will be assigned District-wide for the 2016-17 school year. Fingerprint clearance is on file.

Fitzsimons, Judith One-year Part-time Permanent Substitute Teacher

80% Position

St. John's University - BA, MS

Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Fitzsimons will be assigned to Nassakeag Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

Geoninatti, Claudia Foreign Language Teacher

SUNY Stony Brook - BA SUNY Stony Brook - MAT Previous Tenure - No

Related to current employee - Yes Salary: Step/ Level- 4/MA Effective: 9/1/16

This is a four-year probationary appointment with anticipated tenure due 9/1/20. This appointment is due to the retirement of Michele Aweh. Ms. Geoninatti will be assigned to Ward Melville High School for the 2016-17 school year. Ms. Geoninatti is the wife of Emiliano Geoninatti, a Foreign Language Teacher at Murphy Junior High School. Ms. Geoninatti is currently working in the district and fingerprint clearance for employment is on file.

Gerver, Julianne English Teacher

SUNY Binghamton - BA SUNY Stony Brook - MA

Previous Tenure - No Related to current employee - No Salary- Step/Level 1/MA Effective - 9/1/16

This is a four-year probationary appointment with anticipated tenure due 9/1/20. This appointment is due to increased staffing. Ms. Gerver will be assigned .6 to Ward Melville High School and .4 to Murphy Junior High School for the 2016-17 school year. Fingerprint clearance for employment has been received.

Griffin, Maria

Registered Nurse

Hofstra University - BSN Previous Tenure - No

Related to current employee - No Salary Step/Level - 7/NURSE

Effective - 9/1/16

This is a full-time appointment. This appointment is due to increased staffing. Ms. Griffin will be assigned as a District floater nurse for the 2016-17 school year. Ms. Griffin is currently working in the district as a substitute nurse and fingerprint clearance for employment is on file.

Higgins, Maureen

Registered Nurse

Villanova University - BSN Previous Tenure - No

Related to current employee - No Salary Step/Level - 8/NURSE

Effective - 9/1/16

This is a full-time appointment. This appointment is due to the retirement of Susan Barra. Ms. Higgins will be assigned to Mount Elementary School for the 2016-17 school year. Ms. Higgins is currently working in the district as a substitute nurse and fingerprint clearance for employment is on file.

Hugues, Jason

One-Year Leave Replacement Elementary

Teacher

St. Joseph's College - BS Dowling College - MS Previous Tenure - Yes

Related to current employee - Yes Salary: Step/Level, 9/MA+60 Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment effective 9/1/16 - 6/30/17. This appointment is due to the childcare leave of absence of Amanda Besold. Mr. Hugues was excessed from his elementary teaching position at the Board of Education meeting held on June 30, 2013. Mr. Hugues will be assigned to Arrowhead Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Lardaro, Susan

One-year Part-time Permanent Substitute Teacher

80% Position

SUNY Stony Brook – BA Dowling College - MA Previous Tenure – No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Lardaro will be assigned to Mount Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

Littman, Ilene

Business Teacher

New York Institute of Technology - BS

Lesley University - MA Previous tenure - Yes

Related to current employee - No Salary: Step/Level - 20/MA+60

Effective: 9/1/16

This is a continuing 1.0 appointment. This appointment is due to increased staffing. Ms. Littman was excessed from her business teaching position at the Board of Education meeting held on May 22, 2012. Ms. Littman is being recalled at the Board of Education meeting on June 8, 2016. Ms. Littman will be assigned .8 Ward Melville High School and .2 Gelinas Junior High School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Lorenzo, Slavomira One-year Part-Time Foreign Language Teacher

60% position

Gymnazium Vavrinca Benedikta Nedozerskeho - BA

Comenius University of Bratislava - MA

Previous Tenure - No

Related to current employee - No

Salary: Step 1 Level MA, Salary \$60,552 x .6 =

\$36,331

Effective - 9/1/16

This is a one-year, part-time (.6) appointment, effective 9/1/16 - 6/30/17. This appointment is due to increased staffing. Ms. Lorenzo will be assigned .4 Murphy Junior High School and .2 Gelinas Junior High School for the 2016-17 school year. Ms. Lorenzo is a substitute teacher in the district and fingerprint clearance for employment is on file.

McGrath, Alyson

Elementary Teacher

Suffolk University, Boston - BS

LIU, C.W. Post - MS Previous Tenure - Yes

Related to current employee - No Salary: Step/Level - 14/MA+60

Effective: 9/1/16

This is a continuing 1.0 appointment effective 9/1/16. This appointment is due to the retirement of Christina Maffia. Ms. McGrath was excessed from her teaching position at the Board of Education meeting held on June 11, 2013. Ms. McGrath is being recalled at the Board of Education meeting held on June 8, 2016. Ms. McGrath will be assigned to Arrowhead Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

McNaughton, Kayla

Information Specialist St. Joseph's College - BA Long Island University - MS Previous Tenure - No Related to current employee - No Salary, Step/Level - 1/MA

Effective: 9/1/16

This is a four year probationary appointment with an anticipated tenure due date of 9/1/20. This appointment is due to the reassignment of Deidre Rubenstrunk. Ms. McNaughton will be assigned to Setauket Elementary School for the 2016-17 school year. Fingerprint clearance for employment has been received.

Metrio, Jessica

One-year Leave Replacement English Teacher SUNY Stony Brook - BA

Previous Tenure - No

Related to current employee - No Salary Step/Level - 2/BA Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment effective 9/1/16 - 6/30/17. This appointment is due to the childcare leave of absence of Jessica Diiorio. Ms. Metrio will be assigned to Ward Melville High School for the 2015-2016 school year. Ms. Metrio is currently working as a substitute teacher in the District and fingerprint clearance for employment is on file.

Murphy, Jayne

Elementary teacher St. Joseph's College - BA Dowling College- MSE Previous tenure - Yes

Related to current employee - No Salary Step/Level - 11/MA+60

Effective - 9/1/16

This is a continuing 1.0 appointment, effective 9/1/16. This appointment is due to the retirement of Robert McDonald. Ms. Murphy was excessed from her teaching position at the Board of Education meeting held on June 11, 2013. Ms. Murphy is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Murphy will be assigned to Minnesauke Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Murray, Jayne

Registered Nurse 30% Position

Adelphi University – BSN Previous Tenure – No

Related to current employee - No

Salary Step/Level -6/NÛRSE $-$49,778 \times .3 =$

\$14,933

Effective - 9/1/16 - 6/30/17

This is a continuing one year part-time (.3) appointment. Ms. Murray will continue her assignment at the Montessori School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Nickerson, Nicole

School Psychologist St. Joseph's College - BA St. John's University - MS Previous Tenure - No

Related to current employee - No Salary: Step/Level - 3/MA+15

Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure due date of 9/1/20. This appointment is due to the retirement of Karen Futtersak. Ms. Nickerson will be assigned to Nassakeag Elementary School for the 2016-17 school year. Fingerprint clearance for employment has been received.

Nilsson, Marylou

Elementary Teacher SUNY, Oswego - BA SUNY, Stony Brook - MA Previous Tenure - Yes Related to current employee - No Salary Step/Level - 13/MA Effective - 9/1/16

This is a continuing 1.0 appointment, effective 9/1/16. This appointment is due to the retirement of Lucia Gildersleeve. Ms. Nilsson was excessed from her teaching position at the Board of Education meeting held on July 2, 2012. Ms. Nilsson is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Nilsson will be assigned to Minnesauke Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on

Porter, Cynthia

English Teacher The College of Wooster - BA Stony Brook University - MA Dowling College - MS Previous Tenure - No Related to current employee - No

Salary: Step/ Level 2/ MA+30 Effective – 9/1/16

This is a three-year probationary appointment with an anticipated tenure date of 9/1/19. This appointment is due to the resignation of Laurie Burke. Ms. Porter will be assigned to Ward Melville High School for the 2016-17 school year. Ms. Porter is currently working in the district and fingerprint clearance is on file.

Raphaely, Jacqueline

Registered Nurse 50% Position Molloy College - BS Previous Tenure - No

Related to current employee - No

Salary Step/Level - 14/NURSE - \$58,323 x .5 =

\$29,161

Effective - 9/1/16 - 6/30/17

This is a continuing one year part-time (.5) appointment. Ms. Raphaely will continue her assignment at the Laurel Hill School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Savage, Harry

Special Education Teacher St. Joseph's College - BA SUNY Stony Brook - MA Previous Tenure - No Related to current employee - No Salary Step/Level - 4/MA Effective - 9/1/16

This is a four-year probationary appointment with anticipated tenure due 9/1/20. This appointment is due to the retirement of Patricia Alhofen. Mr. Savage will be assigned to Setauket Elementary School for the 2016-17 school year. Ms. Savage is currently working in the district and fingerprint clearance for employment is on file.

Schneider, Kerry

One-year Part-time Permanent Substitute Teacher

80% Position

St. Joseph's College - BA Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Schneider will be assigned to Arrowhead Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

Serigano, Jennifer

Science Teacher SUNY Binghamton - BA Brooklyn College - MA Previous Tenure - No

Related to current employee - No Salary: Step/ Level- 4/MA

Effective: 9/1/16

This is a four year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to the reassignment of Leanne Perry. Ms. Serigano will be assigned to Ward Melville High School for the 2016-2017 school year. Ms. Serigano was previously a one-year part-time teacher in the District and fingerprint clearance is on file.

Ullah, Nicole

One-year Part-time Permanent Substitute Teacher

80% Position

Dowling College - BA, MS Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA, Salary \$55,451 x .8 =

\$44,360

Effective - 9/1/16 - 6/23/17

This is a continuing one-year part-time (not to exceed 4 days per week) appointment, effective 9/1/16 - 6/23/17. This appointment is due to the shortage of available substitute teachers in the District. Ms. Ullah will be assigned to Setauket Elementary School for the 2016-17 school year. Fingerprint clearance is on file.

Visser, Jillian

Science Teacher SUNY Stony Brook - BA Dowling College - MS Previous Tenure - No

Related to current employee - Yes

Salary Step/Level - 2/MÁ

Effective: 9/1/16

This is a three- year probationary appointment with an anticipated tenure date of 9/1/19. This appointment is due to the retirement of Vicki Guarasccio. Ms. Visser will be assigned to Paul J. Gelinas Junior High School for the 2016-2017 school year. Ms. Visser is the daughter of Patrick McManus, Science Chairperson at Murphy Junior High School. Ms. Visser is currently working in the district and fingerprint clearance is on file.

Wallace, Kelly

Elementary Teacher North Carolina State - BA Dowling College - MS Previous tenure - Yes Related to current employee - No Salary Step/Level - 13/MA+30

Effective: 9/1/16

This is a continuing 1.0 appointment. This appointment is due to the transfer of Suzanne Cabral to AIS mathematics position. Ms. Wallace was excessed from her elementary teaching position at the Board of Education meeting held on June 30, 2013. Ms. Wallace is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Wallace will be assigned to Arrowhead Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on file.

Wolf, Jenna

One year, Leave Replacement Music Teacher West Chester University of Pennsylvania - BM

Previous Tenure - No

Related to current employee - No Salary: Step/level - 1/BA+15 Effective: 6/14/16-6/30/16

This is a one-year leave replacement appointment effective 6/14/16 through 6/30/16. This appointment is due to the unpaid leave of absence of Kristen Swift. Ms. Wolf will be assigned to Arrowhead Elementary and Gelinas Junior High School for the 2015-16 school year. Ms. Wolf is a substitute teacher in the district and fingerprint clearance for employment is on file.

Wonderland, Katherine

Elementary teacher
Messiah College – BA
LIU, C.W. Post - MSE
Previous tenure - Yes

Related to current employee - No Salary Step/Level - 11/MA

Effective - 9/1/16

This is a continuing 1.0 appointment, effective 9/1/16. This appointment is due to the transfer of Phylene Fizzuglio to AIS mathematics position. Ms. Wonderland was excessed from her teaching position at the Board of Education meeting held on June 11, 2013. Ms. Wonderland is being recalled at the Board of Education meeting held on June 8, 2016. Ms. Wonderland will be

assigned to Mount Elementary School for the 2016-17 school year. Fingerprint clearance for employment is on file.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Brecht, Kurt

Mr. Brecht was approved for emergency appointment by Ms. Pedisich to begin working on

Mr. Brecht is the son of Elizabeth Brecht, the Global Language Chairperson at WMHS. Fingerprint clearance has been received.

Covas, Joseph

Mr. Covas was approved for emergency appointment by Ms. Pedisich to begin working on 5/19/16.

Fingerprint clearance has been received.

Ferro, Loren

Fingerprint clearance has been received.

<u>Hall, Nancy</u>
Ms. Hall is the cousin of Maureen Peck, 1st Grade Teacher at Setauket Elementary School. Fingerprint clearance has been received.

<u>Tremano, Erica</u> Fingerprint clearance has been received.

Werner, Elyssa

Fingerprint clearance has been received.

APPOINTMENTS TO FALL SUPERVISION/COACH POSITIONS

Last Name	First Name	Building	Assign- ment	Effec- tive	Step	<u>Year</u>	Total Years	Stipend	<u>Status</u>	End Date
Junior H	igh Coaches									
Amat- ulle	Dino	Gelinas	Footbal 17/8	Fall	3	10	15	\$5,116.00	In- District	11/01/16
Anza- lone	Richard	Murphy	Footbal 17/8	Fall	3	8	8	\$5,116.00	In- District	11/01/16
Arizm- edni	Kristina	Gelinas	Jr. High Cheerle ading	Fall	İ	I	1	\$4,803.00	Out of District	11/01/16
Cifuni	Matt	Murphy	Boys Cross Countr y 7/8	Fall	3	6	11	\$5,116.00	In- District	11/01/16
Cortes	Melissa	Murphy	Girls Soccer 7/8	Fall	1	2	2	\$4,803.00	In- District	11/01/16
Grippa	. Chris	Gelinas	Girls Cross Countr y 7/8	Fall	3	6	11	\$5,116.00	In- District	11 /01/16
Hernan -dez	Elise	Murphy	Girls Cross Countr y 7/8	Fall	3	1	3	\$5,116.00	In- District	11/01/16
Hop- pey	Michael	Gelinas	Girls Tennis 7/8	Fall	3	25	25	\$5,116.00	Retired	11/01/16
Jantzen	Michael	Murphy	Boys Soccer 7/8	Fall	3	5	10	\$5,116.00	In- District	11/01/16
Koncz- ynin	Allyson	Murphy	Girls Tennis 7/8	Fall	2	1	3	\$4,961.00	In- District	11/01/16
Loren- zen	Jennifer	Murphy	Field Hockey 7/8	Fall	3	5	9	\$5,116.00	Out of District	11/01/16
Malet- ta	Alaina	Gelinas	Field Hockey 7/8	Fall	1	2	2	\$4,803.00	In- District	11/01/16
McNa- mara	Brendan	Gelinas	Footbal 17/8	Fall	3	1	5	\$5,116.00	In- District	11/01/16
Pon- zini	Briana	Murphy	Cheerle ading 7/8	Fall	2	1	3	\$4,961.00	Out of District	11/01/16
Will- iams	Louise	Gelinas	Girls Soccer 7/8	Fall	3	1	5	\$5,116.00	In- District	11/01/16

High Sci Baker	1001 Coaches Brian	WMHS	JV	Fall	1	1	1	\$8,491.00	In-	11/01/16
Daker	Diam.	············	Footbal l Assista	1 211	•	•	•	ψυ, 191100	district	11101110
Boltrek	Chris	WMHS	nt Varsity Footbal	Fall	3	3	7	\$10,383.00	In Distr i ct	11/01/16
Cant- well	Gregg	WMHS	l Varsity Boys	Fall	2	2	4	\$7,383.00	Out of District	11/01/16
Crasa	Caryl	WMHS	XC Varsity Girls Gymna	Fall	3	21	26	\$7,613.00	Out of District	11/01/16
Cruz	Shauna	WMHS	stics Assista nt Varsity Cheerle	Fall	2	2	4	\$6,674.00	In- district	11/01/16
DiBer- nardo	Tara	WMHS	ading Assista nt Varsity Girls	Fall	2	2	4	\$6,674.00	In- district	11/01/16
Diehl	John	WMHS	Soccer Varsity Girls	Fall	3	10	15	\$7,613.00	In- district	11/01/16
Ferna- ndes	Charles	WMHS	Soccer Varsity Girls Volley	Fall	3	17	22	\$7,613.00	In- district	11/01/16
Gor- don	Chris	WMHS	ball [.] Varsity Girls Swimm	Fall	3	18	23	\$7,613.00	Out of District	11/01/16
Holden	Chris	WMHS	ing Varsity Boys Volley	Fall	2	2	4	\$7,383.00	In District	11/01/16
Klouda	Chri- stine	WMHS	ball JV Girls	Fall	2	I	3	\$6,674.00	Out Of District	11/01/16
March- etta	Anthony	WMHS	Tennis JV Footbal I Assista	Fall	i	1	1	\$8,491.00	Out of District	11/01/16
Musca- rella	Ronald	WMHS	nt Assista nt Varsity Footbal	Fall	3	9	14	\$9,044.00	In- district	11/01/16
Musc- arella	Chris	WMHS	l Assista nt Varsity Footbal	Fall	2	2	4	\$8,770.00	In- district	11/01/16
Perfetti	Jeff	WMHS	l Asst. Var. Girls Swimm	Fall	3	4	9	\$6,882.00	Out Of District	11/01/16
Perre- tta	Chris- tine	WMHS	ing Varsity Cheerle	Fail	1	1	1	\$7,148.00	Out of District	11/01/16
Rob- bins	Matt	WMHS	ading Assista nt Varsity Girls Volley ball	Fall	3	15	15	\$6,882.00	Out of District	11/01/16
Schoen .	Brian	WMHS	JV Footbal I Head Coach	Fall	3	14	19	\$9,044.00	In- district	11/01/16
Spira	Robert	WMHS	Varsity Boys Golf	Fall	3	6	11	\$6,120.00	In- district	11/01/16
Stecker	Jon	WMHS	Varsity Boys Soccer	Fall	3	15	20	\$7,613.00	In- district	11/01/16
Sussin	Erick	WMHS	Varsity Girls Tennis	Fall	3	5	10	\$7,613.00	In- district	11/01/16
Valen- zano	William	WMHS	Asst. Varsity Boys Soccer	Fall	3	11	16	\$6,882.00	In- district	11/01/16
Vetro	Rocco	WMHS	JV Girls Soccer	Fall	3	4	9	\$6,882.00	In- District	11/01/16

Wat- son	Shann	on	wmhs	Varsit Field	у	Fall	3	9	14	\$7,613.0	10	In- distric	t	11/01/16
Wit- over	Jason		WMHS	Hocke JV Boys	y	Fall	2	2	4	\$6,674.0	10	Out O Distric		11/01/16
Youn- gs	Tom		WMHS	Soccer Varsit Girls XC		Fall	3	11	16	\$7,613.0	00	In- distric	t	11/01/16
Athletic S	Supervis	ion												
Last Nam	<u>ne</u>	First Name		ilding	Ass nm		<u>Year</u>				Stat		Not Exc	
Amatulle		Dino	Dis	trict		letic ervision	2016				In Dis	trict	\$2,5	00.00
Ambrose		Dona	ld Dis	trict	Atl	letic ervision	2016 2017	ĵ-			In Dis	trict	\$2,5	00.00
Anderson	1	Phoe	be Dis	trict	Ath	letic ervision	2016 2017	j_			In Dis	trict	\$2,5	00.00
Angerme	ier	Dere	k Dis	trict	Αtĥ	letic ervision	2016	j-			In		\$2,5	00.00
Anza-lon	e	Rick	Dis	trict	Att	letic ervision	2016 2017	5-			In		\$2,5	00.00
Baker		Brian	n Dis	trict	Atl	letic	2016	5-			In		\$2,5	00.00
Barrett		Linda	a Dis	trict	Atl	ervision letic	2017	5 -			In		\$2,5	00.00
Benedette	0	Nico	le Dis	strict	ΑtÌ	ervision letic	2017 2016	5 -			In		\$2,5	00.00
Benowitz	z	Debr	a Dis	strict	Ath	ervision letic	2017 2016	5-			In		\$2,5	00.00
Black		John	Dis	trict	Att	ervision detic	2010	5-			In		\$2,5	00.00
Blaney		Keeg	an Dis	trict		ervision detic	2017 2016				In		\$2,5	00.00
Boltrek		Chris	i Dis	strict		ervision detic	2017 2016				Dis In	trict	\$2,5	00.00
Bryant		Jeffre	ey Dis	strict		pervision detic	2010 2010				Dis In	trict	\$2,5	00.00
Buys		Mega		strict	Suj	ervision detic		7			Dis In	trict		00.00
Byrne		Eliza		strict	Su	pervision detic		7				trict	_	100.00
Carroll		beth Frank		strict	Su	pervision detic		7				trict		600.00
		Enric		strict	Su	pervision iletic		7				trict		
Chacon					Su	pervision	201	7			Dis	strict		00.00
Chapmai		Craig		strict	Su	iletic pervision		7				trict		00.00
Chimien	ti	Jenn		strict	Su	ıletic pervision		7				trict		500.00
Cifuni		Matt	Di	strict	Su	aletic pervision		7				strict		00.00
Crasa		Cary	l Di	strict		iletic pervision	201 201					t of strict	\$2,	00.00
Crocomb	oe .	Fran	k Di	strict		iletic pervision	201 201				Re	tired	\$2,	500.00
Cruz		Shau	ma Di	strict	~	iletic pervision	201 201	~			-	t of strict	\$2,	00.00
Damis		Jillia	n Di	strict	At	iletic pervision	201	6-			In	strict	\$2,	500.00
David		Lind	sey Di	strict	At	sletic pervision	201	6-			In	strict	\$2,	500.00
DeRosa		Mike	e Di	strict	ΑL	iletic pervision	201	6-			ln	strict	\$2,	500.00
DiBerna	rdo	Tara	Di	strict	At	iletic pervision	201	6-			In	strict	\$2,	500.00
Diehl		John	Di	strict	At	pervision pervision	201	6-			In	strict	\$2,	500.00
Dion		Jean		strict	At	aletic	201	б-			In		\$2,	500.00
Domicik	:	Pieri Jame		strict	At	pervision iletic	201	6-			In	strict	\$2,	500.00
Driscoll		Chri	s- Di	strict	Αt	pervision hletic	201	6-			In	strict	\$2,	500.00
Elliot		tina Dou	g Di	strict	Αť	pervision iletic	201	6-			In	strict	\$2,	500.00
Fernande	es	Cha	iles Di	strict	Αť	pervision hletic	201	6-			In	strict	\$2,	500.00
Ferraro		Kurt	Di	strict		pervision hletic	201 201				Di: In	strict	\$2,	500.00
Fеrraro		Virg	inia Di	strict		pervision hletic	201 201				Di: In	strict		500.00
Flannaga	an	Mik		strict		pervision hletic		7				strict		500.00
Freiss		Pete		strict	Su	pervision hletic		7			Di	strict at of		500.00
Geonina	tti	Emi		strict	Su	pervision hletic		7				strict	-	500.00
Glasheer		no Rich		strict	Su	pervision hletic		7				strict		500.00
Golini	-	Kerr		strict	Şu	nicuc pervision hictic		7				strict		500.00
Goilli		ann	ا(با -ر	outul		pervision						strict	44,	200.00

Gordon Chris- topher District Supervision Athletic 2017 2017 District In Grippa Chris- tine District Supervision 2017 District District Haller Bruce District Supervision 2016- 2017 Out of District Hawkins Ryan District Supervision 2017 District District Heck Jeff District Supervision 2017 District District Hermandez Elise District District Athletic Athletic 2016- 2017 In	£0 £00 00
Grippa Caris-	\$2,500.00
Haller Bruce District Athletic 2016- Out of Supervision 2017 District Hawkins Ryan District Athletic 2016- In Supervision 2017 District Heck Jeff District Athletic 2016- In Supervision 2016- In District Jeff District Athletic 2016- In Supervision 2017 District	\$2,500.00
Hawkins Ryan District Athletic 2016- In Heck Jeff District Athletic 2016- In Supervision 2017 District Athletic 2016- In Supervision 2017 District District 2016- In Supervision 2017 District	ea eaa oo
Hawkins Ryan District Athletic 2016- In Supervision 2017 District Heck Jeff District Athletic 2016- In Supervision 2016- In District	\$2,500.00
Heck Jeff District Athletic 2016- In Supervision 2017 District	\$2,500.00
Supervision 2017 District	00 500 00
	\$2,500.00
Hernandez Elise District Athletic 2016- In	\$2,500.00
Supervision 2017 District	
Holden Chris District Athletic 2016- Out of Supervision 2017 District	\$2,500.00
Supervision 2017 District Hoppey Mike District Athletic 2016- Retired	\$2,500.00
Supervision 2017	
Howard Cynthia District Athletic 2016- In	\$2,500.00
Supervision 2017 District Hurley Terri District Athletic 2016- In	\$2,500.00
Supervision 2017 District	42,500.00
Jantzen Michael District Athletic 2016- In	\$2,500.00
Supervision 2017 District Kilkenny Kerri District Athletic 2016- In	\$2,500.00
Supervision 2017 District	\$2,500.00
Klouda Chris- District Athletic 2016- Out of	\$2,500.00
tine Supervision 2017 District	ea eao ao
Konczynin Allyson District Athletic 2016- In Supervision 2017 District	\$2,500.00
Kost Maureen District Athletic 2016- In	\$2,500.00
Supervision 2017 District	
Lalima Jeanne District Athletic 2016- In Supervision 2017 District	\$2,500.00
Supervision 2017 District Loddigs Scott District Athletic 2016- In	\$2,500.00
Supervision 2017 District	4-,000,000
Lorenzen Jenny District Athletic 2016- In	\$2,500.00
Supervision 2017 District Lynch Al District Athletic 2016- In	\$2,500.00
Supervision 2017 District	\$2,500.00
Maletta Alaina District Athletic 2016- In	\$2,500.00
Supervision 2017 District	E0 E00 00
Manco Steve District Athletic 2016- In Supervision 2017 District	\$2,500.00
McKaney Charles District Athletic 2016- Retired	\$2,500.00
Supervision 2017	00 500 00
McNamara Laura District Athletic 2016- In Supervision 2017 District	\$2,500.00
McNamara Brendan District Athletic 2016- In	\$2,500.00
Supervision 2017 District	
Monahan Jennifer District Athletic 2016- In	\$2,500.00
Supervision 2017 District Murphy Christop District Athletic 2016- In	\$2,500.00
her Supervision 2017 District	40,000,00
Muscarella Christop District Athletic 2016- In	\$2,500.00
her Supervision 2017 District Muscarella Ronald District Athletic 2016- In	\$2.500.00
Muscarella Ronald District Athletic 2016- In Supervision 2017 District	\$2,500.00
Negus Jay District Athletic 2016- In	\$2,500.00
Supervision 2017 District	
Nocco Victoria District Athletic 2016- Out of Supervision 2017 District	\$2,500.00
Nueberger John District Athletic 2016- In	\$2,500.00
Supervision 2017 District	
Oliver Vincent District Athletic 2016- In Supervision 2017 District	\$2,500.00
Ouzounian Marissa District Athletic 2016- In	\$2,500.00
Supervision 2017 District	,
Parkinson Jennifer District Athletic 2016- In	\$2,500.00
Communication ONIT	\$2,500.00
Supervision 2017 District Perfetti Jeff District Athletic 2016- Out of	41,500.00
Supervision 2017 District Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District	\$2,500.00
Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District Pinard Allison District Athletic 2016- Out of	¢2 <00 00
Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District Pinard Allison District Athletic 2016- Out of Supervision 2017 Out of Out of Supervision 2017 District	\$2,500.00
Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District District Out of Supervision 2016- Out of Out of Supervision 2016- Out of Supervision 2017 District District Ponzini Briana District Athletic 2016- Out of Out of Out of Supervision	40 500 00
Perfetti	\$2,500.00
Perfetti	
Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District Out of District Out of Supervision 2017 Out of Out of District Out of Supervision 2017 District Out of Out of Supervision 2016- Out of Out of Supervision 2017 District In District Athletic 2016- In District District Athletic 2016- In District Athletic 2017 District Athletic 2017 District Athletic 2017 District Athletic 2017 District Athletic 2016- In District Athletic District Athletic 2016	\$2,500.00
Perfetti	
Perfetti	\$2,500.00 \$2,500.00
Perfetti Jeff District Athletic 2016- Out of Supervision 2017 District Out of District Supervision 2017 Out of Out of District Out of Supervision 2017 District Out of Out of Supervision 2016- Out of Out of Supervision 2017 District District Athletic 2016- In District In District Athletic 2016- In In District In	\$2,500.00
Perfetti	\$2,500.00 \$2,500.00 \$2,500.00
Perfetti	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti	\$2,500.00 \$2,500.00 \$2,500.00
Perfetti	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti Jeff District Supervision Athletic 2016- 2017 2017 Out of District Pinard Allison District Athletic 2016- 2016- 2016- 2016- 2016- 2016- 2017 Out of District Rippe Claudia District Athletic 2016- 2016- 2017 District Rosa Stephen District Athletic 2016- 2017 District Rosa Lorraine District Athletic 2016- 2017 In Salmon Jeff District Athletic 2016- 2017 In Schnettler Garrett District Athletic 2016- 2017 Out of Schnettler Garrett District Athletic 2016- 2017 Out of Schoen Brian District Athletic 2016- 2016- 2016- 2017 Out of Schoen Brian District Athletic 2016- 2016- 2016- 2017 In Scott Jonathan District Athletic 2016- 2016- 2016- 2016- 2016- 2016- 2016- 2016- In Scott	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti Jeff District Supervision Athletic Supervision Supervision 2017 District Out of Supervision Ponzini Briana District Athletic Supervision Supervision 2016 Out of Out	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti Jeff District Supervision Athletic 2016- Supervision 2017 Out of District Ponzini Briana District Athletic Supervision 2016- 2017 Out of District Rippe Claudia District District Athletic Supervision 2017 District In Rosa Stephen District District Athletic Supervision 2016- 2016- Supervision In Rosa Lorraine District District Athletic Supervision 2017 District District Salmon Jeff District Athletic Supervision 2017 District Schnettler Garrett District Athletic Supervision 2017 District Schoen Brian District Athletic Supervision 2016- 2017 Out of District Scott Jonathan District Athletic Supervision 2016- 2016- 2016- 2017 In Supervision 2017 District District Scott Jonathan District Athletic 2016- 2016- 2016- 2016- 2017 In <tr< td=""><td>\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00</td></tr<>	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti Jeff District Athletic Supervision Supervision Supervision 2017 District Out of Supervision Ponzini Briana District Athletic Supervision Sup	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00
Perfetti Jeff District Supervision Athletic Supervision 2016 District Out of Supervision Out of Supervision 2017 Out of Out of Out of Out of Out of Supervision Ponzini Briana District District Out of Supervision 2017 District Out of O	\$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00

Sussin	Erick	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Treder	Brian	District	Athletic Supervision	2017 2016- 2017	In District	\$2,500.00
Trentini	Chris- tine	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Valenzano	William	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Vetro	Rocco	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Wat-son	Shannon	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Weiner	Claudine	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
White	Willie	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
White-head	Thomas	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Witover	Jason	District	Athletic Supervision	2016- 2017	Out of District	\$2,500.00
Youngs	Tom	District	Athletic Supervision	2016- 2017	In District	\$2,500.00
Supervision Rat	e:	\$27.91/hr	prior to 6:00 p.1			

Scoreboard Timer: \$107.22 p. contest

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name Stipends	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Stipend	Not to Exceed
Diehl	John	WMHS	SAT Prep Program	March - May	\$915.00	\$915.00
Taldone	Cathy	N. Country	Registration Director Summer Enrichment Program	2016 2016-2017	\$6,471.00	\$6,471.00
Taldone	Cathy	N. Country	Director Saturday Enrichment Program	2016-2017	\$6,471.00	\$6,471.00
Taldone	Cathy	N. Country	Title 1 Grant Coordinator	2016-2017	\$4,111.00	\$4,111.00
Baum	Alan	WMHS	TVSAA-Mentor Program Coordinator	2015-2016	\$500.00	\$500.00
Golini	Кеті	Murphy Gelinas	TVSAA-Mentor Program Coordinator	2015-2016	\$500.00	\$500.00
Garcia	Anita	WMHS	Site Supervisor	2016-2017	\$4,000.00	\$4,000.00
Prinzo	Anthony	WMHS	Program Coordinator	2016-2017	\$12,500.00	\$12,500.00
Prinzo	Anthony	WMHS	Trip Coordinator	2016-2017	\$1,000.00	\$1,000.00
Kiriluk	Deborah	Аrrowhead	Book Room Coordinator	2016-2017	\$3,114.00	3,114.00
Arasa	Theresa	Minnesauke	Primary/Intermediate Book Room Coordinator	2016-2017	\$3,114.00	3,114.00
Nilsson	MaryLou	Mount	Primary/Intermediate Book Room Coordinator	2016-2017	\$3,114.00	3,114.00
Cohen	Jessica	Nassakeag	Primary/Intermediate Book Room Coordinator	2016-2017	\$3,114.00	3,114.00
Brady	Judy	Setauket	Primary/Intermediate Book Room Coordinator Primary/Intermediate	2016-2017	\$3,114.00	3,114.00

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
AIS Services							
Ouozounian	Marisa	WMHS	ELA AIS	3/31/2016	\$54.81/hr	1	\$54.81
Chaperoning							
Ferraro	Virginia	Мшрһу	Science Olympiad co- sponsor for FACS component of team program.	1/1/16- 6/24/16	\$42.12/hr	20	\$842.40
Holden	Chris	WMHS	1:1 Student Supervision	2015-2016	\$20.19/hr	70	\$1,413.30
Hurley	Тепту	WMHS	1:1 Student Supervision	2015-2016	\$20.19/hr	50	\$1,009.50
Weiderman	Richard	Setauket	NYSSMA Satellite Festival	5/4/2016	\$42.12/hr	7	\$294.84
Meier	Brendan	Murphy	Chaperone Marching Band- Memorial Day Parade	5/30/2016	\$42.12/hr	4.5	\$189.54

Roses	Tham	Murch	Chaparan-	5/20/2014	¢/12 12.5	15	\$190 s4
Boysen	Theresa	Murphy	Chaperone Kickline Color Guard - Memorial Day	5/30/2016	\$42.12/hr	4.5	\$189.54
			Parade				
Ouzounian Yantz	Marisa Patricia	Gelinas WMHS	Detention Exploring	2015-2016 Spring	\$42.12/hr \$20/hr	12	\$1,000.00 \$240.00
1 antz	rautcia	Wind	Painting Techniques	Spring 2016	\$20/III	12	3240.00
			oloring Painting Te	chniques, not P	lanning for Co	ollege as ori	ginally
board approve Macchione	d on 2/10/16. Elizabeth	Gelinas	1:1 After School	2015-2016	\$20.19/hr		\$500.00
O'Connor	Jason	Gelinas	Supervision Chaperone	2015-2016	\$42.12/hr		\$1,000.00
Elliot	Douglas	Gelinas	NY State Mock Trial	5/15 - 5/17/2016	\$150/night \$300/day	1 day 2 nights	\$600.00
Perry	Leanne	Gelinas	Championship NY State Mock Trial	5/15 - 5/17/2016	\$150/night \$300/day	I day 2 nights	\$600.00
Cadolino	Joanna	Gelinas	Championship NY State Mock Trial	5/15 - 5/17/2016	\$150/night \$300/day	l day 2 nights	\$600.00
a :		110.414	Championship				6200.00
Serigano	Jennifer	WMHS	Science Olympiad National	5/19/16, 5/20/16	\$ 150 night	2 nights	\$300.00
Serigano	Jennifer	WMHS	Competition Science	5/21/16,	\$300/day	2 days	\$600.00
29			Olympiad National	5/22/16	*,		*
Suesser	Mark	WMHS	Competition Science	5/19/16,	\$ 150	2 nights	\$300.00
		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Olympiad National	5/20/16	night		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Suesser	Mark	WMHS	Competition Science	5/21/16,	\$300/day	2 days	\$600.00
Duesser	IVI M.K.	***************************************	Olympiad	5/22/16	\$300,44	2 01/3	\$000.00
			National Competition	•			
Dunbar	Kristin	WMHS	Senior Trip Chaperone	6/3/2016	\$150/night	l night	\$150.00
Beauchamp	Tracey	WMHS	Senior Trip Chaperone	6/3/2016	\$150/night	l night	\$150.00
Donicick	James	WMHS	Senior Trip	6/3/2016	\$150/night	1 night	\$150.00
Edgar	Virginia	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	I night	\$150.00
Ely	Jeff	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Kane	Allison	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	1 night	\$150.00
Kettler .	Todd	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Kraemer	Dianne	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	1 night	\$150.00
Martin	Marvel	ZHMW	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Miller	Brian	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	1 night	\$150.00
Riggio	Clarice	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	1 night	\$150.00
Serigano	Jennifer	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Stelfox	Kristin	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Stringer	Megan	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Swain	James	WMHS	Chaperone Senior Trip	6/3/2016	\$150/night	l night	\$150.00
Jordan	Sean	Gelinas	Chaperone Music in the Parks	5/21/2016	\$300/day	I day	\$300.00
Rabbitt	Alisa	Gelinas	Competition Music in the	5/21/2016	\$300/day	l day	\$300.00
			Parks Competition				
Portugal	Mark	Gelinas	Music in the Parks Competition	5/21/2016	\$300/day	l day	\$300.00
DePersio	Robert	Gelinas	Music in the Parks	5/21/2016	\$300/day	1 day	\$300.00
Wiederman	Rich	Gelinas	Competition Music in the Parks	5/21/2016	\$300/day	I day	\$300.00
Wolf	Jenna	Gelinas	Competition Music in the Parks	5/21/2016	\$300/day	1 day	\$300.00
O'Connor	Jason	Gelinas	Competition Music in the Parks	5/21/2016	\$300/day	I day	\$300.00
			Competition				

,

Cinquemaní	Тагул	Murphy	Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	I day I night	\$450.00
Meier	Brendan	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	l day l night	\$450.00
Pickford	Brian	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	l day l night	\$450.00
Pollera	Anthony	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	I day I night	\$450.00
Golini	Кепі	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	l day l night	\$450.00
Gasparre	Angela	Мшрһу	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	I day I night	\$450.00
Black	John	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	1 day 1 night	\$450.00
нш	Jeannie	Murphy	PA Chaperone - Music in the Parks Competition, Hershey Park,	5/20/16- 5/21/16	\$150/night \$300/day	1 night	\$150.00
Gelfer	Phil	WMHS	PA Chaperone - Music in the	5/13/16 5/14/16	\$150/night \$300/day	l day l night	\$450.00
Dietz	Kristen	WMHS	Parks Chaperone - Music in the Parks	5/13/16 5/14/16	\$150/night \$300/day	1 đay 1 night	\$450.00
Hein	James	WMHS	Chaperone - Music in the Parks	5/13/16 5/14/16	\$150/night \$300/day	l đay l night	\$450.00
Fентаго	John	WMHS	Chaperone - Music in the Parks	5/13/16 5/14/16	\$150/night \$300/day	l day l night	\$450.00
Home Tutorin	g		1 4110				
Ambrose	Donald	WMHS	Home	4/29	\$46.05/hr	2	\$ 92.10
Boltrek	Chris	Gelinas	Tutoring Home Tutoring	5/3,5/5,5/1 0,5/12,5/1	\$46.05/hr	6	\$ 276.30
DeSantis	Christina	Minnesauke	Home Tutoring	7,5/19 4/21,4/22, 5/4,	\$46.05/hr	6	\$ 276.30
Martin	Marvel	WMHS	Home	5/5,5/6 4/7	\$46.05/hr	1	\$46.05
Muller	Gisela	Gelinas	Tutoring Home Tutoring	3/23,4/6,4/ 12, 4/13	\$46.05/hr	8	\$368.40
Re	Andrea	Acad./WM	Home Tutoring	3/21,3/23, 3/29,4/1,4/ 5,4/8, 4/11,4/18, 4/19,5/3,5/ 5, 5/9,5/10,5/ 16,5/19	\$46.05/hr	16	\$736.80
Reo .	Scott	Gelinas	Home Tutoring	2/24,2/26, 3/3, 3/4,3/7, 3/10,3/16, 3/17,3/21, 3/31,4/5, 4/7	\$46.05/hr	10.75	\$495.04
Schnettler	Garrett	Gelinas	Home Tutoring	3/22,3/28, 3/30,4/1,4/ 4,4/6, 4/8,4/11,	\$46.05/hr	12	\$552.60

				4/13,4/14, 4/18 4/20			
Serigano	Jennifer	WMHS	Home Tutoring	4/12,4/15, 5/2, 5/4,5/6	\$46.05/hr	18	\$828.90
Stelfox	Kristin	WMHS	Home Tutoring	3/17,3/31	\$46.05/hr	4	\$184,20
Williams	Laura	WMHS	Home Tutoring	4/10	\$46.05/hr	2	\$92.10
			APPOINTME MMER ASSIG				
Last Name	<u>First</u> Name	Building	<u>Assignment</u>	<u>Effective</u>	Rate	Hours	Not to Exceed
<u>Stipend</u>							
Taldone	Cathy	N. Country	Title IIA - Prepare 2016- 2017 NYSED NCLB grant application and reports. Work on final program evaluation and fiscal reports for all grants.		\$12,100		Per diem salary rate up to 15 days.
Summer ESY	Program						
Hom .	Melissa		Teacher	7/5/16 - 8/12/16	\$285/day		
Simpson	Bridget		Substitute Teacher	7/5/16 - 8/12/16	\$285/day		
Simpson	Bridget		Substitute TA	7/5/16 - 8/12/16	\$14.40/hr		
Degamon	Jessica		Substitute Teacher	7/5/16 - 8/12/16	\$285/day		
Degamon	Jessica		Substitute TA	7/5/16 - 8/12/16	\$14.40/hr		
board meeting	•	based on the 2015.	/2016 rates. The ?	2016/2017 rates	will be board	approved a	at the 7/13/16
Summer Read	ing/Summer	READ 180					
Brady	Judy	Setauket	Summer Reading Coordinator	7/5/16- 7/28/16	\$5,000	50	\$5,000.00
DeStefano	Jaclyn	Setauket	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Heal	Jessica	Setauket	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Oppenheim	Jessica	Setauket	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Osborne	Cathleen	Setauket	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62

	1411	mutes of June o	, 2010				
Rosner	Kim	Nassakeag	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Silverman	Nicole	Nassakeag	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Ullah	Nicole	Setauket	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Walsh	Daniel	Nassakeag	Summer Reading Teacher	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Summer Read	ing Substitut	e Teacher					
Schulz**	Lindsay **		Summer Reading Teacher (sub)	7/5/16- 7/28/16	\$55.63/hr	48	\$2,630.88
			2 hrs. curriculum training		\$55.63/hr	2	\$109.62
Baron	Josh	Gelinas	MATH Summer Study Skills Program	7/11/16 - 7/22/16	\$55.63/hr	40	\$2,225.20
Cadolino	Joanna	Gelinas	Summer READ 180 Program	7/11/16 - 7/22/16	\$55.63/hr	16	\$890.08
Duffy	Cathy	Murphy	Summer READ 180 Program	7/11/16 - 7/22/16	\$55.63/hr	16	\$890.08
Bostwick	Antoin- ette	Gelinas	Summer READ 180 Program	7/11/16 - 7/22/16	\$55.63/hr	16	\$890.08
Ouzounian	Marisa	Gelinas	Summer READ 180 Program	7/11/16 - 7/22/16	\$55.63/hr	16	\$890.08
Summer Enric	hment						
Conlon .	Toni	Setauket	Getting Ready For Kindergarten/S weet Tooth	7/5/16- 7/15/16	\$35/hr		\$1,260.00
Dowling	Sean	Setauket	Bubble Bonanza/Recyc led Racers	7/5/16- 7/15/16	\$50/lur		\$1,600.00
Gerber	Monica	Setauket	Science Olympiad	7/5/16- 7/15/16	\$40/hr		\$1,760.00
Gitter	Marilyn	Setauket	Creative Writing	7/5/16- 7/15/16	\$25/hr		\$800.00
Hammer	Brian	Setauket	Assistant	7/5/16- 7/15/16	\$15/hr		\$800.00
Ihne	Dawn	Setauket	Assistant	7/5/16- 7/15/16	\$25/hr		\$1,500.00
Malone	Lauren	Setauket	Cartooning	7/5/16- 7/15/16	\$40/hr		\$1,080.00
Massi- Impellizzeri	Kim	Setauket	Multimedia Arts & Crafts	7/5/16- 7/15/16	\$35/hr		\$1,085.00

McManus	Patrick	Setauket	Science Olympiad	7/5/16- 7/15/16	\$40/hr	\$1,600.00
Novetti	Jason	Setauket	Assistant	7/5/16- 7/15/16	\$15/hr	\$800.00
Oliver	Kim	Setauket	Chocolate Everything	7/5/16- 7/15/16	\$25/hr	\$800.00
Peck	Maureen	Setauket	Card Making/Scrapb ooking	7/5/16- 7/15/16	\$35/hr	\$1,000.00
Reinhardt	Robin	Setauket	Assistant	7/5/16- 7/15/16	\$15/hr	\$800.00
Rosen .	Amy	Setauket	Origami	7/5/16- 7/15/16	\$30/hr	\$800.00
Viscosi	Andrew	Setauket	Assistant	7/5/16- 7/15/16	\$15/hr	\$800.00
Vorwald	Gary	Setauket	Science Olympiad	7/5/16- 7/15/16	\$50/hr	\$2,400.00
Weik	Andy	Setauket	Digital Photography and Video	7/5/16- 7/15/16	\$50/hr	\$1,350.00

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/	Effective Date	Length of Service
Aupperlee, Lawrence	Assignment Minnesauke Elementary School/	7/1/16	19 yrs. 9 mo.
. rappartal zamento	Head Custodian	,,,,,,	15 yis. 5 iiio.
McNamara, Lisa	Nassakeag Elementary School / Special Education Aide	6/13/16	6 yrs. 9 mo.
Scopo, Maureen	Ward Melville High School/ Part-time Food Service Worker	5/6/16	2 yrs. 8 mo.

APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

Aupperlee, Lawrence

Provisional Assistant Plant Facilities Administrator

Maintenance & Operations

New Position

Related to current employee: Yes

Annual Salary: \$95,000 Effective: July 1, 2016

Mr. Aupperlee is currently a Head Custodian at Minnesauke Elementary School. He is resigning that position contingent upon approval of this recommendation. Mr. Aupperlee is the husband of Susan Aupperlee, a teacher at Minnesauke Elementary School.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Guards

DeRosso, Robert

Guard Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: June 9, 2016

Fingerprinting clearance has been received and is on file.

Finnigan, Daniel

Guard Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: June 9, 2016

Fingerprinting clearance has been received and is on file.

Sadecki, Michael Guard

Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: June 9, 2016

Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS

Custodial

Sherlock, Frank From: Custodial Worker II (Step 12/Level 2)

To: "Acting" Head Custodian (Step 12/Level 5)

Minnesauke Elementary School Replacing: Lawrence Aupperlee Annual Salary: \$72,786 prorated

Effective: April 29, 2016 until further notification

Mr. Sherlock assumed the role of "Acting" Head Custodian at Minnesauke Elementary School due to the absence of Lawrence Aupperlee.

Langellotti, Jason From: Custodial Worker I (Step 7/Level 1)

To: "Acting" Custodial Worker II (Step 7/Level 2)

Minnesauke Elementary School Replacing: Frank Sherlock Annual Salary: \$52,873 prorated

Effective: April 29, 2016 until further notification

Mr. Langellotti assumed the role of "Acting" Custodial Worker II at Minnesauke Elementary School due to Frank Sherlock temporarily replacing Lawrence Aupperlee.

Monitors/Special Education Aides

Clyne, Theresa From: Special Education Aide (Step 9/Level 11)

Setauket Elementary School

To: Special Education Aide (Step 9/Level 7)

The Laurel Hill School Effective: May 23, 2016

Costigan, Fran From: Special Education Aide (Step 3/Level 12)

Gelinas Junior High School

To: Special Education Aide (Step 3/Level 10)

Minnesauke Elementary School Effective: May 18, 2016

Inzone, Tara From: Special Education Aide (Step 1/Level 7)

The Laurel Hill School

To: Special Education Aide (Step 1/Level 11)

Setauket Elementary School Effective: May 23, 2016

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Lalia, Jenna Salary-\$11.88/hr.

Effective-5/31/16

Ms. Lalia was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is the daughter of Lori Lalia, Account Clerk Typist in the Business Office. Fingerprinting clearance has been received and is on file.

Custodial

Torregrosa, Paul

Salary-\$11.88/hr. Effective-6/9/16

Fingerprinting clearance has been received and is on file.

Monitors/Special Education Aides

Marino, Claudia

Salary-\$11.88/hr. Effective-5/19/16

Ms. Marino was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is the niece of Laurance Marino, Coordinating Chairperson of Special Education and Jose Salazar, Psychologist at Ward Melville High School. Fingerprinting clearance has been received and is on file.

Seges, Viera

Salary-\$11.88/hr. Effective-6/9/16

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed			
Petitto	Susanne	Gelinas	After School Supervision*	2015- 2016	\$15.28		\$500.00			
*This assign	*This assignment was originally approved at the $9/9/15$ BOE meeting. This recommendation is for additional hours.									
Clyne	Theresa	Laurel Hill School	1:1 SEA for student on Field Trip	5/23/2016	Regular hourly rate	10	10 hours			
Patterson	Debbie	MUR	Student Supervision, 1:1 at extra help classes, clubs, concerts and dances*	5/15- 6/24/16	regular hourly rate	25	25 hours			
This assign		ginally appr	oved at the 9/9/1:	5 BOE mee	ting. This	recomme	endation is			
Ceroni	Jenna	WMHS	1:1 SEA - Athletics for the Challenges	5/19/16 & 6/2/16	Regular hourly rate	7	\$141.33			

APPOINTMENTS TO NON-INSTRUCTIONAL SUMMER RECREATION PROGRAM

Food Service Workers

Mertz, Robin

Salary: \$14.77 per hour

Effective - July 5, 2016 - August 12, 2016

Ciullo, Maria

On "as needed" basis Salary: \$14.31 per hour

Effective - July 5, 2016 - August 12, 2016

Getz, Renee

On "as needed" basis

Salary: \$14.31 per hour Effective – July 5, 2016 – August 12, 2016

APPOINTMENTS OF SUMMER RECREATION STAFF

Last Name	First Name	Building	Position	Effective	Rate	<u>Assignment</u>				
Returning Emplo	Returning Employees									
Abad	Dylan	WMHS	Counselor	7/1/2016	\$11.14	Full Day				
Acosta	Susan	WMHS	Game Room	7/1/2016	\$11.14	Half Day				
Arcuri	Thomas	WMHS	Counselor	7/1/2016	\$11.75	Full Day				
Ausset	Alison	WMHS	Counselor	7/1/2016	\$13.20	Half Day				
Basso	Raymond	WMHS	Counselor	7/1/2016	\$19.55	Travel Camp				
Baum	Camryn	WMHS	Counselor	7/1/2016	\$13.20	Full Camp				
Ben-Eliyahu	Jordon	WMHS	Counselor	7/1/2016	\$13.80	Full Camp				
Blaney	Deryn	WMHS	Counselor	7/1/2016	\$11.75	Full Day				

Blunt	Haley	WMHS	Counselor	7/1/2016	\$12.35	Substitute
Bright	Jeanine	WMHS	Counselor	7/1/2016	\$20.76	Travel Camp
Bunici	Lauren	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Byrne	Elizabeth	WMHS	Counselor	7/1/2016	\$13.20	Substitute
Caggiano	Joseph	WMHS	Counselor	7/1/2016	\$11.14	Half Day
Cain	Helen	WMHS	Monitor	7/1/2016	\$13.50	Full Day
Caselli	Jake	WMHS	Counselor	7/1/2016	\$11.75	Half Day
Cavanagh	Samantha	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Corrie	Michael		Counselor	,	\$12.61	·
		WMHS		7/1/2016	-	Full Day
Cottone	Sarah	WMHS	Counselor	7/1/2016	\$13.20	Full Day
Davenport	Shawn	WMHS	Counselor	7/1/2016	\$11.14	Substitute
DiLiello	Jessica	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Dion	Jean-Pierre	WMHS	Supervisor	7/1/2016	\$26.72	Travel Camp
Diviney	Brendan	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Dobkowski	Matthew	WMHS	Medical Staff	7/1/2016	\$20.00	Substitute
Driscoll	Christina	WMHS	Supervisor	7/1/2016	\$26.72	Full Day/Half Day
Edwards	Nellie	WMHS	Computer Room	7/1/2016	\$12.35	Half Day
Faughnan	Charles	WMHS	Monitor Counselor	7/1/2016	\$11.14	Full Day
Feehan	Deborah	WMHS	Counselor	7/1/2016	\$11.14	Substitute
Gazura	Kaylie	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Gerlach	Alice	WMHS	Counselor	7/1/2016	\$11.14	Substitute
Governale	Morgan	WMHS	Counselor	7/1/2016	\$12.61	Half Day
Grillo	Samantha	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Hughes	Егупл	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Hughes	Куга	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Hunter	Elizabeth	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Hunter	Lauren	WMHS	Special Area Instructor	7/1/2016	\$14.09	Full Day
Kepes	Jake	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Kepes	Samuel	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Lahti	Brendan	WMHS	Lead	7/1/2016	\$14.68	Full Day
Lee	Megan	WMHS	Counselor Counselor	7/1/2016	\$11 .7 5	Haif Day
Lorusso	Thomas	WMHS	Counselor	7/1/2016	\$11.14	Substitute
Marinus	Patricia	WMHS	Nurse's	7/1/2016	\$13.50	Full Day
Milano	Samatha	WMHS	Assistant Counselor	7/1/2016	\$11.14	Full Day
Miller	Michael	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Miller	Emily	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Morseman	Janet	WMHS	Special Area	7/1/2016	\$14.09	Fuil Day
Munisteri	Philip	WMHS	Instructor Special Area	7/1/2016	\$14.68	Full Day
Murphy	Robert	WMHS	Instructor Counselor	7/1/2016	\$21.97	Travel Camp
Narus	Lauriane	WMHS	Counselor	7/1/2016	\$13.80	Half Day
Nilsson	Dan	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Nuss	Tyler	WMHS	Special Area	7/1/2016	\$14.09	Full Day
Parrella	Samantha	WMHS	Instructor Counselor	7/1/2016	\$11.14	Full Day
Pemiciaro	Jill	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Pinard	Allison	WMHS	Medical	7/1/2016	\$20.00	Full Day
Pinard	Justin	WMHS	Staff Counselor	7/1/2016	\$11.14	Half Day
Rahner	Emilee	WMHS	Counselor	7/1/2016	\$19.55	Travel Camp
Rastivo	Michael	WMHS	Counselor	7/1/2016	\$11.75	Half Day
Reyes	Hayley	WMHS	Lead Counselor	7/1/2016	\$14.09	Half Day

Rezende	Tiffany	WMHS	Lead	7/1/2016	\$15.30	Full Day
Rosa	Stephen	WMHS	Counselor Counselor	7/1/2016	\$13.80	Full Day
Scarfogliero	Samantha	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Schwartz	Jonathan	WMHS	Counselor	7/1/2016	\$21.97	Travel Camp
Scott	Jonathan	WMHS	Supervisor	7/1/2016	\$26.72	Travel Camp
Shay	Stephanie	WMHS	Medical Staff	7/1/2016	\$20.00	Half Day/Full Day
Short	Danielle	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Smith	Jennifer T.	WMHS	Counselor	7/1/2016	\$12.35	Full Day
Smith	Jennifer M.	WMHS	Counselor	7/1/2016	\$13.20	Substitute
Squatrito	Jessica	WMHS	Counselor	7/1/2016	\$19.55	Travel Camp
Stefurak	Carol Ann	WMHS	Counselor	7/1/2016	\$12.61	Half Day
Steinmuller	Eric	WMHS	Counselor	7/1/2016	\$11.75	Substitute
Stiles	Adam	WMHS	Counselor	7/1/2016	\$21.97	Travel Camp
Swart	Melissa	WMHS	Counselor	7/1/2016	\$21.97	Travel Camp
Szymanski	Alexandra	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Tilley	Alexandra	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Tirelli	Taylor	WMHS	Counselor	7/1/2016	\$13.80	Full Day
Tranchino	Claire	WMHS	Special Area Instructor	7/1/2016	\$14.09	Full Day
Vitberg	Zehava	WMHS	Supervisor	7/1/2016	\$26.72	Full Day
Von Bargen	Sarah	WMHS	Lead	7/1/2016	\$14.09	Half Day
Wall	Robert	WMHS	Counselor Counselor	7/1/2016	\$13.20	Substitute
Ward	Ryan	WMHS	Counselor	7/1/2016	\$11.14	Half Day
Warren	Jessica	WMHS	Counselor	7/1/2016	\$13.20	Full Day
Warren	Julianne	WMHS	Counselor	7/1/2016	\$11.75	Full Day
Weber	Dylan	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Webster	Ashley	WMHS	Counselor	7/1/2016	\$11.52	Full Day
Wright	Chelsey	WMHS	Counselor	7/1/2016	\$19.55	Travel Camp
New Hires						
Bellini	Alexia	WM	Counselor	7/1/2016	\$9.67	Full Day
Catalina	Grace	WM	Counselor	7/1/2016	\$9.67	Full Day
Cimini	Rebecca	WM	Counselor	7/1/2016	\$11.14	Substitute
Delligati	Anna	WM	Counselor	7/1/2016	\$11,14	Full day
Diehl .	Maggie	WM	Counselor	7/1/2016	\$9.67	Half day
Falvey	Megan	WM	Counselor	7/1/2016	\$11.14	Full Day
Fitzpatrick	Katherine	WM	Counselor	7/1/2016	\$9.67	Full Day
Gazura	Makenzie	WM	Counselor	7/1/2016	\$11.14	Full Day
Krawchuck	Amanda	WM	Counselor	7/1/2016	\$11.14	Full Day
Nuss	Jared	WM	Counselor	7/1/2016	\$11.14	Fuli Day
Nuss	Logan	WM	Counselor	7/1/2016	\$9.67	Full Day
Paglia	Marissa	WM	Counselor	7/1/2016	\$11.14	Full Day
Parsa	Donya	WM	Counselor	7/1/2016	\$11.14	Full Day
Patel	Divisha	WM	Counselor	7/1/2016	\$9.67	Full Day
Robinson	Zoe	WM	Counselor	7/1/2016	\$11.14	Substitute
Schoenfeld	Molly	WM	Counselor	7/1/2016	\$12.61	Full Day
Shane	Allison	WM	Counselor	7/1/2016	\$11.14	Full Day
Specht	Timothy	WM	Counselor	7/1/2016	\$11.14	Full Day
Stavropoulos	Patricia	WM	Counselor	7/1/2016	\$9.67	Full Day
Tilley	Victoria	WM	Counselor	7/1/2016	\$9.67 \$11.14	Substitute
Ulrich	Laura	WM	Counselor	7/1/2016	\$9.67	Full Day
Ward	Christian	WM	Counselor	7/1/2016	\$9.67 \$9.67	Half Day
Whelan	Sarah	WM	Special	7/1/2016	\$9.67 \$14.09	Full Day
	J411111	14 494	Area Instructor	H H4V10	⊅14. U7	run Day

Instructor
Those identified as High School Students do not require fingerprinting.

Hourly rates are subject to change based upon recommendation at Reorg on 7/13/16.

SUMMER ESY PROGRAM APPOINTMENTS

<u>Last Name</u> Bell	<u>First Name</u> Robert	Assignment Arrowhead	Effective 7/5/16-8/12/16	Title Security	<u>Rate</u> \$18.67/hr
New ESY Hire	<u>:s</u>				
Franco	Gabriella	Arrowhead	7/5/16-8/12/16	SEA	\$15.00/hr
Gabriele	Ashley	Arrowhead	7/5/16-8/12/16	SEA	\$15.00/hr
<u>Substitutes</u>					
Viscosi	Andrew	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Rettig	Rosemarie	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Marino	Claudia	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Maurer	Thomas	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr

APPOINTMENTS OF ELA SUMMER READING PROGRAM STAFF 2016-2017

Last Name	First Name	Building	<u>Assignment</u>	Effective	<u>Hourly</u> Rate	<u>Hours</u>	Not to Exceed
Heiberger	Madlyn	Arrgowhead	Summer Reading	7/5 7/28, 2016	Regular Hourly	48	TBD
			Clerical		Rate		

CLERICAL SUPPORT FOR VARIOUS FUNCTIONS

<u>Last</u>	<u>First</u>	Building	Assignment	Effective	Rate	Hours	Not To
<u>Name</u>	<u>Name</u>						<u>Exceed</u>
Catsoris	Jennifer	WMHS	Swim	5/23/16	Regular	3	3 Hours
			Registration		Hourly Rate		
Hammer	Veronica	WMHS	Swim	5/23/16	Regular	3	3 Hours
			Registration		Hourly Rate		

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: March 15, 16, 17, 18, 21, 22, 23, 30, 31, April 1, 5, 7, 8, 12, 13, 15, 19, 21, 22, May 3, 6, 10, 13, 19, and 25, 2016

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: April 15, 19, May 3, 4, 5, 10, and 19, 2016 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

Ms. F

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST Ms. Bavlnka spoke regarding Presidential Volunteer Service Awards, Senior Prom, and Graduation.

PUBLIC PARTICIPATION

There was no Public Participation at this time

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 6-0-0 vote to adjourn the meeting at 9:57 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk

THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN SPECIAL MEETING OF THE BOARD OF EDUCATION JUNE 14, 2016

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 14, 2016 at 6:00 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

Members absent:

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

CALL TO ORDER Mr. Connors called the meeting to order at 6:02 p.m.

MOVE INTO EXECUTIVE SESSION

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss collective negotiations pursuant to Article 14 of the Civil Service Law.

ADJOURNMENT

The Executive Session ended at 7:10 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk

•				
	`			
			•	

THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JUNE 22, 2016

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 22, 2016 at 6:00 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Jeffrey Kerman, Trustee Angelique Ragolia, Trustee

Members absent:

Deanna Bavinka, Trustee Inger Germano, Trustee Jonathan Kornreich, Trustee

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk Joseph Hines, Student Representative to the Board

Brandon Cea, Student Representative to the Board for 2016-2017

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 6:01 p.m.

MOVE INTO EXECUTIVE SESSION On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION The meeting reconvened into open session at 7:30 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA Addenda:

- M.1 Approval of Memorandum of Understanding between Suffolk County Community College and Three Village School District
- M.2 Personnel Action Education Law 913 Examination

STUDENT AND STAFF RECOGNITION Certificates were presented to the WMHS Mock Trial Team.

Nancy Jenkins was recognized for being named Teacher of the Year award given by the Long Island Family and Consumer Sciences Professionals.

Joey Hines was recognized for his role as Student Representative to the Board of Education for the 2015-2016 school year.

TENURE RECEPTION The Tenure Reception was postponed.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

MINUTES AND BIDS

Minutes of April 13, April 19, May 4, and May 17, 2016 Be it RESOLVED that the Board of Education accept the minutes of its April 13, April 19, May 4 and May 17, 2016 meetings.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Bids - 2015/2016 Capital Improvement (Site Work Reconstruction) C-2363(SED# 58-02-01-

06-0-006-030):

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award the following, as presented, and reject Bid #B16-106.

- Bid No. C-2363
- Bid No. C-2364

2015/2016 Capital Improvement (Exterior Masonry Reconstruction) C-2346; (SED#58-02-01-06-0-006-030): Automotive Replacement Parts -B16-102: Maintenance & Preventative Maintenance on Folding Partitions, Stage Curtains, Gym Partitions, Bleacher Repairs - B16-103; Emergency Snow Removal and Site Work Material and Labor -B16-104; Glass Replacement -B16-105; Cesspool Cleaning - B16-106; Integrated Pest Management - B16-107; Carpet Cleaning -B16-108; Commodity Warehouse Pickup -B16-109

- Bid No. B16-102 (ABI Auto Parts, Parts Authority, Inc., Autoparts, Inc.)
- Bid No. B16-103 (Gym Door Repairs, Inc.)
- Bid No. B16-104 (Suburban Maintenance & Landscaping, Inc.)
- Bid No. B16-105 (Sterling Glass of NY)
- Bid No. B16-107 (Bug Fighters Etc., Inc.)
- Bid No. B16-108 (Advance Building Solutions, Inc.)
- · Bid No. B16-109 (Lombardi Trucking)

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Bid Extensions/ Renewals -Produce- B14-15-003; Food Service Equipment Repairs -B14-15-002; Pizza -B14-15-001a; Rental & Service Of Treated Dust Mops -B15-002; Elevator Service, Repairs & Safety Inspections -B14-15-011 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award an extension period of one year to the current successful vendors for the following bids:

ł

Bid Titles	<u>Bid</u>
	<u>Number</u>
Produce	B14-15-003;
Food Service Equipment Repairs	B14-15-002;
Pizza	B14-15-001a;
Rental &Service Of Treated Dust Mops	B15-002;
Elevator Service, Repairs & Safety Inspections	B14-15-011

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

REPORTS

Student Representative Report Joey Hines introduced the Brandon Cea, the Student Representative to the Board of Education for the 2016-2017 school year.

Pre-Kindergarten

Kristen Rimmer presented the Pre-Kindergarten report.

ITEMS FOR BOARD DISCUSSION There were no Items for Board Discussion.

ITEMS FOR BOARD ACTION

Authorization to Participate in Cooperative Bids Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve and authorize participation in the below mentioned cooperative bids for supplies, materials, services and equipment for the 2016-17 school year and that the President of the Board of Education be authorized to execute same.

- Eastern Suffolk BOCES
- Nassau BOCES
- National Joint Powers Alliance (NJPA)
- The Cooperative Purchasing Network (TCPN)
- Educational Data Services, Inc.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Authorize Participation in Cooperative Bids for Cafeteria and Food Supplies Upon recommendation of the Superintendent of Schools, be it RESOLVED that the attached resolution authorizing participation in cooperative bids for cafeteria and food supplies for the Child Nutrition Program for the 2016-2017 school year be approved and that the President of the Board of Education be authorized to execute same.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Approve Renewal of License Agreement with American Society of Composers, Authors and Publishers (ASCAP)

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the renewal of the license agreement with the American Society of Composers, Authors and Publishers at annual fee of \$336.00 for the period July 1, 2016 through and including June 30, 2017.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A check in the amount of \$100.00 donated by Ward Melville HS alumna, Sherree Hamilton O'Shea, of DazzleBar, Ltd. to Setauket Elementary School.
- A check in the amount of \$422.19 donated by Stop & Shop's A+ School Rwwards Program to Ward Melville HS.
- Two checks in the amounts of \$300.00 and \$159.70 donated by Target's Take Charge of Education program to Setauket Elementary.
- A check in the amount of \$2,000.00 donated by Long Island Community Foundation's Mathew Grimaldi Memorial Fund to the Ward Melville HS Scholarship Fund.
- A check in the amount of \$200.00 donated by Astoria Bank to the Ward Melville HS Scholarship Fund.
- The following checks donated to the Jody Eff Memorial Scholarship Fund:

•	Marjorie Wilson	\$ 50.00
•	Michael Greene	\$100.00
•	Rivkin Radler LLP/A.Petraglia	\$100.00
	Ignet Von Bargen	\$100.00

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District:

<u>Item</u>	Model	Serial #	<u>Three</u>	Condition	Location
Description	37/1	N7/1	Village #		
Cafeteria Table	N/A	N/A	000506	Poor	Mount
Cafeteria	N/A	N/A	000507	Poor	Garage Mount
Table	1071	WA	000507	1 001	Garage
Cafeteria	N/A	N/A	000508	Poor	Mount
Table					Garage
Cafeteria	N/A	N/A	000509	Poor	Mount
Table	3711			_	Garage
Cafeteria Table	N/A	N/A	000514	Poor	Mount
Cafeteria	N/A	N/A	000515	Poor	Garage Mount
Table	14/21	. 1471	000515	FOOI	Garage
Cafeteria	N/A	N/A	000518	Poor	Mount
Table					Garage
Wood	N/A	N/A	N/A	Poor	Mount
Teacher					Garage
Desk	N/A	27/4	27/4	D	
(19) Student Desks	N/A	N/A	N/A	Poor	Mount
Typewriter	IBM Series 3	1984	95216	Poor	Garage Mount
-31			,		Garage

Small Cabinet Microphone	N/A	N/A	05458	Poor	Mount Garage Mount Garage	
	High Ball Realistic Radio Shack	N/A	T168340	Poor		
Various IT Equipment	List on file in the office of the District Clerk.					

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Approval of Health and Welfare Services Contracts

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for health and welfare services for the 2015-2016 school year with the following school districts:

- Port Jefferson UFSD 1 student @ \$935.05 \$935.05
- Commack UFSD 6 students @ \$1,095.68 = \$6,574.08

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Approval of Contracts with Outside Service Providers for Special Educational Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contracts* for special educational services for the 2016-2017 school year with the following providers:

- · Bridges to Tomorrow
- F.R.E.E. (Family Residences & Essential Enterprises
- Interim Healthcare
- · Maxim Healthcare Services
- David Seyfert

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contract for instruction/services to be provided by the school listed below to Three Village Central School District students for the 2016-2017 school year.

- Brookville Center for Childrens' Services
- Center for Discovery
- Little Flower UFSD
- Maryhaven Center for Hope

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Approval of Memorandum of Understanding between Suffolk County Community College and Three Village School District Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the Memorandum of Understanding between Suffolk County Community College and Three Village School District regarding the Early College Program (ECP), which provides high school juniors and seniors the opportunity to take college level classes at Suffolk County Community College while enrolled in high school.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Personnel Action
– Education Law
§913 Examination

Be it RESOLVED that pursuant to Section 913 of the New York State Education Law, the Board of Education directs the employee named in the confidential Schedule A to appear for a medical examination in the office of Dr. Randall Solomon at a date and time to be scheduled.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

LEAVE OF ABSENCE

Name School/ **Tenured Effective** Reason <u>Assignment</u> Friedman, Gelinas JHS/ 2016-2017 Unpaid No Teaching Meghan Assistant

APPOINTMENTS TO INSTRUCTIONAL POSITIONS

Friedman, Meghan Leave Replacement Special Education Teacher

St. Joseph's College - BA Long Island University- MA Previous Tenure - No Related to current employee - No Salary: Step/ Level - 1/MA Effective - 9/1/16 - 6/30/17

This is a one-year, leave replacement appointment effective 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Nicole Baxter. Ms. Friedman will be assigned to Setauket Elementary School for the 2016-17 school year. Ms. Friedman is currently working in the district and fingerprint clearance for employment is on file.

Hein, James One Year, Leave Replacement Music Teacher

University of Maryland - B.M.E.d. Previous Tenure - No Related to current employee - No Salary: Step/Level - 2/BA Effective: 9/1/16 -6/30/17.

This is a one-year leave replacement appointment. This appointment is due to the leave of absence of Claudia Reinhart. Mr. Hein will be assigned .6 at Ward Melville High School and .4 at Arrowhead Elementary School for the 2016-2017 school year. Mr. Hein is currently working in the district and fingerprint clearance for employment is on file.

One year Part-Time Music Teacher Hill, Jeanne

80% Position York College - BS Previous Tenure - No

Related to current employee - No Salary: Step/level - 2 BA Effective: 9/1/16-6/30/17

This is a one-year part-time (.8 FTE) appointment, effective, 9/1/16 -6/30/17. This appointment is due to increased staffing. Ms. Hill will be assigned .8 to Murphy Junior High School for the 2016-2017 school year. Ms. Hill is a currently working in the district and fingerprint clearance is on file.

O'Shaughnessy, Brian One Year, Part-Time Science Teacher

80% Position SUNY Oswego - BS Previous Tenure - No

Related to Current Employee - No Salary: Step/Level - 1/BA+15 Effective: 9/1/16 - 6/30/17

This is a one-year, part-time (.8) appointment, effective 9/1/16 to 6/30/17. This appointment is due .8 to increased staffing. Mr. O'Shaughnessy will be assigned .8 to Murphy Junior High School for the 2016-17 school year. Fingerprint clearance for employment has been received.

Porter, Cynthia English Teacher

The College of Wooster - BA Stony Brook University - MA Dowling College - MS Previous Tenure - No Related to current employee - No

Salary: Step/ Level 2/ MA+45

Effective - 9/1/16

This is to correct salary level from MA+30 to MA+45. Ms. Porter was previously approved at the Board of Education meeting held on June 8, 2016.

Rieckhoff, Daniel One-year Part-time Technology Teacher

50% Position

New York Institute of Technology - BS

Previous Tenure: No

Related to current employee: No

Salary: Step/Level/Salary - 2/BA \$55,451 x .5 =

\$27,725

Effective: 9/1/16-6/30/17

This is a one- year, part-time (.5 FTE) appointment, effective, 9/1/16 - 6/30/17. This appointment is due to enrollment growth. Mr. Rieckhoff will be assigned to Paul J. Gelinas Junior High School for the 2016-2017 school year. Fingerprint clearance for employment is on file

Schnettler, Garrett One-year Leave Replacement Math Teacher

Oneonta State College – BS Dowling College – MS Previous Tenure – No

Related to current employee - Yes

Salary: Step 2 Level MA Effective: 9/1/16 - 6/30/17

This is a one-year leave replacement appointment effective 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Kevin Sihler. Mr. Schnettler will be assigned to Paul J. Gelinas Junior High School for the 2016-17 school year. Mr. Schnettler is the son of Janis Schnettler, clerical at Paul J. Gelinas Junior High School. Mr. Schnettler is working in the district and fingerprint clearance for employment is on file.

Stelfox, Kristin One-year Part-time Social Studies Teacher

70% Position

Arizona State University – BA LIU, C.W. Post – MS Previous Tenure – No

Related to current employee -- No

Salary Step/Level - 2/MA Salary - \$62,105 x.7=

\$43,473

Effective: 9/1/16 - 6/30/17

This is a one- year, part-time (.7 FTE) appointment, effective, 9/1/16 - 6/30/17. This appointment is due to increased staffing. Ms. Stelfox will be assigned (.7) to Ward Melville High School for the 2016-17 school year. Ms. Stelfox is currently working in the district and fingerprint clearance for employment is on file.

APPOINTMENTS TO SUBSTITUTE
TEACHER/NURSE/PARAPROFESSIONAL/
TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Arizmendi, Kristina

Ms. Arizmendi was board approved on 6/8/2016 as the Gelinas Cheerleading coach. Ms. Arizmendi has requested to be added to our substitute teacher list. Fingerprint clearance is on file.

Dorfman, Ryan

Fingerprint clearance has been received.

Substitute Nurse:

Cohn, Jodi

Fingerprint clearance has been received.

Summers, Theresa

Fingerprint clearance has been received.

The following employees are retiring as of 6/30/2016 and have requested to be added to our substitute teacher and/or substitute nurse list. Fingerprint clearance is on file.

- Susan Barra
- Karen Futtersak
- Lucia Gildersleeve
- Linda Turner
- Ira Sterne

APPOINTMENT OF FALL SUPERVISION/COACH POSITION

<u>Last</u> Name	<u>First</u> Name	Building	<u>Assignment</u>	<u>Effective</u>	<u>Step</u>	<u>Year</u>	Total Years	Stipend	<u>Status</u>	
High Scho	ol Coaches									
Gourlay	Alexander	WMHS	JV Boys Volleyball	Fall	1	1	1	\$6,461.	Out of District	
				OINTMEN CICULAR S		OR				
Last Nat	ne <u>First</u> Name		uilding	<u>Activity</u>	Effe	ctive	Rate	-	Not to Exceed	
Co-Curr Porter	icular Club Cynth		MHS	Debate Team	2015	5-2016	\$2,0	85.00	\$2,085.00	
APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS										
									37	
Last Name Stipends	First Name		lding Ass	<u>ignment</u>		Effectiv	<u>e</u>	Stipend	Not to Exceed	
Morrison	Kimb	erly Wiv		cial Education		2016/20	17	\$55.63/hr	\$3,500.00	
Morrison	Kimt	erly WM	iHS Spe	T/SAT Superv cial Education T/SAT Superv	ł	2016/20	17	\$55.63/hr	\$7,500.00	
*** Not to	exceed \$ 11,	000								
Kula	Marn	ie WM	IHS InS	tar - 2nd Year		2016/20	17	\$2,116.00	\$2,116.00	
Gulino	Olga	Moi		ok Room ordinator -		2016/20	17	\$3,114.00	\$3,114.00	
***Ms. Gu Meeting	ılino will be r	eplacing Ms.	Prir Nilsson who v	nary/Intermed vas originally		proved fo	r this on	the 6/8/201	6 BOE	
Lead Teac	hers									
Knox	Betsy	Dist	rict Lib	rary Lead- 6th	Year	2016-20	17	\$3,694.00	\$3,694.00	
Weik	Andr			ructional	Tour	2016-20		\$2,688.00	\$2,688.00	
			Tec year	hnology Lead t	- 2nd					
Rubenstrue	ck Deidi	re Dist		ructional hnology Lead r	- 1st	2016-20	17	\$2,688.00	\$2,688.00	
Ambrose	Dona	ld WM		th Lead - 3rd Y	ear .	2016/20	17	\$2,688.00	\$2,688.00	
Pelosi	Andr	ew WM		ial Studies Le:	ad -	2016/20	17	\$2,688.00	\$2,688.00	
Jenkins	Nanc	y Geli	inas Fan	Year uily & Consun ance Lead - 10		2016-20	17	\$2,350.00	2,350.00	
Jenkins	Nanc	у Мш	phy Fan	nily & Consun ence Lead - 10	ner	2016-20	17	\$2,350.00	2,350.00	
*** Ms. Je	nkin's stipend	of \$4,700 w	ill be split bety			<u>hy.</u>				
Poulos	Amy	Mu		d Guidance		2016-20	17	\$2,688.00	\$2,688.00	
Dattero	Anth	ony Geli	nas Lea	inselor - 3rd Y d Guidance inselor - 10+ y		2016-20	17			
T L	14			18	. 10.	0016.00		60 60 4 60	62 604 00	
Lynch McCaffrey	Mary Virgi		-	d Psychologis cial Ed Lead	r - 10+	2016-20 2016-20		\$3,694.00	\$3,694.00 \$2,688.00	
мссанцу	v ngi	a yy jv		char - 2nd Yea	ar	2010-20	11	\$2,688.00	\$2,688.00	
Giles	Casey	/ Geli		cial Ed Lead		2016-20	17	\$2,688.00	\$2,688.00	
Portal-Pfei	fer Lolita	ı Mur	phy Spe	cher - 1st Yea: cial Ed Lead cher - 1st Yea:		2016-20	17	\$2,688.00	\$2,688.00	

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

HOURLY EXTRA ASSIGNMENTS										
Last Name	<u>First</u> <u>Name</u>	Building	Assignment	Effective	Rate	<u>Hours</u>	Not to Exceed			
Chaperoning/S	-									
Beigen .	Linda	WMHS	1:1 Supervision - Empire State Games	6/3/2016	\$ 20.19/hr	Up to 5	\$100.95			
Hommel	Madison	WMHS	1:1 Supervision - Empire State Games	6/3/2016	\$ 20.19/hr	Up to 5	\$100.95			
Kahnis	Erin	WMHS	1:1 Supervision - Empire State Games	6/3/2016	\$ 20.19/hr	Up to 5	\$100.95			
Tamowski	Rachel	WMHS	1:1 Supervision - Empire State Games	6/3/2016	\$ 20.19/hr	Up to 5	\$100.95			
Gasparre	Angela	Murphy	Awards/Progr ams/Certificat es Advisor Additional Hours	2015-2016	\$42.12/hr	20	\$842.20			
LaScala	Rene	Arrowhead	Special Ed Instructional Support Teachers	2016/2017	\$55.63/hr		\$1,500.0 0			
Berman	Susan	Minnesauke	Special Ed Instructional Support Teachers	2016/2017	\$55.63/lur		\$1,500.0 0			
Doherty	Carol	Mount	Special Ed Instructional Support Teachers	2016/2017	\$55.63/hr		\$1,500.0 0			
Reyes	Maureen	Setauket	Special Ed Instructional Support Teachers	2016/2017	\$55.63/hr		\$1,500.0 0			
Homenedis	Eleni	Nassakeag	Special Ed Instructional Support Teachers	2016/2017	\$55.63/hr		\$1,500.0 0			
Nickerson	Carol	WMHS	Community Based - Special Ed Vocational Training Teacher	2016/2017	\$55.63/hr		\$10,200. 00			
Jordan	Јоалпе	Setauket	Accompanist for 2nd Concert at Gelinas	5/12/2016	\$150/ concert	1 concert	\$150.00			
Jordan	Јогипе	Setauket	Accompanist for Rehearsals 6 concerts at Gelinas	May 2016	\$42.12/hr	8 hours	\$336.96			
Rabbitt	Alisa	WMHS	NYSSMA Satellite Festival	5/4/2016	\$42.12/hr	3 hours	\$126.36			
Brecht	Liz	WMHS	FBLA Conference - Atlanta, GA	6/29/16 - 7/2/16	\$300/day	4 days	\$1,200.0 0			
Brecht	Liz	WMHS	FBLA Conference - Atlanta, GA	6/29/16 - 7/1/16	\$150/night	3 nights	\$450.00			
Rogers	Steven	WMHS	FBLA Conference - Atlanta, GA	6/29/16 - 7/2/16	\$300/day	4 days	\$1,200.0 0			
Rogers	Steven	WMHS	FBLA Conference - Atlanta, GA	6/29/16 - 7/1/16	\$150/night	3 nights	\$450.00			
Senior Trip C										
Dunbar Beauchamp	Kristin Tracey	WMHS WMHS	Senior Trip Chaperone Senior Trip	6/3/2016 6/3/2016	\$ 42.12/hr \$ 42.12/hr	14 hours	\$589.68 \$589.68			
Donicick	James	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68			
Edgar	Virginia	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68			
Ely	Jeff	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42,12/hr	14 hours	\$589.68			
Kane	Allison	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68			
Kettler	Todd	WMHS	Chaperone Senior Trip Chaperone	6/3/2016	\$ 42.12/hr	14 hours	\$589.68			

Kraemer	Dianne	WMHS	Senior Trip Chaperone	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
Miller	Brian	WMHS	Senior Trip Chaperone	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
Riggio	Clarice	WMHS	Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
Serigano	Jennifer	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
Stelfox	Kristin	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
Stringer	Megan	WMHS	Chaperone Senior Trip	6/3/2016	\$ 42.12/hr	14 hours	\$589.68
*** Above is	a correction t	o the chaperonin	Chaperone g rate of \$150/nigh	nt that was prev	iously board app	roved on 6/8	<u>/16.</u>
Prom Chapen	ones						
Anderson	Phoebe	WMHS	Prom Chaperone	06/23/16	42.12/hr	6	\$252.72
Aweh	Michele	ZHMW	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Baumann	Matthew	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Bayles	Tanya	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Buys	Megan	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Chacon	Enrico	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Chimienti	Jennifer	WMHS	Prom Chaperone	06/23/16	\$42.12	12	\$505.44
Crispino	Lisa	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Dion	Jean Pierre	WMHS	Prom Chaperone	06/23/16	\$42.12	8	\$336.96
Domicik	Jim	WMHS	Prom	06/23/16	\$42,12	6	\$252.72
Faraci	Maria	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Florio	Christina	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Geoninatti	Claudia	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Hannifin	Danielle	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Heck	Jeff	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Heimerle	Denise	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Kane	Allison	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Kettler	Todd	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Kraemer	Dianne	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Maletta	Alaina	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
McCaffrey	Virginia	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
Menten	Sue	WMHS	Chaperone Prom	06/23/16	\$42.12	8	\$336.96
Metrio	Jessica	WMHS	Chaperone Prom	06/23/16	\$42.12	6	\$252.72
	Christo-	WMHS	Chaperone			-	*
Murphy	pher		Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Muscarella	Ronald	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Negus	Jay	WMHS	Prom Chaperone	06/23/16	\$42.12	8	\$336.96
Quitoni	Loren	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Rogers	Steve	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Russo	Stacey	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Sementelli	Angela	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Stelfox	Kristin	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Vonnes	Carol	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Watson	Shannon	WMHS	Prom Chaperone	06/23/16	\$42,12	6	\$252.72
Wegenaar	Nancy	WMHS	Prom Chaperone	06/23/16	\$42.12	6	\$252.72
Williams	John	WMH\$	Prom	06/23/16	\$42.12	8	\$336.96
Graduation Ch	aperones		Chaperone				
Anderson	Phoebe	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Aweh	Michele	WMHS	Graduation	06/26/16	\$42.12	3.5	\$147.42
Chapman	Jason	WMHS	Chaperone Graduation Chaperone	06/26/16	\$42.12	6	\$252.72
Crispino	Lisa	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
			Chaperone				

Edgar	Virginia	WMHS	Graduation	06/26/16	\$42.12	3.5	\$147.42
Faraci	Maria	WMHS	Chaperone Graduation	06/26/16	\$42.12	3 .5	\$147.42
Geoninatti	Claudia	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Goldberg	Annette	WMHS	Chaperone Graduation	06/26/16	\$42,12	9.5	\$400.14
Heimerle	Denise	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Hurley	Terri	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Kane	Allison	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
		WMHS	Chaperone			3.5	
Kowalenko	Randi		Graduation Chaperone	06/26/16	\$42.12	•	\$147.42
Kraemer	Dianne	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
McCaffrey	Virginia	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Menten	Sue	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Metrio	Jessica	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Mirabella	Christine	WMHS	Graduation	06/26/16	\$42.12	3.5	\$147.42
Negus	Jay	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Porter	Cynthia	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Pryor	Lisa	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Rogers	Steve	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Russo	Stacey	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Sementelli	Angela	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
	_		Chaperone		\$42.12		*
Serigano	Jennifer	WMHS	Graduation Chaperone	06/26/16	•	3.5	\$147.42
Sheppard	Jen	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Smit	Michael	WMH\$	Graduation Chaperone	06/26/16	\$42,12	3.5	\$147.42
Stelfox	Kristin	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147.42
Stringer	Megan	WMHS	Graduation Chaperone	06/26/16	\$42.12	3.5	\$147,42
Stuart	Ryan	WMHS	Graduation	06/26/16	\$42.12	3.5	\$147.42
Swain	James	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Vonnes	Carol	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Watson	Shannon	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
Wegenaar	Nancy	WMHS	Chaperone Graduation	06/26/16	\$42.12	3.5	\$147.42
9th Grade Trip	-		Chaperone				
Oliver	Vincent	Murphy	9th Grade Trip	6/10/2016	\$42,12/hr	7.25	\$305.37
Caldarraro	Yvonne	Митрһу	to Six Flags 9th Grade Trip	6/10/2016	\$42.12/hr	hours 7.25	\$305.37
Leigi	Marissa	Murphy	to Six Flags 9th Grade Trip	6/10/2016	\$42,12/hr	hours 7.25	\$305.37
Primavera	Laura	Murphy	to Six Flags 9th Grade Trip	6/10/2016	\$42.12/hr	hours 7.25	\$305.37
Woznicki			to Six Flags			hours	
	Lucyna	Murphy	9th Grade Trip to Six Flags	6/10/2016	\$42.12/hr	7.25 hours	\$305.37
AIS Services Costello	Ann	Gelinas	AIS Services	3/15, 3/17	\$54.81/hr	1.5	\$82.22
	Marie			& 3/22			
Fall Continuin		ND 4140	PC-1-1	Eneorg	#20.4	••	#0.40.0 0
Pennega	Dennis	WMHS	Digital Photography	Fall 2016	\$20/hr	12	\$240.00
Hondropulos	Stacey	WMHS	Microsoft Word	Fall 2016	\$20/hr	4	\$80.00
Hondropulos	Stacey	WMHS	Microsoft PowerPoint	Fall 2016	\$20/hr	4	\$80.00
Hondropulos	Stacey	WMHS	Microsoft Excel	Fall 2016	\$20/hr	4	\$80.00
Hondropulos	Stacey	WMHS	Cutting Edge Resumés, Cover Letters	Fall 2016	\$20/hr	4	\$80.00
Hondropulos	Stacey	WMHS	& Interviews Salary	Fall 2016	\$20/hr	4	\$80.00
Hondropulos	Stacey		Negotiations Microsoft				
-	_	WMHS	Publisher	Fall 2016	\$20/hr	4	\$80.00
Kelly- Edmunds	Anne	WMHS	Do the Write Thing	Fall 2016	\$35/hr	12	\$420.00

Toga	Linda M.	WMHS	A Trust or A Will: Which is Right for	Fall 2016	\$20/hr	3	\$60.00
Silverman	Jeffrey	WMHS	You? Keep Income Flowing During	Fall 2016	\$20/hr	2	\$40.00
Silverman	Jeffrey	WMHS	Retirement Life Planning for Children with Special	Fall 2016	\$20/hr	2	\$40.00
Smith	George Ellsworth	WMHS	Needs Foundations of Investing	Fall 2016	\$20/hr	1 1/2	\$30.00
Smith	George Ellsworth	WMHS	Roll It, Take It, Leave It, Move It	Fall 2016	\$20/hr	1 1/2	\$30.00
Smith	George Ellsworth	WMHS	Preparing Your Estate Plan	Fall 2016	\$20/hr	1 1/2	\$30.00
Smith .	George Ellsworth	WMHS	Social Secutity: Your Questions Answered	Fall 2016	\$20/hr	1 1/2	\$30.00
Wilson	Jeanmarie	WMHS	College Knowledge for Parents of Students with Disabilities	Fall 2016	\$20/hr	3	\$60.00
Wilson	Jeanmarie	WMHS	College Knowledge	Fall 2016	\$20/hr	4 1/2	\$90.00
Yantz	Patricia	WMHS	Colored Pencil and Pastel Techniques	Fall 2016	\$20/hr	9	\$180.00
Yantz	Patricia	WMHS	Exploring Painting	Fall 2016	\$20/hr	10	\$200.00
Quattrone	Anthony	WMH\$	Techniques Woodcarving: Ornament & Figure	Fall 2016	\$20/hr	16	\$320.00
Napoli	Frank	WMHS	Carving Woodcarving for the Beginner &	Fall 2016	\$20/hr	16	\$320.00
Napoli	Frank	WMHS	Novice Woodcarving for the Beginner &	Fall 2016	\$20/hr	16	\$320.00
Bartunek	Alberta	WMHS	Novice Crocheting -	Fall 2016	\$20/hr	1 1/2	\$30.00
Bartunek	Alberta	WMHS	Ruffle Scarf Crocheting -	Fall 2016	\$20/hr	6	\$120.00
Ricca	Laura	WMHS	Beginners Pastel	Fall 2016	\$20/hr	12	\$240.00
Caiati	Debbie	WMHS	Portraits Mah Jongg	Fall 2016	\$20/hr	16	\$320.00
Pennega	Dennis	WMHS	Songwriting	Fall 2016	\$20/hr	12	\$240.00
Rogers	Ken	WMHS	101 Gardening	Fall 2016	\$20/hr	12	\$240.00
Rogers	Arlene .	WMH\$	Basics Machine Quilting -	Fall 2016	\$20/hr	16	\$320.00
Rogers	Arlene	WMHS	Beginners Machine Quilting - Intermediate	Fall 2016	\$20/hr	16	\$320.00
Gerard	Maria	WMHS	Spanish for	Fall 2016	\$20/hr	33	\$660.00
Foti / Mike Ryan, First Aid Depot	Joe	WMHS	the Traveler Adult/Child/In fant CPR/AED	Fall 2016	VENDOR \$450	3	\$450.00
Weilbacher	Eileen	WMHS	Gluten, Soy, & Eating for	Fall 2016	\$20/hr	6	\$120.00
Casteleiro	Michelle	WMHS	Energy Intro to Traditional Foods and	Fall 2016	\$20/hr	6	\$120.00
Gilbert	Pamela	WMHS	Healthy Foods Bedroom	Fall 2016	\$20/hr	3	\$60.00
Gilbert	Pamela	WMHS	Feng Shui Power of · Essential Oils and	Fall 2016	\$20/hr	3	\$60.00
Magic	Dance	WMHS	Aromatherapy Salsa Dancing	Fall 2016	Vendor \$600 (\$40pp)	8	\$600.00

Magic	Dance	WMHS	Ballroom, Latin and Swing	Fall 2016	Vendor \$800 (\$40pp)	8	\$800.00
Cheeseman / Martin White	Ellen	WMHS	Dancing Country Western Line Dance- Beginners	Fall 2016	Ellen\$180; (if enrollment permits Martin \$180)	16	\$180.00
Cheeseman / Martin White	Ellen	WMHS	Country Western Dance: Couples/Partn ers	Fall 2016	Ellen\$180; (if enrollment permits Martin \$180)	12	\$180.00
Danette Gallogly	Creative Voices	WMHS	Getting Paid to Talk: Introduction to Professional	Fall 2016	Vendor \$87.50	2.5	\$87.50
Bradley	Robert	WMHS	Voice Overs Brain Exploration and	Fall 2016	\$20/hr	2	\$40.00
Bradley	Robert	WMHS	Meditation Alexander	Fall 2016	\$20/hr	2	\$40.00
Galante	Frank	WMHS	Technique Tai Chi	Fall 2016	\$20/hr	4	\$80.00
Reass	Marcia	WMH\$	YOGA	Fall 2016	\$35/hr	6.25	\$218.75
Cotty	Hugh (Jim)	WMHS	Volleyball- Bump, Set Spike!	Fall 2016	\$30/hr	15	\$450,00
Galante	Frank	WMHS	Tai Chi	Fall 2016	\$87.50 (\$35 p/h)	2 1/2	
Reass	Marcia	WMHS	Mindfulness Meditation	Fall 2016	Vendor \$48/hr	8	\$720.00
Magic Bailreom	Dance	WMHS	Zumba	Fall 2016	\$30/hr	16	\$480.00
Mazeau	Sue	WMHS	Aerobics - Afternoon	Fall 2016	\$30/hr	16	\$480.00
Mazeau	Sue	WMHS	Aerobics - Evening	Fall 2016	\$30/hr	16	\$480.00
Магеац	Sue	WMHS	Aerobics - Afternoon	Fall 2016	\$30/hr	12	\$360.00
Mazeau .	Sue	WMHS	Aerobics - Evening	Fall 2016	\$30/hr	12	\$360.00
Home Tutorin	īā						
Fontana- Daguerre	Edward	Gelinas	Home Tutoring	3/10, 3/15, 3/17, 3/22, 3/29, 3/31, 4/5, 4/7, 4/12, 4/14, 4/19, 4/21, 5/3, 5/5, 5/10, 5/12, 5/17, 5/19,	\$46.05/hr	19	\$ 874.95
Giles	Casey	Gelinas	Home Tutoring	3/31, 4/7, 4/14, 4/21, 5/5	\$46.05/hr	6	\$276.30
Traube	Gina	Gelinas	Home Tutoring	1/20, 2/2, 2/29, 4/7, 5/17, 5/19, 5/23	\$46.05/hr	7	\$322.35
Schnettler	Garrett	Gelinas	Home Tutoring	5/2, 5/4, 5/6, 5/9, 5/11, 5/13	\$46.05/hr	6	\$276.30
Serigano	Jennifer	WMHS	Home	5/17	\$46.05/hr	2	\$ 92.10
Steme	Ira	Acad/ WMHS	Tutoring Home Tutoring	5/17, 5/24	\$46.05/hr	4	\$184.20
		SL	APPOINTME				
I agt Maure	Einet Mam-				Desa		House
Last Name	First Name	<u>Building</u>	<u>Assignment</u>	Effective	Rate		<u>Hours</u>

PPS Summer Staffing 2016

Pps Administrator's/Teacher's Salary - A2250-1500-00-00R

Psych Services Instructional Salary - A2820-1500-00R

Social Worker Salary - A2825-1500-00-00R

** Codes for guidance come from Ms. Pedisich's office and ELL codes (formally ESL) come from Mr. Scanlon's office.

Guidance Coordinating Chairperson

Bergson Linda

Coordinating Chairperson for Special Education

Marino Laurance

Guidance Counselors

Dattero Anthony Treder Brian McGaley Kevin Poulos Amy Zeller Joan Diehl John Mirabella Christine Anziano Erin Sheppard Jennifer Allison Larson Olsen Walter Sheridan James LoGiudice Keri Jentzen Leah Chiappino Darlene Ross Lori Ennis Jessica

Psychologists |

Lynch Магу Salas Heather Rebore Lauren Deeg Christopher Lambert Michelle Lolita Portal-Pfeffer Jose Salazar Stevens Jennifer McCabe-Keily Fitch Nash Katherine Nickerson Nicole

Social Workers

Gregory Glenda Lennon Sherrill Roberts Pamela Rakowsky Debbi Virga Michelle Forgione Judy Woodruff Catanese Tina Marie Scheiffele Kristine

Speech Teachers

Angela Campo DeMarco Marisa Kriegel . Lisa Peters Toni Washing-Nicole Blumenthal Theresa Heck Melissa Farbiarz Lynn Levenberg Lauri

				•		
Broome	Tara					
McCrave	Terri					
Juvet	Tracey					
Gonzalez	Mary					
Woods	Sandy					
Rimmer	Kerri Ann					
Sementilli	Angela					
Shea	Jennifer					
Mulham	Corinne					
Summer Enri	chment					
McGuire	Susan	Setauket	Science	7/5/16 - 7/15/16	\$ 30/hr	
			Olympiad			
Connors	Jessica	Setauket	Assistant	7/5/16 - 7/15/16	\$ 15/hr	
ENL Screeni	ng					
Brussee	Erin	Nassakeag	ENL Screening	July/August 2016	\$480.93/day	
Dawkins	Gail	Nassakeag	ENL Screening	July/August 2016	\$542.10/day	
Russo	Stacey	WMHS	ENL Screening	July/August 2016	\$528.79/day	
Aston	Monica	Gelinas	ENL Screening	July/August 2016	\$721.25/day	
•						
AIS Services						
Re	Andrea	WMHS	Algebra	7/25/16 - 8/11/16	\$55.63/hr	18
			2/Trigonometry Review Course			
Schrader	Emma	WMHS	Algebra 2/Trigonometry Review Course	7/25/16 - 8/11/16	\$55.63/hr	18
Summer ESY	' Program					
Marino	Laurance	Arrowhead	Psychologist	7/5/16 - 8/12/16	\$ 285/day	
Murphy	Tara	Arrowhead	TA - ESY	7/5/16 - 8/12/16	\$17/hr	
Salazar	Jose	Arrowhead	Program Psychologist	7/5/16 - 8/12/16	\$ 285/day	
Simpson	Bridget	Arrowhead	TA - ESY Program	7/5/16 - 8/12/16	\$17/hr	
** Ms. Simp	son was previou	sly board approv		, but now is being his	red as a permaner	nt TA.
Wilcken	Cynthia	Arrowhead	TA - ESY	7/5/16 - 8/12/16	\$17/hr	
	-		Program			
Rimmer	Kerri Ann	Setauket	Teacher	7/5/16 - 8/12/16	\$47.50/hr	
Haff	Kathleen	Arrowhead	Nurse	7/5/16 - 8/12/16	\$25/day	
Substitute E	SY Program			•		
Marino	Laurance	Arrowhead	Sub - Principal	7/5/16 - 8/12/16	\$325/day	
Fеrro	Loren	Arrowhead	Sub TA	7/5/16 - 8/12/16	\$14.40/hr	
Chairperson	Summer Work					
Ambrose	Donald	WMHS - Math	Summer Work - Inventory; Reprogram Calculators; Appeals; Parent Math Meetings	July & August 2016	2016/2017 Daily Rate	3 days
Brecht	Liz	WMHS - Foreign Language	Summer Work - Gradebook Articulation; Missing Three Days Due To FBLA	July & August 2016	2016/2017 Daily Rate	4 days
Kost	Maureen	WMHS - PE/Health	Summer Work- Inventory; Schedules; Pd Planning; TA Hiring; Update PE Home Tutoring Moodle Assignments; Update Book Gym Assignments	July & August 2016	2016/2017 Daily Rate	3 days

Kula	Mamie	WMHS - Science	Summer Work - Scheduling Issues; Eddata; Inventory And Supply Ordering; SCD Planning; Instar	July & August 2016	2016/2017 Daily Rate	5 days
McAuliffe	Brian	WMHS -	Revamping; Student/Mentor Metings For Sumenn Research; Revise InStar Summer Work -	July & August	201 <i>6/</i> 2017	4 days
		English	Pd Development; Sod Planning; Data Analysis; Inventory; Supply Ordering; Work on Humanities Proposal; Google Classroom	2016	Daily Rate	
Trettner	Jennifer	WMHS - An/Tech	Development Summer Work - Gradebook Artiulation With Chairs; Perkins Grant Inventory; Art/Tech Inventory; Planning Scd; Program Review for Year 2 of 5; Organization	July & August 2016	2016/2017 Daily Rate	3 days
Marino	Laurance	WMHS - Special Education	Summer Work - Staffing and Schedule Updates	July & August 2016	2016/2017 Daily Rate	3 days
Bergson	Linda	WMHS - Guidance	Summer Work - Guidance Preparations	July & August 2016	2016/2017 Daily Rate	10 days
Pollera	Anthony	District- wide - Music	Summer Work - Music Preparations	July & August 2016	2016/2017 Daily Rate	10 days
Gollini	Кепі	District- wide - ENL	Summer Work - ENL (English as a New Language) Screening	July & August 2016	2016/2017 Daily Rate	10 days
Cadolino	Јоапла	Gelinas	Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, etc.	July & August 2016	2016/2017 Daily Rate	5 days
McNamara	Laura	Gelinas	Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, 7Th Grade Walk Through, Etc.	July & August 2016	2016/2017 Daily Rate	5 days
Trettner	Jennifer	Gelinas	Summer Work - Interviews, Inventory, 7Th Grade Walk	July & August 2016	2016/2017 Daily Rate	l day
Vorwald	Gary	Gelinas	Through Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, etc.	July & August 2016	2016/2017 Daily Rate	4 days
Duffy	Cathy	Murphy	Summer work - SRI Student Testing, Check & Distribute Grade 7 ELA Books, Prepare New Writing Center, Plan PD Days, Review Final Exams, Textbook Inventory.	July & August 2016	2016/2017 Daily Rate	3 days

Minutes of June 22, 2016

Trettner	Kerri	Мшрһу	Summer Work - Art/Tech Organization, 5- Year Plan, Inventory Data Sheets	July & August 2016	2016/2017 Daily Rate	l day
McManus	Patrick	Murphy	Summer Work - Reports, Schedules, Chemical Inventory, Room Inventory	July & August 2016	2016/2017 Daily Rate	3 days
Vetro .	Rocco	Murphy	Summer Work - 7th Grade Placements, Reorganize workbooks, Old & New Textbooks, Basement STorage, Meet with Parents & Students Challenging Regents, Summer Projects	July & August 2016	2016/2017 Daily Rate	3 days

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/Assignment	Effective Date	Length of Service
Azus, Nicholas	Arrowhead Elementary School/Custodial	7/11/16	6 yrs. 4 mo.
	Worker I		
Bogia, Jennifer	Gelinas Junior High School/ Part-time Food Service	6/15/16	11 yrs. 7 mo.
	Worker		
McNamara, Lisa	Nassakeag ES SACC program/ Special	6/9/16	4 yrs. 1 mo.
Pryor, Veronica	Education Aide Ward Melville High School/ Special Education Aide	6/23/16	6 yrs. 7 mo.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Food Service Worker

Moline, Sheila Part-time Food Service Worker (Step 1)

Setauket Elementary School Replacing: Patricia Zimmerman Related to current employee: No Salary: \$14.16/hourly Effective: June 23, 2016

Ms. Moline is currently a substitute food service worker in the district. Fingerprinting clearance has been received and is on file.

Guard

Caggiano, Joseph

Guard Districtwide New Position

Related to current employee: No Salary: \$18.67 hourly Effective: June 23, 2016

Fingerprinting clearance has been received and is on file

Minutes of June 22, 2016

CHANGES OF STATUS

Custodial

Langellotti, Jason

From: "Acting" Custodial Worker II (Step 7/Level 2)

To: Custodial Worker I (Step 7/Level 1) Minnesauke Elementary School Annual Salary: \$51,795 prorated Effective: May 31, 2016

Mr. Langellotti assumed the role of "Acting" Custodial Worker II at Minnesauke Elementary School due to Frank Sherlock temporarily replacing Lawrence Aupperlee. He is returning to his previous position.

Luhrs, David

From: Groundskeeper I (Step 12/Level 9)

To: Maintenance Mechanic II (Step 11/Level 11)

District Wide New Position

Annual Salary: \$67,425 prorated

Effective: June 23, 2016

Sherlock, Frank

From: "Acting" Head Custodian (Step 12/Level 5)

From: Custodial Worker II (Step 11/Level 11)

Minnesauke Elementary School Annual Salary: \$64,433 prorated Effective: May 31, 2016

Mr. Sherlock assumed the role of "Acting" Head Custodian at Minnesauke Elementary School due to the absence of Lawrence Aupperlee. He is returning to his previous position

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Custodial

Alvarez, Luis

Salary-\$11.88/hr.

Effective-6/23/16

Fingerprinting clearance has been received and is on file.

Monitors/Special Education Aides

Brennan, Laura

Salary-\$11.88/hr.

Effective-6/23/16

Fingerprinting clearance has been received and is on file.

Evola, Brittany

Salary-\$11.88/hr.

Effective-6/23/16

Fingerprinting clearance has been received and is on file.

Maurer, Thomas

Salary-\$11.88/hr.

Effective-6/23/16

Fingerprinting clearance has been received and is on file.

Pryor, Veronica

Salary-\$11.88/hr.

Effective-9/1/16

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF SUMMER RECREATION STAFF

Last Name	<u>First</u> Name	Building	<u>Position</u>	Effective	Rate	Assignment
Returning Emple						
Hart	Brandon	WMHS	Counselor	7/1/2016	\$11.14	Half Day
Silverman	Rebecca	WMHS	Counselor	7/1/2016	\$11.14	Half Day
Ulrich	Thomas	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Kepes	Samuel	WMHS	Counselor	7/1/2016	\$11.14	Full Day
Koester	Katherine	WMHS	Counselor	7/1/2016	\$11.14	Half Day
Perez	Tito	WMHS	Security Guard	7/1/2016	\$18.67	Full Day

Forunato	Joe	WMHS	Security Guard	7/1/2016	\$19.71	Full Day/Half Day	
Natale	Lou	WMHS	Security Guard	7/1/2016	\$18.67	Full Day	
Paglia	Paul	WMHS	Security Guard	7/1/2016	\$18.67	Full Day	
O'Shaughnessy	Магу	WMHS	Security	7/1/2016	\$18.67	Full Day	
Dooley	Dennis	WMHS	Guard Security	7/1/2016	\$18.67	Full Day	
Graham	Rosanne	WMHS	Guard Security Guard	7/1/2016	\$18.67	Full Day/Half	
Stewart	Wanda	WMHS	Security	7/1/2016	\$18.67	Day Half Day	
Keeffe	Neil	WMHS	Guard Security	7/1/2016	\$18.67	Half Day	
Meoni	John	WMHS	Guard Security	7/1/2016	\$18.67	Half Day	
Acosta	Susan	WMHS	Guard Counselor*	7/1/2016	\$11.14	Half Day	
Edwards	Nellie	WMHS	Counselor*	7/1/2016	\$12.35	Half Day	
Marinus	Patricia	WMHS	Monitor*	7/1/2016	\$13.50	Full Day	
Webster	Ashley	WMHS	Counselor	7/1/2016	\$12.35*	Full Day	
	•		s to recommendation			•	
			pon recommendati				
New Hires	subject to end	ngo based a	pon reconnicional	on an ration g			
Ausset	Shane	WM	Counselor	7/1/2016	\$11.14	Half Day	
			rt-time Food Servi			-	
Assistant and Su	mmer Recrea	tion Employ	ee.				
Baum	Joshua	WM	Counselor	7/1/2016	\$11.14	Full Day	
Mr. Baum is the			•		****		
Baum	Taylor	WM	Counselor	7/1/2016	\$11.14	Full Day	
Ms. Baum is the			•				
Beck	Matt	WM	Counselor	7/1/2016	\$9.67	Half Day	
			cher, Setauket ES.				
Bozza	Alexander	WM	Counselor	7/1/2016	\$11.14	Full Day	
Casciano	Michaela	WM	Counselor	7/1/2016	\$11.14	Full Day	
	_		iano, Principal, Na	-			
Cassidy	Scott	WM	Counselor	7/1/2016	\$11.14	Full Day	
Donovan	Ashley	WM	Counselor	7/1/2016	\$9.67	Full Day	Current Student
Gonsalves	Olivia	WM	Counselor	7/1/2016	\$11.14	Full Day	
Ms. Gonsalves is	s the daughter	of Theresa	Gonsalves, Accou	nt Clerk Typi	st, Child Nu	trition.	
Hart	Ryan	WM	Counselor	7/1/2016	\$11.14	Full Day	
			ummer Recreation	Employee a	nd Ashley		
Hart, Swim Prog Hart	Alexandra		Counselor	7/1/2016	\$9.67	Full Day	Current
Ms. Hart is the s	ister of Brand	on Hart, Sur	umer Recreation E	imnlovee and	l Ashlev		Student
Hart, Swim Prog	gram Employe	æ.		•		** ***	
Jehle	Emma	WM	Counselor	7/1/2016	\$11.14	Half Day	
Ms. Jehle is the Murphy JHS.	_	argaret Jeni	e, Clerk Typist,				
Litka	Kayleen	WM	Counselor	7/1/2016	\$9.67	Half Day	Current Student
Ms. Litka is the	daughter of Pa	atricia Ann l	Litka, SEA, Arrow	head.			Old College
Hourly rates are	subject to cha	inge based u	pon recommendat	ion at Reorg	on 7/13/16.		
New Hires							
McKeever	Кепту	WM	Counselor	7/1/2016	\$11.14	Substitute	Graduating
Rojas	Serena	WM	Counselor	7/1/2016	\$9.67	Full Day	Senior Current Student
Russell	Chloe	WM	Counselor	7/1/2016	\$11.14	Full Day	Diagotti
Singleton	Tracy	WM	Counselor	7/1/2016	\$11.14	Full Day	
Taylor	Dean	WM	Counselor	7/1/2016	\$9.67	Full Day	Current
Vilceus	Gamaell	WM	Counselor	7/1/2016	\$9.67	Full Day	Student Current Student
Mr. Vilceus is th		fatthew Vil-	ceus, Summer				Security
Recreation Emp Whelan	loyee. Mary Kate	WM	Counselor	7/1/2016	\$9.67	Substitute	Current Student

Paglia Marissa WM

Special Area Instructor/Cou

7/1/2016 \$14.09/\$ Half/Full 11.14*

Day

District Employee

*This recommendation contains revisions to a recommendation BOE approved on June 8th

Those identified as High School Students do not require fingerprinting.

Hourly rates are subject to change based upon recommendation at Reorg on 7/13/16.

APPOINTMENT TO NON-INSTRUCTIONAL SUMMER RECREATION PROGRAM

Food Service Worker

Nordberg, Julie

Last Name

On "as needed" basis Salary: \$11.88 per hour*

Title

Rate

Effective - July 5, 2016 - August 12, 2016

First Name

Building

SUMMER ESY PROGRAM APPOINTMENTS 2016

Effective

Maurer Thomas Arrowhead 7/5/16-8/12/16 SEA* \$15.00/hr *Ms. Rettig and Mr. Maurer were BOE approved on June 8, 2016 for substitute SEA positions. This recommendation is to revise their positions to SEA. Substitute Feldman Nan Arrowhead 7/5/16-8/12/16 Nurse \$25.00/hr Alberti Cathy July 5-Aug 12, Bus S15.00 \$15.00 Alberti Cathy July 5-Aug 12, Bus S15.00 \$15.00 Blatny Ivana July 5-Aug 12, Bus S15.00 \$15.00 Burger Susan July 5-Aug 12, Bus S15.00 \$15.00 Cambria Stacy July 5-Aug 12, Bus S15.00 \$15.00 Drosselmeier Theresa July 5-Aug 12, Bus S15.00 \$15.00 Gresch Maureen July 5-Aug 12, Bus S15.00 \$15.00 Haff Nicole July 5-Aug 12, Bus S15.00 \$15.00 Iannotto Kim July 5-Aug 12, Bus S15.00 \$15.00 Novak Eileen July 5-Aug 12, Bus S15.00 \$15.00 Portuallo Jean July 5-Aug 12, Bus S15.00 \$15.00
Substitute
Peldman Nan
Alberti Cathy July 5-Aug 12, Bus \$15.00 Blatny Ivana July 5-Aug 12, Bus \$15.00 Burger Susan July 5-Aug 12, Bus \$15.00 Cambria Stacy July 5-Aug 12, Bus \$15.00 Drosselmeier Theresa July 5-Aug 12, Bus \$15.00 Gresch Maureen July 5-Aug 12, Bus \$15.00 Canbria Stacy July 5-Aug 12, Bus \$15.00 Combria Stacy July 5-Aug 12, Bus \$15.00 Composed Monitor Monitor Composed Monitor Susan S
Blatny Ivana July 5-Aug 12, Bus \$15.00
Burger Susan July 5-Aug 12, Bus S15.00
2016 Monitor
Cambria Stacy July 5-Aug 12, 2016 Bus Monitor Monitor \$15.00 Drosselmeier Theresa July 5-Aug 12, 2016 Bus Monitor Monitor \$15.00 Gresch Maureen July 5-Aug 12, Bus Monitor \$15.00 Haff Nicole July 5-Aug 12, Bus Monitor Bus \$15.00 Iannotto Kim July 5-Aug 12, Bus Monitor Bus \$15.00 Novak Eileen July 5-Aug 12, Bus S15.00 Portuallo Jean July 5-Aug 12, Bus S15.00 Shecter Susan July 5-Aug 12, Bus S15.00
Drosselmeier Theresa July 5-Aug 12, 2016 Monitor Bus 2016 Monitor \$15.00 Monitor Gresch Maureen July 5-Aug 12, 2016 Monitor Bus Monitor \$15.00 Monitor Haff Nicole July 5-Aug 12, Bus Monitor \$15.00 Monitor Iannotto Kim July 5-Aug 12, Bus Monitor \$15.00 Monitor Novak Eileen July 5-Aug 12, Bus Monitor \$15.00 Monitor Portuallo Jean July 5-Aug 12, Bus Monitor \$15.00 Monitor Shecter Susan July 5-Aug 12, Bus Monitor \$15.00 Monitor
Gresch Maureen July 5-Aug 12, 2016 Bus Monitor Monitor \$15.00 Haff Nicole July 6-Aug 12, 2016 Bus Monitor \$15.00 Iannotto Kim July 5-Aug 12, Bus Monitor \$15.00 Novak Eileen July 5-Aug 12, Bus Monitor \$15.00 Portuallo Jean July 5-Aug 12, Bus Monitor \$15.00 Shecter Susan July 5-Aug 12, Bus Monitor \$15.00
Haff Nicole July 5-Aug 12, 2016 Bus 2016 \$15.00 Iannotto Kim July 5-Aug 12, 2016 Bus 315.00 Novak Eileen July 5-Aug 12, Bus 315.00 Portuallo Jean July 5-Aug 12, Bus 315.00 Shecter Susan July 5-Aug 12, Bus 315.00
Iannotto Kim July 5-Aug 12, 2016 Bus Monitor \$15.00 Novak Eileen July 5-Aug 12, Bus S15.00 Bus Monitor Portuallo Jean July 5-Aug 12, Bus S15.00 Bus S15.00 Shecter Susan July 5-Aug 12, Bus S15.00 Shecter
Novak Eileen July 5-Aug 12, 2016 Bus 2016 \$15.00 Portuallo Jean July 5-Aug 12, 2016 Bus 315.00 Shecter Susan July 5-Aug 12, Bus 315.00
Portuallo Jean July 5-Aug 12, 2016 Bus 215.00 Monitor Shecter Susan July 5-Aug 12, Bus \$15.00
Shecter Susan July 5-Aug 12, Bus \$15.00
2016 Monitor
Stursberg Cathy July 5-Aug 12, Bus \$15.00
Wegenaar Nancy 2016 July 5-Aug 12, Bus \$15.00
2016 Monitor
Woznicki Lucyna 2016 Monitor July 5-Aug 12, Bus \$15.00
Yasson Carol July 5-Aug 12, Bus \$15.00
Zager Cherie 2016 Monitor Zager Cherie July 5-Aug 12, Bus \$15.00 2016 Monitor

APPOINTMENT OF ELA SUMMER READING PROGRAM STAFF 2016-2017

Last Name	<u>First</u> <u>Name</u>	Assignments	Effective	Rate	Hours	Not to Exceed
Alkon	Patricia	SEA - Elementary Summer Reading Program	7/5 - 7/28, 2016	\$15.00	48	\$720.00
Buscemi	Susan	SEA - Elementary Summer Reading Program	7/5 - 7/28, 2016	\$15.00	48	\$720,00
Faughnan	Bridget	SEA - Elementary Summer Reading Program	7/5 - 7/28, 2016	\$15.00	48	\$720.00
Morgenstern	Geraldine	SEA - Elementary Summer Reading Program	7/5 - 7/28, 2016	\$15.00	48	\$720.00

^{*}Hourly rate is subject to change based upon recommendation at Reorg on 7/13/16.

Minutes of June 22, 2016

Mundy	Christine	SEA - Elementary Summer Reading	7/5 - 7/28, 2016	\$15.00	48	\$720,00
Palmer	Gena	Program SEA - Elementary Summer Reading	7/5 - 7/28, 2016	\$15.00	48	\$720.00
Roddin	Judi	Program SEA - Elementary Summer Reading	7/5 - 7/28, 2016	\$15.00	48	\$720.00
Wright	Barbara	Program SEA - Elementary Summer Reading Program	7/5 - 7/28, 2016	\$15.00	48	\$720.00

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: March 30, April 5, 6, 7, 8, 12, 18, May 5, 6, 9, 10, 12, 26, 31, June 2, 8, and 10, 2016

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: May 17, 24, 25, June 7, and 14, 2016 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST

There were no Informational Items of Interest.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mrs. Gische, and carried by a 4-0-0 vote to adjourn the meeting at 8:10 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk

THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JULY 13, 2016

Organizational Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on July 13, 2016 at 5:30 nm

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Komreich, Trustee Angelique Ragolia, Trustee

Members absent:

All were present

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Visitors

CALL TO ORDER

Mr. Connors called the meeting to order at 5:30 p.m.

MOVE INTO EXECUTIVE SESSION On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION

The meeting reconvened into open session at 7:35 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA

Addendum:

Item NNN.2 – (Non-Instructional Personnel) - Schedule B.11

Replacement Page:

- Item F Appointment of District Treasurer
- Item TT Approval of District-Wide School Safety Plan

STUDENT AND STAFF RECOGNITION Members and Coaches of the Boys Varsity Golf Team, Boys Varsity Lacrosse team, Varsity Girls Track 4 x 100 Relay Team, Gymnast Cydney Crasa, were recognized for participating in State finals.

ADMINISTRATION OF OATH

Administration of Oath of Office to Elected Board Members Kathy Sampogna, District Clerk, administered the Oath of Office to Board Members Elect Jonathan Kornreich and Angelique Ragolia.

Nomination and Election of President of the Board of Education 2016-2017 and Administration of the Oath of Office

to President

Mr. Connors requested nominations in accordance with Board of Education Policy for the office of President of the Board of Education and presided over the election.

Dr. Kerman nominated Mr. Connors as Board President, and Ms. Bavlnka seconded the nomination. No other nominations were made.

On motion by Dr. Kerman, seconded by Ms. Bavlnka, and carried by a 6-0-1 vote, with Mr. Connors abstaining, the Board voted to accept Mr. Connors as Board President for the 2016-2017 school year.

Mrs. Sampogna administered the Oath of Office to Mr. Connors.

Nomination and Election of Vice-President of the Board of Education 2016Mr. Connors requested nominations in accordance with Board of Education Policy for the office of Vice-President of the Board of Education and presided over the election.

Mr. Komreich nominated Mrs. Gische as Board Vice-President, and Ms. Bavlnka seconded the nomination. Mr. Connors called for other nominations. No other nominations were made.

2017 and Administration of the Oath of Office to Vice-President

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 6-0-1 vote, with Mrs. Gische abstaining, the Board voted to accept Mrs. Gische as Board Vice-President for the 2016-2017 school year.

Mrs. Sampogna administered the Oath of Office to Mrs. Gische.

Nomination and Election of District Clerk Pro-Tem 2016-2017 and Administration of the Oath of Office to District Clerk Pro-Tem Mr. Connors requested nominations in accordance with Board of Education Policy for the office of District Clerk Pro-Tem of the Board of Education and presided over the election.

Mr. Kornreich nominated Inger Germano as District Clerk Pro-Tem for the 2016-2017 school year. Ms. Bavlnka seconded the nomination. Mr. Connors called for other nominations. No other nominations were made.

On motion by Kornreich, seconded by Mrs. Gische, and carried by a 6-0-1 vote, with Ms. Germano abstaining, the Board voted to accept Ms. Germano as District Clerk Pro-Tem for the 2016-2017 school year.

Mrs. Sampogna administered the Oath of Office to Ms. Germano.

APPOINTMENT OF OFFICERS

Appointment of District Clerk 2016-2017 and Administration of Oath of Office to District Clerk Be it RESOLVED that the Board of Education appoint Kathleen Sampogna as District Clerk of the Board of Education for the 2016-2017 school year and,

Be if further RESOLVED that the Board of Education approve its agreement with the District Clerk, Kathleen Sampogna, effective July 1, 2016 through June 30, 2017, pursuant to the terms and conditions set forth in the agreement, and authorize the Board President to sign the agreement.

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Mr. Connors administered the Oath of Office to Mrs. Sampogna.

Appointment of District Treasurer 2016-2017 Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint Elizabeth Fleming to serve as District Treasurer for the fiscal year ending June 30, 2017.

Be it further RESOLVED that the Board of Education approve its agreement with the District Treasurer, Elizabeth Fleming, effective July 1, 2016 through June 30, 2017, pursuant to the terms and conditions set forth in the agreement, and authorize the Board President to execute same.

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Deputy District Treasurer 2016-2017 Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint the Secretary to the Superintendent to serve as Deputy District Treasurer for the fiscal year ending June 30, 2017, at no additional compensation.

On motion by M. Germano seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of District Claims Auditor 2016-2017 Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint the firm Cerini & Associates, LLP to serve as Claims Auditor for the fiscal year ending June 30, 2017 at a maximum rate of \$30,420.00 as put forward in their submitted proposal dated June 2, 2016.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Appointment of DASA Coordinator 2016-2017 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the appointment of Catherine Taldone as the District DASA Coordinator, and a principal and social worker from each building as Building DASA Coordinators for the 2016-2017 school year.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

OTHER APPOINTMENTS

School District Appointees Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the designation of the following individuals as school district appointees for the 2016-2017 school year:

<u>Position</u> Purchasing Agent	Officer Christine Governale	Compensation At no additional cost
WMHS Allied Accounts Treasurer and Signatory	Susan Burger	\$8,189.00 per year
Designated Additional Signatory	Building Principal	At no additional cost
Gelinas JHS Allied Accounts Treasurer and Signatory	Leanne Perry	\$2,964.00 per year
Designated Additional Signatory	Building Principal	At no additional cost
Murphy JHS Allied Accounts Treasurer and Signatory	Beverly Gilmore	\$2,964.00 per year
Designated Additional Signatory	Building Principal	At no additional cost
Elementary Allied Accounts Signatory Certification of Payroll	Elizabeth Fleming Superintendent or Asst. Superintendent for Business Services	At no additional cost At no additional cost
Records Management Officer	Natalie Ruvolo	At no additional cost
Records Access Officer	District Clerk	At no additional cost
Records Appeal Officer	Superintendent	At no additional cost
0	.1.11 D W 1	. 11

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Internal auditor 2016-2017 Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint the firm of Nawrocki Smith, LLP, CPAs, to serve as the Internal Auditor for the fiscal year ending June 30, 2017, pursuant to Section 2116(b) of the NY State Education Law and Section 170.12 of the Commissioner's Regulations, as per the attached engagement letter.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Auditor for Preparation of Annual Financial Statements Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education appoint the firm of R.S. Abrams & Co., LLP to serve as Auditor for the preparation of the Annual Financial Statements for the year ending June 30, 2017, as per the proposal.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Claims Administrator for Workers' Compensation Self-Insured Program Upon recommendation of the Superintendent of Schools be it RESOLVED that Wright Risk Management, Inc. be appointed as claims administrator for the district's self-insured workers' compensation program at a cost of \$26,785.20 for the 2016-2017 school year.

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of District Representative for the Suffolk School Employees Health Plan 2016-2017 Upon recommendation of the Superintendent of Schools be it RESOLVED that Jeffrey Carlson be appointed as the district representative for the Suffolk School Employees Health Plan for the 2016-2017 school year.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of General Counsel 2016-2017 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education appoint Guercio & Guercio, LLP as General Counsel for the period July 1, 2016 through June 30, 2017 pursuant to terms set forth in the agreement dated and approved by the Board of Education on July 7, 2015.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Labor Counsel 2016-2017 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education appoint Guercio & Guercio, LLP as Labor Counsel for the period July 1, 2016 through June 30, 2017 pursuant to terms set forth in the agreement dated and approved by the Board of Education on

July 7, 2015.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Security Management Consultant Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education appoint the firm of Island Compliance Corporation to provide professional services for district-wide security management for the period beginning July 1, 2016 through June 30, 2017 at an annual rate of \$92,700.00.

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of State Aid Specialist Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education appoint the firm of School Aid Specialists, LLC to assist the district in maximizing state aid in all areas of Special Education Funding and facilitating the preparation and submission of various forms and schedules relating to state aid. The cost for these services is \$70, 231, insignificant when considered with the revenue realized, with no additional fees.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Board of Registration 2016-2017 Be it RESOLVED that the Board of Education hereby designates the following qualified voters of the District to serve as members of the Board of Registration for the 2016-2017 school year:

- Lisa Brellis
- Kathleen Kerr
- Agatha Meadows
- Blake Edwards

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Title IX Officer Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the appointment of Dr. Gary Dabrusky as Title IX Officer be approved, effective July 1, 2016 through June 30, 2017.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of §504 Compliance Officer

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the appointment of Kevin Scanlon as §504 Compliance Officer approved effective July 1, 2016 through June 30, 2017.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of School Physicians and School Medical Inspector, approval of 2016-2017 Examination and Fee Schedule Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the list of school physicians and their assignments, and the 2016-2017 examination and fee schedule.

It is further recommended that the Board of Education approve the appointment of Dr. Howard Sussman, 1 Alilah Place, Miller Place, N.Y. 11764 as school medical inspector effective September 1, 2016 through June 30, 2017.

Following review the following physicians and physician's assistants are recommended for appointment.

The fee schedule for the 2016-2017 school year, is recommended for approval by the Board of Education.

2016-2017 Physicians & Physician Assistants

Vincent Sperandeo 2 William Street East Setauket NY 11733 (O) 278-4702 (C) 626-5496 Hayley Queller, M.D., P.C. 233 Chestnut Street Port Jefferson Sta., NY 11776 (O) 689-6698 (C) 516-480-3185 Janice Moldashel, M.D 17 Archer Drive Stony Brook, N.Y. 11790 (H) 689-8264

Dr. Dimos Kanakoudas 3400 Nesconset Hwy, Ste102 Setauket, N.Y. 11733 (O) 751 5700 James Dragone, M.D. 4 Old Field Place East Setauket, N.Y. 11733 (O) 724-1331 (H) 689-8477 William Robbins, M.D. 4 Meadow Dr. Stony Brook, N.Y. 11790 (H) 751-7249 (C) 804-3211

Scott Gressin, P.A. Philip Schrank, M.D., P.C. Howard Sussman, M.D. 6 Julia Circle 5 Schooner Cove 1 Alilah Place E. Setauket, N.Y. 11733 Setauket, N.Y. 11733 Miller Place, N.Y. 11764 (H) 474-0157 (O) 689-6698 (O) 444-2300 (C) 897-5872 (H) 751-5907 (H) 689-6145 (C) 516-642-6504 (C) 236-7830 Kamalpreet Buttar, MD Brian McGinley, M.D. Frederick Caston, MD 18 Caterham Lane 7 Alicia Court 4 Samuel Court Setauket, N.Y. 11733 Stony Brook, N.Y. 11790 Sysosset, N.Y. 11791 (O) 474-0008 (H) 751-7829

Sports Medicine of Stony Brook Orthopaedic Associates at Stony Brook:

Brian Cruickshank, MD James Paci, MD James Penna, MD Angelo Rizzi, RPA-C

(C) 921-1790

***Dr. Philip Schrank &Dr. Haley Queller also serve as Chief Medical Officers for concussion clearance only.

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Assignments of School Physicians

Arrowhead Elementary School Setauket Elementary School

To Be Determined

To Be Determined

Minnesauke Elementary School

P.J. Gelinas Junior High School

To Be Determined

To Be Determined

Nassakeag Elementary School

Ward Melville High School

To Be Determined

To Be Determined

Chief School Physician: Howard Sussman

Physician to Committee on Special Education: Howard Sussman Physician to Committee on Pre-School Education: Howard Sussman

School Medical Inspector: Howard Sussman

2016-2017 EXAMINATION AND FEE SCHEDULE

Chief School Physician Fee \$15,000

Physician to Committee on Special Education

\$2,500.00

Fee

\$200.00 per meeting

School Medical Inspector Fee \$250.00-\$325.00(depending

on length of visit and length

of report.

Student physical examination:

 Individual
 \$15.50

 Group
 \$10.00

 Review of private physician examination
 \$7.00

 Review of Concussion Clearance / Return to play
 \$7.00

Work permit examination:

Individual.\$15.50Group\$8.00

Employee physical examination fee \$45.00

Emergency treatment at football games:

Physicians \$200.00 per game
Physicians Assistants \$150.00 per game

Appointment of Committees on Special Education 2016-2017 Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the appointments on the attached list for the Committees on Special Education for the 2016-2017 school year.

Committees on Special Education - 2016/2017

The Committee on Special Education will be composed of:

Chairpersons

Sandy Greenstein, District CSE Chairperson - (LEA)

Dawn Mason, Executive Director of Pupil Personnel Services - (LEA) Patricia Fore, Assistant Director of Pupil Personnel Services - (LEA)

Laurance Marino, Coordinating Chairperson of Special Education - (LEA)

Mary Lynch, Psychologist - (LEA)

Lolita Portal-Pfeffer, Psychologist – (LEA) Lauren Rebore, Psychologist – (LEA)

Jose Salazar, Psychologist – (LEA) Heather Salas, Psychologist – (LEA)

Laurie Levenberg, Speech Language Pathologist - (LEA)

Maureen Reyes, SEIST - (LEA) Elizabeth Forese, Special Education Teacher - SEIST - (LEA)

Dawn Alexander, Special Education Teacher - (LEA)

Psychologists

Mary Lynch, Psychologist Jose Salazar, Psychologist aurance Marino, Psychologist

Lolita Portal-Pfeffer, Psychologist Heather Salas, Psychologist Lauren Rebore, Psychologist Kelly McCabe-Fitch, Psychologist Jennifer Stevens, Psychologist

Michelle Lambert, Psychologist Christopher Deeg, Psychologist Katherine Nash, Psychologist Nicole Nickerson, Psychologist

Parent Members CSE K-12 (with notice) Debra Saunders/Parent - Rotating Marisela Staller/ Parent - Rotating Debra Bowling/Parent - Rotating

David Okrent/Parent - Rotating Karen Roughly/Parent - Rotating Jeannette Fresolone/Parent - Rotating Gia Brennan/Parent - Rotating Sandra Miller/Parent - Rotating Ann Fitzmaurice/Parent - Rotating

Physician

Dr. Howard Sussman

Parent of the Child

Special Education Teacher or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education) whenever appropriate, the student with a disability

District-wide Subcommittees on Special Education

2016/2017

District-wide building subcommittees on special education will be chaired by:

Sandy Greenstein/Heather Salas/Laurance Marino/Patricia Fore/Mary Lynch/Maureen Reyes/Lauri Levenberg/Lolita Portal-Pfeffer/Liz Forese/Carol Doherty/Rene LaScala/Eleni Homenides/Susan Berman/Jose Salazan/Kelly McCabe-Fitch/Virginia McCaffrey, Dawn Mason

Building Subcommittees on Special Education - 2016/2017

The Subcommittees on Special Education will be composed of:

Arrowhead Elementary School

Sandra Greenstein, Chairperson

Dawn Mason, Chairperson Patricia Fore, Chairperson

Laurance Marino, Chairperson

Eleni Homenides, Chairperson - (Alternates - Maureen Reyes/Susan Berman/Rene LaScala/Carol Doherty)

Nicole Nickerson, Psychologist - (Alternates - Michelle Lambert /Lauren Rebore/Christopher Deeg/Laurance Marino/Jose

Salazar/Mary Lynch/Heather Salas/Kelly McCabe-Fitch/Lolita Portal-Pfeffer/Katherine Nash/Jennifer Stevens)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education) Whenever appropriate, the student with a disability

Mount Elementary School:

Sandy Greenstein, Chairperson

Patricia Fore, Chairperson

Laurance Marino, Chairperson Dawn Mason, Chairperson

Maureen Reyes, Chairperson (Alternates - Rene LaScala/Carol Doherty/Susan Berman/Eleni Homenides)

Katherine Nash, Psychologist - (Alternates - Michelle Lambert/Nicole Nickerson /Lolita Portal-Pfeffer/Lauren

Rebore/Laurance Marino/Jose Salazar/Mary Lynch/Heather Salas/Kelly McCabe-Fitch/Jennifer Stevens/Christopher Deeg)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Minnesauke Elementary School

Sandy Greenstein, Chairperson Patricia Fore, Chairperson

Laurance Marino, Chairperson Dawn Mason, Chairperson

Carol Doherty, Chairperson - (Alternates -Rene LaScala/Susan Berman/Eleni Homenides/Maureen Reyes)

Christopher Deeg, Psychologist - (Alternates - Nicole Nickerson/Lolita Portal-Pfeffer/Michelle Lambert/Laurance Marino/Jose

Salazar/Mary Lynch/Heather Salas/Kelly McCabe-Fitch/Jennifer Stevens/Katherine Nash/Lauren Rebore) Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

```
Nassakeag Elementary School
Sandra Greenstein, Chairperson
Patricia Fore, Chairperson
 Laurance Marino, Chairperson
 Dawn Mason, Chairperson
 Rene LaScala, Chairperson (Alternates - Carol Doberty/Sue Berman/Maureen Reyes/Eleni Homenides)
Jennifer Stevens, Psychologist – (Alternates-Christopher Deeg/Michelle Lambert/Lolita Portal-Pfeffer/Lauren Rebore/
Laurance Marino/Jose Salazar/Mary Lynch/Heather Salas/Kelly McCabe-Fitch/Jennifer Stevens/Katherine Nash/Nicole
Nickerson)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education)
Whenever appropriate, the student with a disability
Setauket Elementary School
Sandra Greenstein, Chairperson
Patricia Fore, Chairperso
Laurance Marino, Chairperson
Dawn Mason, Chaimerson
Susan Berman, Chairperson - (Alternates - Carol Doherty/Rene LaScala/Eleni Homenides/Maureen Reyes)
Lauren Rebore, Psychologist – (Alternates – Nicole Nickerson/Christopher Deeg/Laurance Marino/Jennifer Stevens/Kelly McCabe-Fitch/Lolita Portal-Pfeffer/Jose Salazar/Heather Salas/Mary Lynch/Michelle Lambert/Katherine Nash)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education)
Whenever appropriate, the student with a disability
Gelinas Junior High School
Sandra Greenstein, Chairperson
Patricia Fore, Chairperson
Dawn Mason, Chairperson
Laurance Marino, Chairperson (Alternates - Patricia Fore/Dawn Mason)
Kelly McCabe-Fitch, Chairperson/Psychologist - (Alternates - Heather Salas/Mary Lynch/Laurance Marino/Jose Salazar/Lolita
Portal-Pfeffer)
Kelly McCabe-Fitch, Psychologist (Alternates - Lauren Rebore/Christopher Deeg/Karen Nicole Nickerson/Michelle
Lambert/Jennifer Stevens/Katherine Nash)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education)
Whenever appropriate, the student with a disability
Murphy Junior High School
Sandra Greenstein, Chairperson
Patricia Fore, Chairperson
Dawn Mason, Chairperson
Laurance Marino, Chairperson - (Alternates - Patricia Fore/Dawn Mason)
Lolita Portal-Pfeffer, Chairperson/Psychologist - (Alternates - Jose Salazar/Laurance Marino/Heather Salas/Mary Lynch/
Kelly McCabe-Fitch)
Lolita\ Portal-Pfeffer,\ Psychologist-(Alternates-Lauren\ Rebore/Christopher\ Deeg/Nicole\ Nickerson/Michelle\ Nickerson/Michelle\ Nicole\ Nickerson/Michelle\ Nicole\ Nicol
Lambert/Jennifer Stevens/Katherine Nash)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education).
Whenever appropriate, the student with a disability
Ward Melville High School
Sandy Greenstein, Chairperson
Laurance Marino, Chairperson
Dawn Mason, Chairperson
Virginia McCaffrey, Chairperson - (Alternates — Heather Salas/Mary Lynch/Patricia Fore)
Jose Salazzr, Chairperson/Psychologist - (Alternates - Heather Salas/Laurance Marino/Lolita Portal-Pfeffer/Mary Lynch/Kelly
Heather Salas, Chairperson/Psychologist - (Alternates -Mary Lynch/Jose Salazar/Laurance Marino/ Lolita Portal-Pfeffer/Kelly
McCabe-Fitch)
Jose Salazar, Psychologist – (Alternates - Lauren Rebore/Christopher Deeg/Nicole Nickerson/Jennifer Stevens/Katherine Nash)
Heather Salas, Psychologist – (Alternates - Lauren Rebore/Christopher Deeg/Nicole Nickerson/Jennifer Stevens/Katherine
Nash)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education)
Whenever appropriate, the student with a disability
Three Village Academy
Sandy Greenstein, Chairperson (Alternate - Patricia Fore/Laurance Marino)
Mary Lynch, Chairperson/Psychologist - (Alternates - Heather Salas/Laurance Marino/Lolita Portal-Pfeffer/Kelly McCabe-
Fitch/Jose Salazar)
Parent of the Child
Special Education Teacher and/or Related Service Provider of such Student
Regular Education Teacher of such Student (if student is or may be participating in regular education)
Whenever appropriate, the student with a disability
Committees on Preschool Special Education - 2016/2017
The Committee on Preschool Special Education will be composed of the following:
Lauri Levenberg, Chairperson - (Alternates -Mary Lynch/Sandy Greenstein/Maureen Reyes/Rene LaScala)
Sandra Greenstein, Chairperson
Rene LaScala, Special Education Educator
Maureen Reyes, Speech Pathologist
```

Parent of the Child

Parent Members - CPSE

Catherine Brennan/Parent Member - Rotating Reanna Fulton/Parent Member - Rotating Marilyn Eilenbergen/Parent Member - Rotating Concetta Tina Zaccaria Cioffi/Parent Member/Rotating

Special Education Teacher or Related Service Provider of such student

Regular Education Teacher of such student (if student is or may be participating in regular education)

If applicable, a certified or licensed professional designated by the agency charged with the responsibility for the child in the 'birth to two' system must attend

'birth to two' system must attend

A professional who participated in the evaluation of the child or a professional employed by the district who is knowledgeable about evaluations

Whenever appropriate, the student with a disability

An appropriate, certified/licensed professional from the municipality

Surrogate Parent for 2016/2017

Margaret Tomasicchio

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Unemployment Insurance Services Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the appointment of Industrial U.I. Services be approved as unemployment representatives specializing in unemployment insurance cost control, effective July 1, 2016 through June 30, 2017. Fee for services rendered is \$5,600.00 per annum to be billed quarterly at the rate of \$1,400.00.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Items for Board Discussion

Policy

Be it RESOLVED that the Board of Education accept the following Policies delineated below:

2120 - School Board	Policy #	Policy Title
Elections; 2342-E		
Agenda Preparation and Dissemination	2120	School Board Elections
Exhibit; 4750 –	2342-E	Agenda Preparation and Dissemination Exhibit
Promotion and	4750	Promotion and Retention of Students
Retention of Students;	5140	Entrance Age
5140 – Entrance Age; 5152 – Admission of	5152	Admission of Non-Resident Students
Non-Resident Students:	5220	School-Sponsored Student Expression
5220 - School-	5251	Student Fund Raising Activities
Sponsored Student	5251-R	Student Fund Raising Activities Regulation
Expression; 5251 Student Fund Raising	5300.30	Code of Conduct - Reporting Violations
Activities; 5251-R –	5431	Suicide Prevention
Student Fund Raising	6720-R	Competitive Bidding Procedures Regulation
Activities Regulation;	8130	School Safety Plans and Teams
5300.30 - Code of Conduct - Reporting		(Current title is Emergency Plans)
Violations: 5431 –	8130-R	Individual Emergency Care/Safety Plans Regulation
Suicide Prevention;		(Current title is Emergency Plans Regulation)
6720-R Competitive		, 3, 4, 0, 7
Bidding Procedures	On motion by Ms. Ger	mano, seconded by Mrs. Gische, and carried by a 7-0-0 Vote. I

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 Vote, Policies 2120, 2342-E, 4750, 5152, 5220, 5221, 5251-R, 5300.30, 5431, 6720-R, 8130, and 8130-R are approved as final and Policy Number 5140 – Entrance Age, is moved to Information Second Reading.

Statement of Assurances and Disclosure of Interest by Board of Education Members

Regulation; 8130 -

School Safety Plans

and Teams (Current title is Emergency Plans); and, 8130-R – Individual Emergency Care/Safety Plans Regulation (Current title is Emergency Plans Regulation)

RESOLVED, that the following Board of Education Members for the 2016-2017 school year have submitted their fully executed Statements of Assurance and attest for the public record that they do not have any prohibited conflicts of interest under §806 of the General Municipal Law and the Three Village Board of Education Policies 2160 School District Officer and Employee Code of Ethics, 2160-R Code of Ethics Regulation and 2170 Board Member Conflict of Interest.

Deanna Bavlnka
William F. Connors, Jr.
Inger Germano
Irene Gische
Jeffrey Kerman
Jonathan Komriech
Angelique Ragolia

and,

RESOLVED, that the following Board Members have provided their statements of any interests attached and to be recorded in the official minutes of the meeting.

William F. Connors, Jr. Jeffrey L. Kerman Jonathan Kornreich

FURTHER RESOLVED, that the District's attorney, John Sheahan of Guercio & Guercio, has determined that there is no pecuniary relationship, and their income/personal/business relationship will not affect their position on the Board, therefore there is no conflict of interest.

On motion by Ms. Germano seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Board Member Liaison and Standing Subcommittee Positions 2016-2017 Be it RESOLVED that the Board member liaison positions be as follows for the 2016-2017 school year:

Arrowhead Elementary School Minnesauke Elementary School Mount Elementary School Nassakeag Elementary School Setauket Elementary School Gelinas Junior High School Murphy Junior High School Ward Melville high School PTA Council

William F. Connors., Jr.
Angelique Ragolia
Angelique Ragolia
Deanna Bavlnka
Irene Gische
Jonathan Kornreich
Inger Germano
Jeffrey Kerman
Board Trustees to attend on

Board Trustees to attend on a rotational basis Board Trustees to attend on a rotational basis

Be if further RESOLVED that the Board of Education establish the following standing subcommittees of the Board for the 2016-2017 school year:

Facilities: Jeffrey Kerman*, William F. Connors, Jr., and Angelique Ragolia

Audit: Jonathan Kornreich*, William F. Connors, Jr., and Jeffrey Kerman

Policy: Irene Gische*, Deanna Bavlnka, and Inger Germano

*Committee Chairperson

SEPTA

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Banks as Depositories for School District Funds for 2016-2017 Fiscal Year Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the designation of the following banks as depositories for school district funds for the 2016-2017 fiscal year:

- J.P. Morgan Chase Bank
- · Capital One
- Gold Coast Bank
- Flushing Bank

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Official Newspapers 2016-2017 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education designate the following newspapers as official newspapers for the district for the purpose of filing legal notices for the 2016-2017 school year:

- Newsday
- The Village Times Herald
- · Long Island Business News

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Designation of Authorized Signatures on Checks 2016-2017 Upon recommendation of the Superintendent of Schools be it RESOLVED that the District Treasurer be designated as the authorized signature on checks; in the absence of the District Treasurer, the Deputy District Treasurer be designated as the authorized signature on checks and further, that all checks in excess of \$15,000 except payroll checks, be co-signed by the Superintendent or, in his/her absence, the Superintendent's designee, the Assistant Superintendent for Educational Services for the 2016-2017 school year. The second signatory cannot be a direct supervisor of the first signatory, and the second signature must be an actual signature, not a computer generated signature.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved

the resolution as presented.

Designation of Time and Place of Board of Education Meetings 2016-2017 Be it RESOLVED that the Board of Education conduct its meetings at the North Country Administration Center, Board of Education Meeting Room as indicated on the list titled "Three Village Central School District Board of Education Meetings and Budget Meetings 2016-2017 School Year".

Dates of the scheduled meetings and any subsequent special meetings shall be published in accordance with Policy 2340 – Notice of Meetings.

The opening time of the meetings is typically 6:00 pm. It is customary to expect that the Board of Education will adjourn immediately into Executive Session to conduct confidential business under §105 of the Open Meetings Law, with the public meeting expected to reconvene at 7:30 pm.

Date	<u>Day</u>	Purpose	Location
July 13, 2016	Wednesday	Board of Education	NC Admin
August 24, 2016	Wednesday	Organizational Meeting Board of Education Meeting	NC Admin
September 7, 2016	Wednesday	Board of Education Meeting	NC Admin
September 21, 2016	Wednesday	Emma S. Clark Library Budget Vote	Emma S. Clark Library
September 28, 2016	Wednesday	Board of Education Meeting	NC Admin
October 19, 2016	Wednesday	Board of Education Meeting	NC Admin
November 2, 2016	Wednesday	Board of Education Meeting	NC Admin
November 16, 2016	Wednesday	Board of Education Meeting	NC Admin
November 23, 24 and 25, 2016	Wednesday-Friday	Thanksgiving Recess	
December 7, 2016	Wednesday	Board of Education Meeting	NC Admin
December 26-30, 2016 January 11, 2017	Monday - Friday Wednesday	Winter Recess Board of Education Meeting	NC Admin
January 25, 2017	Wednesday	Board of Education Meeting	NC Admin
February 8, 2017 February 20 –24, 2017	Wednesday Monday – Friday	Board of Education Meeting Mid-Winter Recess	NC Admin
March 8, 2017	Wednesday	Board of Education Meeting/Review of Preliminary Financial Plan/Budget	NC Admin
March 17, 2017	Friday	Last Day to file Petitions for presentation on the Ballot for May 16 Annual Vote	NC Admin
March 22, 2017	Wednesday	Board of Education Meeting/Review of Preliminary Financial Plan/Budget	NC Admin
April 5, 2017	Wednesday	ESBOCES Annual Meeting	James Hines Admin Center
April 5, 2017	Wednesday	Board of Education Meeting/Budget Review and	NC Admin
April 17, 2017	Monday	Adoption of Budget Last day to file petitions for Board Election and District Propositions	
April 10 – 17, 2017 April 19, 2017	Monday Monday Wednesday	Spring Recess ESBOCES Annual Budget Vote and Board Election	
April 26, 2017 April 26, 2017	Wednesday Wednesday	Board of Education Meeting Deadline for Budget to be	NC Admin All District
May 1, 2017	Monday	available for public inspection PTA Meet the Candidates Night	Buildings/ Website WMHS
May 3, 2017	Wednesday	Voter Registration Day with	WMHS
May 3, 2017	Wednesday	Board of Registry Board of Education Meeting/Public Hearing	RC Murphy
May 4, 2017 (deadline)	Wednesday	(presentation only) Adopted Financial Plan/Budget Six Day Notice mailed to	
May 16, 2017	Tuesday*	residents Annual Meeting (Budget Vote and Board Election/ Certification	Voting Sites and NC Admin
June 14, 2017	Wednesday	of Vote and Election) Board of Education Meeting	NC Admin
June 20, 2017	Tuesday	Budget Revote day (if necessary)	Voting Sites and NC Admin
June 23, 2017	Friday	Last Day of School	Commit
July 12, 2017	Wednesday	Board of Education Organizational Meeting	NC Admin

August 23, 2017 Wednesday Board of Education Meeting NC Admin

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of School Board Memberships

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve memberships in the following organizations for the 2016-2017 school year.

Association/Organization	Estimated Annual Fee
Nassau-Suffolk School Boards Association	\$4,000.00
New York State School Boards	\$12,500.00
Association	

National School Boards Association \$4,200.00 SCOPE \$3,500.00

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Establishment of Petty Cash Funds 2016-2017

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the establishment of petty cash funds for the 2016-2017 school year, as follows:

•	Administration	Cheryl Pedisich Superintendent	\$100.00
•	Board of Education	Kathleen Sampogna District Clerk	\$100.00
•	Summer Recreation	Erin Blaney Assistant Director K-9 HPERA	\$500.00
•	Three Village Academy	Gus Hueber Principal	\$100.00

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of Participation in the Annual School Breakfast and Lunch Programs and the Free and Reduced Breakfast and Lunch Programs Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education renew participation in the National School Breakfast and Lunch Programs, as well as the Free and Reduced Price Lunch Policy and Income Eligibility Guidelines for the 2016-2017 school year, and that the President of the Board of Education be authorized to execute all agreements relating thereto.

Upon recommendation of the Superintendent of Schools, be it further RESOLVED that the Board of Education adopt an elementary school lunch price of \$2.50 and a secondary school lunch price of \$3.00 for the 2016-2017 school year

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as revised

Approval of Contract with Emma S. Clark Library for Library Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve an agreement between the Three Village Central School District and the Emma S. Clark Memorial Library for the provision of free library services effective August 1, 2016 through July 31, 2017; and be it further resolved that the President of the Board of Education be authorized to execute said agreement.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Impartial Hearing Officers 2016-2017 Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education adopt the roster of eligible hearing officers to conduct special education impartial hearings for the 2016-2017 school year.

Last Name	First Name
Heidelberger	Jonathan
Itzla	Amy
Joyner	Theresa
Kandilakis	George
Keefe	Jeanne
Kehoe	Martin
Kestenbaum	Elise
Lassinger	Dora
Lazan	Michael
Lederman	Nancy
Lushing	Susan

Mckeever James Millman Tina Monk James Christine Moore Murphy Leah John Naun Nisely Robert Mary Peters Gary Kenneth Peters Reichel Heidi Richmond Susan Ritzenberg Kenneth George Roberts Roth Roslyn Jerome Martin Schad Schiff Schiro Jeffrey Schneider Judith Silver Marjorie Tessler Craig Venezia Arthur Walsh James Walsh Marion Wanderman Carl Washington Denise Weiner Marc Mindy Wolman Joel Ziev Albert Peter Almelch Lynn Barbour Susan Stuart Bauchner Brandenburg Wendy Brandow Regina Robert Briglio Bumbalo Paul Cohen Diane Cutler-Igoe Ellen Dewan Debra Ebenstein Barbara Farago John Feinherg Rona Finkelstein Sharvo Flame Haken Steve

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Designate Impartial Hearing Officer -- 2016-2017 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education authorize its president, or in the absence of the president, the vice president, to act on its behalf between scheduled meetings to appoint an Impartial Hearing Officer who is the next individual on the rotational list as designated by the NYSED.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Sign STAC Forms and Reports Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education authorizes the Assistant Superintendent for Educational Services to sign STAC forms and reports, and that the Executive Director for Pupil Personnel Services be designated as an alternate authorizing signatory for the 2016-2017 school year.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Policies 2016-2017 Be it RESOLVED that the Board of Education adopt the following Policies as delineated below:

- 5300 Code of Conduct
- 6240 Investments
- 6700 Purchasing
- 6710 Purchasing Authority

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of OMNI 403(b) Services Agreement Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education approve the Renewal of the OMNI 403(b) Services Agreement for the 2016-2017 school year. The annual administrative fee will remain unchanged at \$1,500 for all P3 (Preferred Provider Program) participants and \$36 for each non-P3 participants.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Job Titles Requiring Use of a District Cell Phone Upon recommendation of the Superintendent of Schools be it RESOLVED that the following job titles be approved for use of a district cell phone in order to administer responsibilities of the position:

responsibilities of the position

Network Administrator Transportation Coordinator Asst. Plant & Facilities Administrator Plant & Facilities Administrator Head Groundsman
Safety & Security Coordinator
(3) Maintenance Mechanics
Head Maintenance

N Converte

(2) Security

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

BIDS

Bid

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education reject all bids.

 Bid Title
 Bid Number

 2014 Bond Issue – Phase 3
 C-2365

 (SED# 58-02-01-06-0-002-029/ SED# 58-02-01-06-0-006-028)

Contract #1 -Sitework Reconstruction

Contract #1A - Exterior Masonry Reconstruction

Contract #2 - Window Replacement Contract #3 - General Construction Contract #4 - Plumbing Reconstruction Contract #5 - HVAC Reconstruction Contract #6 - Electrical Reconstruction

On motion by Dr. Kerman, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Bid Extension/ Renewal Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award an extension period of one year to the current successful vendor for the above bid.

Bid Title Bid Number
Child Nutrition Uniforms 2322

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

ITEMS FOR BOARD ACTION

Emma S. Clark Memorial Library Budget Vote Whereas, the Board of Trustees of the Emma S. Clark Memorial Library, a free association library membership corporation duly licensed by Board of Regents of the State of New York, and which organization operates a library within this school district, has requested the Board of Education conduct a special meeting for the purpose of presenting its budget to the voters of the school district,

Now, therefore, be it RESOLVED that the Board of Education hereby authorizes the District Clerk to call a special meeting of the voters of this District, in accordance with the provisions of the Education Law as amended, for the purpose of voting on the Emma S. Clark Memorial Library budget for the year 2017, that in accordance with the request made by the Board of Trustees of said library, a special meeting will be held in the Emma S. Clark Memorial Library, Main Street, Setauket, on September 21, 2016 between the hours of 10:00 am and 9:00 pm, and that all costs in connection with the calling and holding of such special district meeting be paid by the Emma S. Clark Memorial Library.

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

New Course Proposal for 2016-2017 Mr. Scanlon presented the New Course Proposal report.

Department Sponsor	New/ Revised Grade Level	Name/ Description	Staff Needs	Material Cost	Curriculum Project	Approved Yes/No	NCAA Yes/No
Business A. Baum	Elective 10-12 Regents/ Honors	App Development This purpose of this course is to explore how to effectively design and develop a	None	None	Yes		To Be Determined

concept and from it, an app (or other software). Using an MITsupported platform, students will learn how to use App Inventor as a tool within the design process; how to apply concepts & skills that will eventually allow build-out of an app idea. This course will fully integrate technology into the classroom allowing students of all abilities to conceptualize, design, test, modify, and fully create applications for the Android platform. No prior computer or programming experience is necessary.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of District-Wide School Safety Plan Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the District-Wide School Safety Plan, as revised on June 21, 2016 and appoint Jack Blaum as the Chief Emergency Officer.

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

 A check in the amount of \$250,00 donated by Kristianna Martindale to be used towards the restoration of the Nature preserve at Mount Elementary school.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of District Committees

Be it RESOLVED that the Board of Education, upon the recommendation of the Superintendent of Schools, hereby approves the formation of the committees listed on the schedule as per Board of Education Policy 2250 – Board Committees and Board of Education Policy 2260 – Advisory Committees to the Board.

Name of	Description	<u>State</u>	Committee	Number	<u>Number</u>	Number of	Frequency
<u>Committee</u>		<u>Mandated</u>	Composition	o <u>f</u>	<u>of</u>	Parents/	of
		Y/N	<u>Requirement</u>	Teachers/	<u>Admin.</u>	Community	Meetings
			<u> Y/N</u>	<u>Staff</u>		Rep.	(Yearly)
Alternative	Sub-Committee of	N	N	17	12	4	3
Education	Program Review						
	created to design						
	and guide the						
	alternative school						
	program.						

Buily Prevention	Committee created in an effort to provide for district-wide	N	N	12	6	4	2
	efforts to address bully prevention, DASA, and PBIS and share resources and						
	provide updates on other relevant issues, i.e. transgender and explore new						
	concerns that may arise.						
Calendar Committee	Committee established to develop recommendation to the Board of Education for the	N	И	8	8	2	1
Code of	district calendar Committee	Y	Y	1	9	1	1
Conduct	developed in respect to Education Law,						
	sections 11(1) and (2) and 2801(1), dictating that a						
	written code of conduct must be adopted and enforced. Such a						
	code shall be developed and reviewed in						
	collaboration with student, teacher, administrator, and						
	parent organizations, school safety						
	personnel and other school						
Curriculum	personnel. Board Policy and	N	N	14	12	0	5
Development (CDC)	Regulations (4200) requires the review of all						
	course proposals and curriculum						
Emergency Management	writing projects. District-wide team that addresses	Y	Y	2	13	4 * police and	4 and as needed
Team	policies and procedures for response to emergency					fire personnel	
	situations, evacuation, lockdown,						
	lockout, postvention, etc.						
Grading	Reviews all grading issues and makes	N	N	10	13	0	Ad Hoc
	recommendations to the BOE.						
Interview	Advisory Committee for required staff and	N	И	TBD	TBD	0	Ad Hoc
	administrative positions						
Math	Sub-Committee of CDC provides turn-key training	N	N	15	0	0	5
	for the elementary math program.						

- 4	- tu		37	•	11	•	4
Professional Development	The committee plans and approves professional development activities and prepares the Professional Development Plan, which provides the necessary guidance to fulfill the requirements of NYS Commissioner's Regulations 80-	Y	Y	9	11	1	4
Professional	3.6(b), 100.2(dd). Plans and	N	N	5	8	0	4
Development Steering	implements program, workshops, and activities for Superintendent's Conference and Professional Development Days.						
Program	Reviews and	N	N	11	11	0	3
Review	recommends programmatic changes as addressed in BOE policy 0350.						
Program	Reviews and	N	N	5	. 6	0	2
Review Elementary	recommends elementary						
Dictional,	educational						
•	programmatic changes addressed in BOE policy 0350.						
Program	Reviews and	N	N	6	5	0	2
Review Secondary	recommends secondary educational programmatic changes as addressed in BOE policy 0350.						
Response to	Established to	N	N	13	10	0	6
Intervention	address requirements under Commissioner's Regulations 100.2 (ee) and Board Policy 4325						
Scheduling Timeline	Plans all educational and	N	N	2	6	0	2
Thiome	secondary dates for marking periods, progress reports, and report cards.						
School Safety Team	Responsible for policies and procedures related to district-wide	N	N	17	12	5 *requires the inclusion of a Board Member	3-4
	satety.					4	2
Smart Schools	safety. Prepares	Y	Y	12	3		
Smart Schools	Prepares recommendations with regard to the Smart School Bond Act.						
Smart Schools SUNY Stony	Prepares recommendations with regard to the Smart School Bond Act. Established to create a facilitative relationship with the university and	Y N	N	12	12	2	2
SUNY Stony Brook	Prepares recommendations with regard to the Smart School Bond Act. Established to create a facilitative relationship with the university and develop programs					2	2
SUNY Stony	Prepares recommendations with regard to the Smart School Bond Act. Established to create a facilitative relationship with the university and					2	2

Technology	The District Technology Committee meets to plan, discuss and promote the use of technology throughout the district, primarily to support student learning and enhance teaching.	Y	Y	9	11	1	4
Wellness	The goal of the committee is to advocate for the health and wellbeing of the students, staff and community.	N	N	10	6	7	5
Writing	Sub-committee of CDC; provides turnkey training for the Writing Units of Study.	N	N	11	0	0	5

On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District:

Item Description	<u>Model</u>	<u>Serial</u> #	<u>Three</u> Village#	Condition	Location
Benchtop Table	N/A	N/A	004114/ 134474	Poor	Murphy Woodshop
Benchtop Table	N/A	N/A	004115/ 20081672	Poor	Murphy Woodshop
Benchtop Table	N/A	N/A	004116/ 134475	Poor	Murphy Woodshop
Benchtop Table	N/A	N/A	004117/ 134477	Poor	Murphy Woodshop
Benchtop Table	N/A	N/A	004119	Poor	Murphy Woodshop
Benchtop Table	N/A	N/A	20081675	Poor	Murphy Woodshop

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Textbooks Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

<u>Title</u>	Publisher/ Date of Publication	<u>ISBN</u>	No. of Copies	Location
Mastering the AP Spanish Language Exam	EMC 2008	978-082193-494-4	205	WM 130
AP Spanish Test Preparation	EMC 2007	0-13-166094-2	114	WM 130
Aspekte	Langenscheidt/1993	978-3-468-47471	10	WM 130
Aspekte WB	Langenscheidt/1993	978-3-468-474729	10	WM 130
Erzahlungen-Heinrich Boll	Easy Readers Publishing/ 1973	87-11-09164-9	30	WM 130
Der Weg zum Lesen 3rd edition	Heinle/1986	0-15-517351-0	35	WM 130
Faust	La Spiga/1995	88-7100-317-9	28	WM 130
Mein Eigenes Auto	Blaine Ray/2004	0-929724-89-5	15	WM 130
Oktoberfest	Langenscheidt/1995	3-468-49691-5	23	WM 130
German in Review	German Publisher/1967	67-18539	18	WM 130
German Grammer 3rd edition	McGraw Hill/1997	0-07-025134-7	14	WM 130
Blickpunkt Deutschland	Houghton Mifflin/1982	0-395-13690-3	21	WM 130
Mini-Plays	Dolo Publications/2002	0-9650980-4-4	5	WM 130
Preparing for German AP	College Board Complimentary	NO ISBN	14	WM 130
Ds Ratsel vom Waldsee	EMC/1991	0-88436-851-3	43	WM 130
Der verlorene Koffer	Florstadt/1981	0-88436-850-5	9	WM 130

Marchenland	Klett Ernst/2010	978-87-23-90183-5	4	WM 130
Geschichten zur	German Publisher/2012	0-394-32377-7	14	WM 130
Unterhaltung Spannende Geschichten	Glencoe/1990	0-8442-2140-6	17	WM 130
Navegando CD Text	EMC/2005	0-8219-2988-7	19	WM 130
Viva El Toro	Blaine Ray/2002	0-929724-48-8	36	WM 130
Casa de Bernarda Alba	Edicion Catedra/1981	84-376-0068-5	11	WM 130
El Cid	NTC/1994	084742-7119-5	11	WM 130
El Cid	Glencoe/2000	0658-00558-8	41	WM 130
ComoAqua Para Chocolate	Anchor Books/1989	0-385-72123-4	94	WM 131
A Toda Vela	EMC?2008	978-0-82193-714-3	104	WM 131
A Toda Vela WB	EMC/2008	978-0-8213-716-7	32	WM 131
Don Quijote Part I	Aschehoug/1979	3-12-56190-6	58	WM 131
Don Quijote Part II	Aschehoug/1979	3-12-56920-3	126	WM 131
Navegando Textbook	EMC/2005	0-8219-2864-3	29	WM 129
Navegando WB	EMC/2005	0-8219-2867-8	155	WM 129
Imagina Textbiik	Vista/2015	978-1-61857881-5	1	WM 129
Navegando TE	EMC/2005	0-8219-2865-1	2	WM 129
Design & Problem Solving	Delmar/1994	0-8273-5244-1	16	WM Lab A
AutoCAD & its Application 2010	The Goodheart Wilcox/2010	978-1-60525-163-9	22	WM Lab A
World History	Glencoe/1997	0-02-825219-4	30	WM 230
America:Pathways to Present	Prentice Hall/2002	0-13-053625-3	46	WM 230
America's History	Bedford-St.Martins/2004	10-0-312-39879-4	40	WM 230
Economics Principles and Practices	Glencoe/McGraw- Hill/1995	0-02-823048-5	48	WM 230
Living in the Environment 13th ed.	Miller	0-534-397980 and 0- 534-39807-3	80	WM 519

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement with Alternatives for Children for Nutrition Program Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the attached agreement with Alternatives for Children to provide a lunch program for their staff and students at a price of \$3.18 per meal for the period July 1, 2016 - June 30, 2017.

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for instruction/services to be provided by the schools listed below to Three Village Central School District students for the 2016-2017 school year.

- The Center for Developmental Disabilities
- SCO Family of Services

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Transportation Contract Extension – Suffolk Transportation Service, Inc. Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the existing agreement with Suffolk Transportation Service, Inc. for the provision of pupil transportation be extended for an additional one year period commencing September 1, 2016 through June 30, 2017, at an annual increase of the SED CPI or 2%, whichever is less.

On motion by Mr. Komreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Affordable Care Act Compliance Consulting Services Upn the recommendation of the Superintendent of Schools, be it RESOLVED that the appointment of Seneca Consulting Group be approved as Affordable Care Act compliance audit consultants engaged to perform a compliance audit pertaining to District responsibilities of the Affordable Care Act. Appointment is effective July 1, 2016 through June 30, 2017. Fee for services rendered in \$9,500 per annum.

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Superintendent's Hearing Officers Be it RESOLVED that the Board of Education, upon recommendation of the Superintendent of Schools, hereby approves the appointment of Mr. Steven Neidell and Mr. Joady Feiner, Esq. To serve as Superintendent's Hearing Officers for the 2016-2017 school year.

Mr. Neidell will serve at a fee of \$200 per hearing, up to two hours, and \$125 for every hour thereafter, effective July 1, 2016 through June 30, 2017;

Mr. Feiner will serve at a fee of \$300 per hearing, up to two hours, and \$100 for every hour thereafter, effective July 1, 2016 through June 30, 2017.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Action
-- Establishment of
District-Wide
Director of
Elementary
Curriculum to the
Three Village
School
Administrators'
Association
Collective
Bargaining
Agreement and
Appointment of
Individual to Said

RESOLVED that the Board of Education hereby establishes the administrator position of District-wide Director of Elementary Curriculum; and it if further,

RESOLVED that the Title of "District-wide Director of Elementary Curriculum" be added to Schedule "A" of the Three Village School Administrators' Association Collective Bargaining Agreement.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Memorandum of Agreement for TVSAA Employee

Position

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approves an agreement between the Board of Education, the Three Village School Administrators Association and the employee identified on Confidential Schedule "A".

On motion by Dr. Kerman, seconded by Mr. .Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Agreement for TVSAA Employee Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approves an agreement between the Board of Education, the Three Village School Administrators Association and the employee identified in Confidential Schedule "B".

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Action
– Establishment of
Security Director
to the Three
Village School
Administrators'
Association
Collective
Bargaining
Agreement

RESOLVED that the Board of Education hereby establishes the administrator position of the Security Director, and it is further,

RESOLVED that the title of "Security Director" be added to Schedule "A" of the Three Village School Administrators' Association Collective Bargaining Agreement.

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the 2016-2017 Non-Aligned Employee Salary Schedule Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached non-aligned employee salary schedule for the 2016-2017 school year.

<u>Title</u> Superintendent of Schools Cheryl Pedisich	2015-2016 Salary \$228,888	2016-2017 Salary \$240,000 Plus an additional 5 sick days to buy back at the contractual
Asst. Super. Business	\$214,824	rate indicated in contract \$221,269
Jeff Carlson		Plus an additional 5 sick days to buy back at the contractual rate indicated in contract.
Asst .Super Of Human Resources Gary Dabrusky	\$199,211	\$205,187 Plus an additional 5 sick days to buy back at the contractual rate indicated in contract.
Asst. Super Educ. Serv Kevin Scanlon	\$199,211	\$205,187 Plus an additional 5 sick days to buy back at the contractual rate indicated in contract.

<u>Title</u>	2015-2016 SALARY	<u>2016-2017</u> <u>SALARY</u>
<u>District Treasurer</u> Elizabeth Fleming	\$47,754	\$51,762
District Clerk Kathleen Sampogna Confidentials*	\$68,772	\$70,835
Mary Brady*	\$75,543	\$77,809
Mine Evcimen*	\$75,5 43	\$77,809
Elaine Holownia**	\$81,747	\$84,199
Jacqueline Catarelli*	\$75,543	\$77,809

**Superintendent's Confidential receives a \$7,000 stipend.

All Confidentials may buy back 10 vacation days, as of 2015-16

All Confidentials, upon retirement, may be compensated for a maximum of 70 accumulated sick days at the daily rate of 1/240th of their current annual salary, effective July 1, 2016.

Non-aligned clerical personnel will continue to enjoy all the benefits available to members of the

clerical unit.

<u>Title</u>	2015-2016 Salary	2016-2017 Salary
Non-Instructional	•	
Athletic Trainer	\$54,933 + \$5,000	\$56,581 + \$5,000
Jennifer Chimienti	Stipend	Stipend
Part-Time Clericals	\$11.88/hr	\$12.00/hr
Substitutes	\$11.88/hr	\$12.00/hr
Swim Program		
Pool Attendant - Step 1	\$9.00/hr	\$10.00/hr
Pool Attendant - Step 2	\$9.10/hr	\$10.10/hr
Pool Attendant - Step 3	\$9.20/hr	\$10.20/hr
Lifeguard - Step 1	\$10.40/hr	\$11.00/hr
Lifeguard - Step 1 Lifeguard - Step 2	\$11.00/hr	\$12.00/hr
Lifeguard - Step 2	\$11.55/hr	\$12.50/hr
Lineguard - Step 3	ψ11.55/IL	ψ12.50/II
Instruct. Aide - Step 1	\$11.65/hr	\$12.00/hr
Instruct. Aide - Step 2	\$12.50/hr	\$13.00/hr
Instruct. Aide - Step 3	\$13.33/hr	\$13.75/hr
Water Safety Instructor		
Level I – (HS/College)	•	
Step 1	\$13.71/hr	\$14.00/hr
Step 2	\$14.88/hr	\$15.00/hr
Step 3	\$16.02/hr	\$16.25/hr
Level I I- (College Grad)		
Step 1	\$16.39/hr	\$17.00/hr
Step 2	\$17.53/hr	\$18.00/hr
Step 3	\$18.70/hr	\$19.00/hr
	VIO.707III	417.00/11
Pool Supervisor	\$32.25/hr	\$32.50/hr
Driver's Education	\$60.00	
Home Tutors	\$46.05/HR	\$47.00/hr
Title	2015-2016 Sala	ary 2016-2017 Salary
Summer Recreation Program		
Camp Director	\$38.25/hr	\$39.02/hr
Supervisor		*****
- Full Day	\$26.20/hr	\$26.72/hr
- Half Day	·	•
-Special Area Instructor		•
- Lead Counselor		
Step 1, Years 1 & 2	\$13.81/hr	\$14.09/hr
Step 2, Years 3 & 4	\$14.39/hr	\$14.68/hr

Step 3, Years 5 & 6 -Certified Teacher -4 Yr College Gradua	\$15.00/hr	\$15.30/hr
Step 1, Years 1 & 2	\$12.36/hr	\$12.61/hr
Step 2, Years 3 & 4	\$12.94/hr	\$13.20/hr
Step 3, Years 5 & 6	\$13.53/hr	\$13.80/hr
High School Graduate		
Step 1, Years 1 & 2	\$10.92/hr	\$11.14/hr
Step 2, Years 3 & 4	\$11.52/hr	\$11.75/hr
Step 3, Years 5 & 6	\$12.11/hr	\$12.35/hr
High School Student		
Step 1, Years 1 & 2	\$9.48/hr	\$10.00/hr
Step 2, Years 3 & 4	\$10.07/hr	\$10.50/hr
Step 3, Years 5 & 6	\$10.68/hr	\$11.00/hr
Travel Camp		
Supervisor		
Step 1, Years 1 & 2	\$26.20/hr	\$26.20/hr
Travel Camp Counselor		
Step 1, Years 1 & 2	\$19.17/hr	\$19.17/hr
Step 2, Years 3 & 4	\$20.35/hr	\$20.35/hr
Step 3, Years 5 & 6	\$21.54/hr	\$21.54/hr
ESY Program		
SEA	\$15/hr	\$15/hr
TA	\$17/hr	\$17/hr
Teacher	\$285.00/day	\$285.00/day

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Assign Employees to One on One Supervision and Chaperone Services RESOLVED, that upon the recommendation of the Superintendent of Schools the Board of Education hereby authorizes Building Principals to assign district employees to perform chaperone and one on one supervision services, as required, at the employees' contractual rate within the Board of Education's budgetary appropriation for such services.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract – Assistant Superintendent of Business Services Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the contract for Jeffrey Carlson, Assistant Superintendent for Business Services be approved effective July 1, 2016 through June 30, 2017.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract --Assistant Superintendent for Educational Services Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the contract for Kevin Scanlon, Assistant Superintendent for Educational Services be approved effective July 1, 2016 through June 30, 2017.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract – Assistant Superintendent for Human Resources Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the contract for Dr. Gary Dabrusky, Assistant Superintendent for Human Resources be approved effective July 1, 2016 through June 30, 2017.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract of Agreement – Athletic Trainer Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Contract of Agreement between the Three Village Central School District Athletic Trainer and the Board of Education be approved.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

Name	School/ Assignment	Effective Date	Date of Hire
Metcalf, Marilyn	Ward Melville	6/30/16	10/14/87
	Paraprofessional		

Ms. Metcalf is eligible for Terminal Allowance as per article IV of the 2012-2016 agreement between the Three Village BOE and the Three Village Paraprofessional/Teaching Assistants addendum to the TVTA contract.

RESIGNATIONS

Name	School/ Assignment	Effective Date	Date of Hire
Goodstein, Ashley	Gelinas JHS.Teaching Assistant	7/1/16	5/27/09
Griffin, Maria	District Floater/ Registered Nurse	6/19/16	9/1/16
Prestia, Krista	Gelinas JHS/ Teaching Assistant	6/30/16	7/5/11
Wilhelmy, Samantha	Minnesauke/ Special Ed Teacher	7/13/16	10/24/07

LEAVES OF ABSENCE

Name	School/Assignment	Effectve	Reason	Tenured
Lilavois, Nathalie	Setauket Elementary Principal	2016-2017	Unpaid	Yes
Rimmer, Kristin	Nassakeag Assistant Principal	2016-2017	Unpaid	Yes

APPOINTMENT TO ADMINISTRATIVE POSITIONS

Harrington, Robert

Interim Assistant Principal SUNY, New Paltz – BS SUNY, New Paltz– MS Hofstra University – SDA/SAS Previous Tenure – Yes Salary: \$575.00 per diem Effective: 7/1/16 - 6/30/17

This is a per diem assignment. This appointment is due to the re-assignment of Danielle Flaumenhaft. Mr. Harrington will be assigned to Setauket Elementary School for the 2016-2017 school year. Mr. Harrington is a retiree and fingerprint clearance for employment is on file.

Lilavois, Nathalie

District-Wide Director of Elementary

Curriculum

Hofstra University - BA Columbia University - MS Queens College - SDA/SAS Hofstra University - Doctorate Previous Tenure - Yes

Related to current employee - No

Salary: \$157,318

Effective: 7/1/16 - 6/30/17

This is a one-year appointment, effective 7/1/16 - 6/30/17. This appointment is due to administration restructure. Dr. Lilavois will be assigned to the North Country Administration Center for the 2016-2017 school year. Fingerprint clearance for employment is on file.

Rimmer, Kristin

Acting Elementary Principal

Hobart and William Smith Colleges - BA

LIU at C.W. Post - MS Adelphi University - SBL Previous Tenure - Yes Related to current employee - Yes

Salary: \$120,482

Effective: 7/1/16 - 6/30/17

This is a one-year appointment, effective 7/1/16 - 6/30/17. This appointment is due to administration restructure. Ms. Rimmer is the sister-in-law of Keri Rimmer, a speech teacher at Paul J. Gelinas Junior High School. Ms. Rimmer will be assigned to Setauket Elementary School for the 2016-2017 school year. Fingerprint clearance is on file.

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Borch, Kiyolena

One Year, Part Time Teaching Assistant

60% Position

McGill University - B.Com University of Phoenix - MA Previous Tenure - No

Related to current employee - No Salary: Step 2/Level 3 - \$25,025 x .6 = \$15,015

Effective - 9/1/16 - 6/30/17

This is a one-year, part-time appointment due to support needed for overenrolled French and Italian classes at Ward Melville High School. Ms. Borch will be assigned (.6) to Ward Melville High School for the 2016-2017 school year. Ms. Borch is currently working in the district and fingerprint clearance for employment is on file.

Carstens, Alexandria

Special Education Teacher Roger Williams University - BA

Touro College - MA Previous Tenure - No

Related to current employee - No Salary: Step/Level - 2/MA+15

Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to increased staffing. Ms. Carstens will be assigned .8 to The Laurel Hill School and .2 to Setauket Elementary School for the 2016-2017 school year. Fingerprint clearance for employment is on file.

Cesa, Sharon

One-Year Leave Replacement Teaching Assistant

Manhattan College - BA Mercy College - MS Previous Tenure - No

Related to current employee - No Salary Step 1/Level 3 - \$28,630 Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment, effective, 9/1/16 - 6/30/16. This appointment is due to the leave of absence of Karen Booker. Ms. Cesa will be assigned to Minnesauke Elementary School for the 2016-2017 school year. Ms. Cesa is currently working in the District and fingerprint clearance for employment is on file.

Fenigstein, Kathryn

Leave Replacement Speech Teacher

Hofstra University - BA Adelphi University - MS Previous Tenure - No

Related to current employee - No Salary: Step/Level - 1/MA Effective: 9/1/16 - 6/30/17

This is a leave replacement appointment, effective 9/1/16 - 6/30/16. This appointment is due to the childcare leave of absence of Robin Carey. Ms. Fenigstein will be assigned to Ward Melville High School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Hanft, Thomas

Teaching Assistant
St. Joseph's College - BA
Long Island University - MS
Previous Tenure - No

Related to current employee - No Salary Step 1/Level 3 - \$28,630

Effective - 9/1/16

This is a four-year probationary appointment with tenure due 9/1/20. This appointment is due to the retirement of Jeanne Nunziato. Mr. Hanft will be assigned to Arrowhead Elementary School for the 2016-2017 school year. Fingerprint clearance for employment is PENDING

Hommel, Madison

Teaching Assistant
Dowling College - BS
SUNY Stony Brook - MS
Previous Tenure - No
Related to current employed

Related to current employee - No Salary Step 2/Level 3 - \$29,790

Effective - 9/1/16

This is a four-year probationary appointment with tenure due 9/1/20. This appointment is due to a new program. Ms. Hommel will be assigned to Paul J. Gelinas Junior High School for the 2016-2017 school year. Ms. Hommel is currently working in the District and fingerprint clearance for employment is on file.

Horner, Sarra

Registered Nurse

Adelphi University - BSN Previous Tenure - No

Related to current employee - No Salary Step/Level - 7/NURSE

Effective - 9/1/16

This is a full-time appointment. This appointment is due to increased staffing. Ms. Horner will be assigned as a District floater nurse for the 2016-17 school year. Fingerprint clearance for employment has been received.

Ippolito, Amy

Special Education Teacher SUNY Oneonta - BS Adelphi University - MS Previous Tenure - No

Related to current employee - No Salary: Step/Level - 1/MA

Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to increased staffing. Ms. Ippolito will be assigned to Gelinas Junior High School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Kahnis, Erin

One-Year Leave Replacement Teaching Assistant

Parsons School of Design - B.F.A Dowling College - MS

Previous Tenure - No

Related to current employee - Yes Salary Step 1/Level 3 - \$28,630 Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment, effective, 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Jennifer Dolan. Ms. Kahnis will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Ms. Kahnis is the sister of Bevin Jackett, Reading Teacher at Murphy Junior High School. Ms. Kahnis is currently working in the district and fingerprint clearance for employment is on file.

Kmiotek, Katelyn

Mathematics Teacher

Sacred Heart University - BS SUNY Stony Brook - MA Previous Tenure - No

Related to current employee - Yes Salary: Step/Level - 1/MA

Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to the increase of the computer science program at Ward Melville High School. Ms. Kmiotek is the niece of Barbara Kmiotek, a teacher at Nassakeag Elementary School. Ms. Kmiotek will be assigned to Ward Melville High School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Leger, Gregory

One-year Part-time Guidance Counselor

80% position

University of Massachusetts - BA Cambridge College - MS Previous Tenure -No

Related to current employee - No

Salary: Step 1 Level MA, Salary \$60,552 x .8=

\$48,441

Effective - 9/1/16-6/30/17

This is a one- year, part-time (.8 FTE) appointment, effective, 9/1/16-6/30/17. This appointment is due the reassignment of Lori Ross. Mr. Leger will be assigned to the Alternate High School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Macchione, Elizabeth

Teaching Assistant SUNY Oneonta - BS St. Joseph's College - MA Previous Tenure - No Related to current employee - No Salary Step/Level - \$28,630, 1/3

Effective - 9/1/16

This is a four-year probationary appointment with tenure due 9/1/20. This appointment is due to the resignation of Krista Prestia. Ms. Macchione will be assigned to Paul J. Gelinas Junior High School for the 2016-2017 school year. Ms. Macchione is a substitute teacher in the District and fingerprint clearance for employment is on file.

McGlone, Mary

One-Year, Part-Time English Teacher

45% Position Iona College - BA University of Iowa - MA Previous Tenure - No

Related to Current Employee: No

Salary: Step/Level - 5/MA-Salary: \$67,008 x .45 = \$30,153

Effective: 9/1/16 - 6/30/17

This is a one- year, part-time (.45 FTE) appointment, effective, 9/1/16 - 6/30/17. This appointment is due to increased student attendance in the Writing Lab. Ms. McGlone will be assigned .45 to Ward Melville High School for the 2016-2017 school year. Ms. McGlone is working in the District and fingerprint clearance for employment is on file.

Muscarella, Christopher

One-year Part-Time .3 PE/.2 Health Teacher

50% Position

Adelphi University - BS, MA Previous Tenure - No Related to current employee - Yes Salary: Step/Level - 2/MA Effective: 9/1/16 - 6/30/17

This is a one-year, part-time (.5) appointment, effective 9/1/16 - 6/30/17. This appointment is due to enrollment growth. Mr. Muscarella will be assigned .2 Health at Gelinas JHS/.1 PE at Setauket Elementary/.2 PE at The Three Village Academy for the 2016-2017 school year. Mr. Muscarella is the brother of Ronald Muscarella, a physical education teacher at Ward Melville High School. Mr. Muscarella is a substitute teacher and fingerprint clearance is on file.

Oliveto, Anna Michelle

One-Year Leave Replacement Teaching Assistant

Marist College- BA Dowling College - MS Previous Tenure - No

Related to current employee - No Salary Step 1/Level 3 - \$28,630 Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment, effective, 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Judith Fitzsimons. Ms. Oliveto will be assigned to Setauket Elementary School for the 2016-2017 school year. Ms. Oliveto is currently working in the District and fingerprint clearance for employment is on file.

Prestia, Krista

Special Education Teacher St. Joseph's College - BA Previous Tenure - No Related to Current Employee: No Salary: Step/Level - 1/BA+15 Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to the resignation of Samantha Wilhelmy. Ms. Prestia will be assigned to Arrowhead Elementary School for the 2016-2017. Ms. Prestia is currently working in the district and fingerprint clearance for employment is on file.

Raspler, Laurie

One-year Part-time ENL Teacher 70% Position

SUNY Stony Brook - BA Molloy College - MS Previous Tenure: No

Related to current employee: No

Salary: Step/Level - 2/MA \$62,105 x .7 = \$43,473

Effective: 9/1/16-6/30/17

This is a one- year, part-time (.7 FTE) appointment, effective, 9/1/16-6/30/17. This appointment is due to enrollment growth. Ms. Raspler will be assigned .3 to Arrowhead Elementary/.2 Nassakeag Elementary/.2 to Murphy Junior High School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Shook, Heather

Special Education Teacher SUNY Plattsburgh - BA C.W. Post/LIU - MS Previous Tenure - Yes

Related to current employee - No Salary: Step/Level - 5/MA+15 Effective: 9/1/16

This is a four-year probationary appointment with an anticipated tenure date of 9/1/20. This appointment is due to the reassignment of Joseph Pulaski. Ms. Shook will be assigned to Arrowhead Elementary School for the 2016-2017 school year. Fingerprint clearance for employment has been received.

Squatrito, Jessica

One-Year Leave Replacement Teaching Assistant

Hunter College - BA Previous Tenure - No

Related to current employee - No Salary Step 1/Level 3 – \$28,630 Effective - 9/1/16 -6/30/17

This is a one-year leave replacement appointment, effective, 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Nicole Ullah. Ms. Squatrito will be assigned to Setauket Elementary School for the 2015-2016 school year. Ms. Squatrito is working in the District and fingerprint clearance for employment is on file.

Tarnowski, Rachel

One-Year Leave Replacement Teaching Assistant

College of Staten Island - BA Long Island University - MS Previous Tenure - No Related to current employee - No Salary Step 1/Level 3 - \$28,630 Effective - 9/1/16 - 6/30/17

This is a one-year leave replacement appointment, effective, 9/1/16 - 6/30/17. This appointment is due to the leave of absence of Meghan Friedman. Ms. Tarnowski will be assigned to Paul J. Gelinas Junior High School for the 2016-2017 school year. Ms. Tarnowski is currently working in the District and fingerprint clearance for employment is on file.

APPOINTMENTS TO SUBSTITUTE
TEACHER/NURSE/PARAPROFESSIONAL/
TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Campa, Catherine

Ms. Campa is the niece of Mary Lynch, psychologist at the 3V Academy.

Fingerprint clearance has been received.

Cohen, Scott

Mr. Cohen is the nephew of Randi Kowalenko, a TA at WMHS.

Fingerprint clearance has been received.

Haff, Nicole

Ms. Haff has previously worked as a substitute monitor and for our SACC Program.

Fingerprint clearance is on file.

Murphy, Tara-Ann

Fingerprint clearance has been received.

Stimmel, Suzanne

Ms. Stimmel was a one-year teacher during the 2015-2016 school year.

Fingerprint clearance is on file.

Substitute Teaching Assistants:

Cohen, Scott

Mr. Cohen is the nephew of Randi Kowalenko, a TA at WMHS.

Fingerprint clearance has been received.

Murphy, Tara-Ann

Fingerprint clearance has been received.

The following employees are retiring as of 6/30/2016 and have requested to be added to our substitute teacher, substitute teaching assistant and/or substitute nurse list. Fingerprint clearance is on file.

Aweh, Michele Maffia, Christina Martindale, Kristianna McDonald, Robert Metcalf, Marilyn West, Clair

APPOINTMENTS OF FALL SUPERVISION/COACH POSITIONS

<u>Last</u> Name	<u>First</u> <u>Name</u>	<u>Building</u>	Assig- nment	Effec- tive	<u>Step</u>	<u>Year</u>	<u>Total</u> <u>Years</u>	<u>Stipend</u>	Status	End Date		
Junior High Coaches												
DeLuca	Ryan	Gelinas	Boys Soccer 7/8	Fall	1	1	1	\$4,803.00	Out of District	11/1/ 2016		
Petruzzi	Daniel	Murphy	Foot- ball 7/8	Fall	1	1	1	\$4,803.00	ln District	11/1/ 2016		
High Scho	ool Coache	<u>s</u>										
Ponzini	Briana	WMHS	JV Cheer- leading	Fall	2	1	3	\$6,674.00	Out of District	11/I/ 2016		

Ms. Ponzini was previously board approved as Murphy's Cheerleading Coach, but her assignment has changed.

Supervision Rate: \$27.91/hr prior to 6:00 p.m., \$41.87/hr after 6:00 p.m. and on days school is closed

Scoreboard Timer: \$107.22 p. contest

All other times/scorers receive supervision pay rate

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	First	Building	Assignment	<u>Effective</u>	Stipend	Not to
Stipends	<u>Name</u>					Exceed
Dattero	Anthony	Gelinas	Lead Guidance Counselor - 10+ years	2016-2017	\$4,700.00	\$4,700.00
Rimmer	Kristin	Setauket	Acting Principal - Setauket Elementary School	2016-2017	\$10,000.00	\$10,000.00
McCaffrey	Virginia	WMHS	Special Ed ACT/SAT Testing Accomodations Coordinator	2016/2017	\$55.63/hr	\$3,500.00

**Ms. McCaffrey is being board approved as a substitute for Kimberly Morrison who was originally board approved for this on 6/22/16. Ms. Morrison is having surgery and is expected to be out the month of September.

Lamiroult	Brenda	District- Wide	District Teacher Mentor - 10+ Year	2016-2017	\$4,700.00	\$4,700.00
Perry	Leanne	District- Wide	District Teacher Mentor - 1st Year	2016-2017	\$2,688.00	\$2,688.00
Alexander	Dawn	District- Wide	District Teacher Mentor - 1st Year (.7)	2016-2017	\$1,881.60	\$1,881.60
Curatolo	Mona	Nassakeag	Lead Reading Teacher - 3rd Year	2016-2017	\$2,688.00	\$2,688.00
Henriques	Lisa	Minnesauke	Lead Reading Teacher - 3rd Year	2016-2017	\$2,688.00	\$2,688.00
Maaiki	Nancy	Arrowhead	Lead Reading Teacher - 3rd Year	2016-2017	\$2,688.00	\$2,688.00
Prinzevalli	Rachel	Mount	Lead Reading Teacher - 3rd Year	2016-2017	\$2,688.00	\$2,688.00
Seligson	Lisa	Setauket	Lead Reading Teacher - 3rd Year	2016-2017	\$2,688.00	\$2,688.00
Hurowitz	Tanya	District Elementary Schools	Kingergarten Screening	2016-2017	\$1,500.00	\$1,500.00
Weisman	Cortney	WMHS	.1 6th Class Assignment - Art	2016-2017	\$9,097.50	\$9,097.50

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Stevens	Jennifer	Arrowhead	Special Ed Instructional Support	2016/2017	\$55.63/hr		\$1,500.00
Nash	Katherine	Setauket	Teachers Special Ed Instructional Support	2016/2017	\$55.63/hr		\$1,500.00
*** Ms. Steven	s & Ms. Nash	are replacing Ms.	Teachers LaScala & Ms. Rey	es that were prev	iously board ap	proved or	n 6/22/2016.
Lingner	James	Mount	Science Fiction Club	1/16/16 - 6/23/16	\$ 42.12/hr	12	\$505,44
Bayles	Tanya	WMHS	Graduation Chaperone	6/26/2016	\$42.12/hr	3.5	\$147.42
** Ms. Bayles re	eplaced Ms. Pr	yor who was oris	ginally board approv				
Lamirouit	Brenda	North Country	Substitute Collegial Circle	2016/2017	\$74.73/hr	7	\$523.11
Репту	Leanne	North Country	Substitute Collegial Circle	2016/2017	\$74.73/hr	7	\$523.11
Domicik	James	WMHS	InStar Program	2016-2017	\$48.10/hr	10	\$481.00
Kettler	Todd	WMHS	InStar Program	2016-2017	\$48.10/hr	10	\$481.00
Kula	Mamie	WMHS	InStar Program	2016-2017	\$48.10/hr	10	\$481.00
Weinstein	Robyn	Nassakeag	Elementary	2015-2016	\$47.39/hr	2.5	\$118.48
D	Com	WALLS	Writing Committee	6060016	\$20.19/hr	4	\$169.68
Brous	Gen	WMHS	1:1 Supervision - Graduation	6/26/2016		-	
Drosselmeier	Teresa	WMHS	1:1 Supervision - Graduation	6/26/2016	\$20.19/hr	4	\$169.68
Ferraro	John iesta	WMHS	1:1 Supervision	2015-2016	\$20.19/hr	15	\$302.85
Curriculum Pro		TO CITE	41	2016 17	E40 10	8	\$384.80
Ambrose	Donald	WMHS	Algebra A/Integrated Algebra	2016-17	\$48.10	8	3384.60
Anderson	Phoebe	WMHS	Alignment Physical Education - Scope &	2016-17	\$48.10	8	\$384.80
Anderson	Phoebe	WMHS	Sequence K-12 Physical Ed Curriculum	2016-17	\$48.10	10	\$481.00
Barrett	Linda	Ward Melville	Revision JHS Special Ed. Health Curriculum	2016-17	\$48.10	8	\$384.80
Cadolino	Joanna	Gelinas	15:1:1 IG Curriculum/EL	2016-17	\$48.10	21	\$1,010.10
Cappiello	Lisa	WMHS	A General Media Art (ALC/ABA) Gr	2016-17	\$48.10	20	\$962.00
Cereola	Vince	Ward Melville	7-12 AP Literature/ACE	2016-17	\$48.10	12	\$577.20
Cereola	Vince	Ward	Program Literature of	2016-17	548.10	22	\$1,058.20
Chacon	Enrico	Melville Ward	Sports Physical	2016-17	\$48.10	8	\$384.80
		Melville	Education - Scope &				
Chesney-Gold	Alyssa	Ward Melville	Sequence K-12 Business Courses	2016-17	\$48.10	20	\$962.00
Conrad	Lori	Gelinas	Science-Review & Revision 7R,	2016-17	\$48.10	12	\$577.20
Corbett	Janine	Ward Melville	7H, 8R General Media Art (ALC/ABA) Gr	2016-17	\$48.10	20	\$962.00
Cowan	Кепу	Ward Melville	7-12 AP Literature/ACE Program	2016-17	\$48.10	14	\$673.40
Cowan	Kerry	Ward Melville	Literature of Sports	2016-17	\$48.10	20	\$962.00
Crispino	Lisa	Ward Melville	Sports The Poetry of Hip Hop	2016-17	\$48.10	20	\$962.00

	*						
Dietz	Kristin	Ward Melville	General Media Art (ALC/ABA) Gr	2016-17	\$48.10	20	\$962.00
Doepp	Sarah	Murphy	7-12 Science-Review & Revision 7R, 7H, 8R	2016-17	\$48.10	12	\$577.20
Dowling	Sean	Minnesauke	K-6 STEM	2016-17	\$48.10	22 1	\$1,058.20
Duffy	Cathy	Murphy	Curriculum IG Curriculum/EL A	2016-17	\$48.10	21	\$1,010.10
Earls	Linda	Mount	IG Curriculum/EL A	2016-17	\$48.10	20	\$962.00
Finnerty	Kevin	Ward Melville	Business	2016-17	\$48.10	22	\$1,058.20
Florio	Christina	Ward Melville	Courses Special Ed. Health Curriculum	2016-17	\$48.10	8	\$384.80
Frantellizzi	Vita	Arrowhead	15:1:1 Grade 5 Social Studies Curriculum	2016-17	\$48.10	20	\$962.00
Gold	Paul	District-wide	Alignment Grade 5 Social Studies Curriculum	2016-17	\$48.10	2	\$96.20
Grippa	Christine	Gelinas	Alignment Physcial Ed Curriculum Revision JHS	2016-17	\$48.10	10	\$481.00
Hanscom	Stan	Gelinas	Intro to Computer Programming/C omputer	2016-17	\$48.10	22	\$1,058.20
Hudecek	Jo-Ann	Mount	Programming I IG Curriculum/EL A	2016-17	\$48.10	20	\$962.00
Hunter	Kate	Minnesauke	Grade 5 Social Studies Curriculum Alignment	2016-17	\$48.10	20	\$962,00
Kane	Allison	Gelinas	Herstory: Women in History	2016-17	\$48.10	14	\$673.40
Kiriluk	Deborah	Arrowhead	Grade 5 Social Studies Curriculum Alignment	2016-17	\$48.10	20	\$962.00
Konczynin	Allyson	Mount	Grade 5 Social Studies Curriculum Alignment	2016-17	\$48.10	20	\$962.00
Kost	Maureen	Ward Melville	Physical Education - Scope & Sequence K-12	2016-17	\$48.10	10	\$481.00
Kost	Maureen	Ward Melville	Special Ed. Health Curriculum 15:1:1	2016-17	\$48.10	10	\$481.00
LaLima	Jeanne	Ward Melville	Physical Education - Scope & Sequence K-12	2016-17	\$48.10	8	\$384.80
Lamiroult	Brenda	District-wide	Grade 5 Social Studies Curriculum Alignment	2016-17	\$48.10	20	\$962.00
Littman	llene	Ward Melville	Business Courses	2016-17	\$48.10	20	\$962.00
Maier	Colleen	Nassakeag	K-6 STEM	2016-17	\$48.10	20	\$962.00
Martin	Marvel	Gelinas	Curriculum Course D (French, Italian, Spanish)	2016-17	\$48.10	20	\$962.00
McAuliffe	Brian	Ward Melville	AP Literature/ACE Program	2016-17	\$48.10	12	\$577.20
МсСоу	Meg	Ward Melville	Course D (French, Italian, Spanish)	2016-17	\$48.10	20	\$962.00
McNair	Michelle	Ward Melville	Course D (French, Italian, Spanish)	2016-17	\$48.10	20	\$962.00
МсNатага	Laura	Gelinas	Algebra A/Integrated Algebra Alignment	2016-17	\$48.10	10	\$481.00

McNamara	Laura	Gelinas	Intro to Computer Programming/C	2016-17	\$48.10	20	\$962.00
Micle	Jennifer	Setauket	omputer Programming I Grade 5 Social Studies Curriculum	2016-17	\$48.10	20	\$962.00
Murolo	Jacqueline	Ward	Alignment The Poetry of	2016-17	\$48.10	22	\$1,058.20
Murray	Stefani	Melville Nassakeag	Hip Hop Grade 5 Social Studies Curriculum	2016-17	\$48.10	20	\$962.00
Nachtigall	Dawn	Murphy	Alignment Science-Review & Revision 7R, 7H, 8R	2016-17	\$48.10	12	\$577.20
Porter	Cynthia	Ward Melville	Integrated History & ENL/ELA Grade 10	2016-17	\$48.10	20	\$962.00
Preston	Kim	Ward Melville	ASL 2	2016-17	\$48.10	22	\$1,058.20
Prinzo	Anthony	Mount	IG Curriculum/EL A	2016-17	\$48.10	20	\$962.00
Quiros	Melissa	Ward Melville	Course D (French, Italian, Spanish)	2016-17	\$48.10	21	\$1,010.10
Rogers	Steve	Ward Melville	Robotics	2016-17	\$48.10	20	\$962.00
Roughton	Temi	Ward Melville	AP Literature/ACE Program	2016-17	\$48.10	12	\$577.20
Rovegno	Brianna	Arrowhead	K-6 STEM Curriculum	2016-17	\$48.10	20	\$962.00
Russo	Stacey	Ward Melville	Integrated History & ENL/ELA	2016-17	\$48.10	22	\$1,058.20
Smit	Michael	Gelinas	Grade 10 Intro to Computer Programming/C	2016-17	\$48.10	20	\$962.00
Stelfox	Kristin	Gelinas	omputer Programming I Herstory: Women in	2016-17	\$48.10	18	\$865.80
Stelfox	Kristin	Ward Melville	History Integrated History & ENL/ELA	2016-17	\$48.10	20	\$962.00
Tranchino	Gretchen	Mount	Grade 10 K-6 STEM	2016-17	\$48.10	20	\$962.00
Trettner	Jennifer	Ward Melville	Curriculum General Media Art (ALC/ABA) Gr	2016-17	\$48.10	22	\$1,058.20
Trettner	Jennifer	Ward	7-12 Robotics	2016-17	\$48.10	22	\$1,058.20
Valenzano	William	Melville Gelinas	Physcial Ed	2016-17	\$48.10	10	\$481.00
Varacchi	Gina	Setauket	Curriculum Revision JHS K-6 STEM	2016-17	\$48.10	20	\$962.00
Vetro	Rocco	Murphy	Curriculum Algebra	2016-17	\$48.10	8	\$384.80
veuo	ROCCO	матрау	A/Integrated Algebra Alignment	2010-17	970.10	•	5501.00
Vetro	Rocco	Murphy	Intro to Computer Programming/C omputer	2016-17	\$48.10	20	\$962.00
Von Bargen	Janet	Mount	Programming I Grade 5 Social Studies Curriculum	2016-17	\$48.10	20	\$962.00
Vonnes	Carol	Ward	Alignment Business	2016-17	\$48.10	20	\$962.00
Vorwald	Gary	Melville Gelinas	Courses Science-Review & Revision 7R,	2016-17	\$48.10	14	\$673.40
Youngs	Tom	Gelinas	7H, 8R Physcial Ed Curriculum Revision JHS	2016-17	\$48.10	12	\$577.20
Continuing E	l Program		ICCA1910II JUIO				
Ward-Abdo	Julie	WMHS	The A, B, C &	Fall	No Fee	1.5	No Fee
Silvestro	Crino	WMHS	D's Women's Self Defense	Fall	\$800	hours 10.5 hours	\$800.00

Home Tutoring Boltrek	Chris	Academy	Home Tutoring	5/9,5/24,5/26, 6/2,6/7	\$46.05	5.0	\$230,25
Daleo	Lauren	Gelinas	Home Tutoring	4/1,4/8,4/15,4/ 22,5/6,5/13,5/2 0	\$46.05	11.0	\$506.55
Fontana- Daguerre	Edward	Gelinas	Home Tutoring	5/26,5/31,6/2, 6/7,6/10,6/14, 6/16	\$46.05	7.0	\$322.35
Giles	Casey	Gelinas	Home Tutoring	5/19,6/1,6/8	\$46.05	3.0	\$138.15
Harding	Keith	WMHS	Home Tutoring	5/12,5/19,5/26, 6/2	\$46.05	8.0	\$368.40
Lorenzen	Jennifer	Gelinas	Home Tutoring	6/3,6/46/8,6/10 ,6/16,6/17,6/23	\$46.05	14.75	\$679.24
Michalski	Debra Ann	Arrowhead	Home Tutoring	5/22,5/30,6/12	\$46.05	60	\$276.30
Milillo	Michael	Gelinas	Home Tutoring	1/27,2/1,2/3,2/ 8,2/10,2/22,2/2 9,3/1, 4/6,4/11,4/18, 4/20,5/2,5/4,5/ 11,5/16,5/18, 5/23,6/1,6/6, 6/7,6/8,6/15,	\$46.05	6.0 13.0	\$598.65
				4/6,4/11,4/18, 4/20,5/2,5/4,5/ 11,5/16,5/18, 5/23,6/1,6/6, 6/7,6/8,6/15, 6/17	\$46.05	13.0	\$598.65
Re	Andrea	Acad/ WMHS	Home Tutoring	5/23,5/24,5/31, 6/7,6/9, 6/13,6/21	\$46.05	8.75	\$402.94
Reo	Scott	Gelinas	Home Tutoring	4/12,4/14,4/19, 5/5,5/10, 5/12,5/17,5/19, 5/24,5/25, 5/26,5/31,6/7, 6/8,6/13,6/14, 6/16	\$46.05	13.75	\$633.19
Schnettler	Garrett	Gelinas	Home Tutoring	5/16,5/18,5/23, 5/24,5/25,5/26, 5/31,6/1,6/3, 6/4,6/7,6/8, 6/13,6/14,	\$46.05	15.0	\$690.75
Serigano	Jennifer	WMHS	Home Tutoring	5/26	\$46.05	2.0	\$92.10
Smith	William	WMHS	Home Tutoring	4/1,4/15,4/22, 5/6,5/16, 5/20,5/23,5/27, 5/28,5/30,6/2, 6/6,6/17,6/19, 6/22,6/24, 6/27	\$46.05	21.0	\$967.05
				5/27,5/20,5/30, 6/2,6/6, 6/17,6/19,6/22, 6/24,6/27		3.5	\$ 61.18
Stelfox	Kristin	WMHS	Home Tutoring	5/18,6/1,6/2, 6/7,6/8,6/9	\$46.05	7.5	\$ 345.38
Traube	Giлa	Gelinas	Home Tutoring	6/1,6/6,6/13, 6/14	\$46.05	4.0	\$184.20
Tursi	Jennifer	WMHS	Home Tutoring	3/14,3/15,3/16, 3/22,3/23,3/29, 3/31,	\$46.05	15.75	\$725,29
				4/5,4/12,5/4, 5/11,5/17,5/18, 5/25,6/1,6/10	\$46.05	11.0	\$506.55

Vorwald	Gary	Gelinas	1	1/19,11/27, 12/4,12/8, 12/14,12/15	\$46.05	7.0	\$322.35
			APPOINTMENT SUMMER ASSIGN				
<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Summer Work							
Ambrose	Donald	WMHS	Algebra 2/Trigonometry Review Course	7/25/16 - 8/11/16	\$55.63/hr	18	\$1,001.34
Petruzzi	Jeanne	WMHS	Algebra 2/Trigonometry Review Course	7/25/16 - 8/11/16	\$55.63/hr	18	\$1,001.34
	e and Mr. Pe	truzzi are repla	cing Ms. Re and Ms. Schra	der who were pr	eviously board	approved	for this on
6/22/16. Marino	Laurance	North Ctry	Summer CSE & Special Ed Purposes	July/ August 2016	\$630.57/day	up to 8 days	\$5,044.56
** Ms. Marino	's daily rate i	s based on her	2016/2017 base salary with	no stipends.			
Lamiroult	Brenda	North Ctry	Preparation/Facilitation for New Teacher Orientation/New Substitute Orientation	August 2016	\$ 651.73/day	5 days	\$3,250.65
Репу	Leanne	North Ctry	Preparation/Facilitation for New Teacher Orientation/New Substitute Orientation	August 2016	\$611/day	5 days	\$3,055.00
Alexander	Dawn	North Ctry	Preparation/Facilitation for New Teacher Orientation/New Substitute Orientation	August 2016	\$604.05/day	3 days	\$1,812.15
Cohen ***Mr. Cohen	Scott was approve	Arrowhead	ESY Program - TA by appointment by Ms. Pedi	8/12/16 7/5/16 - 8/12/16 isich on 6/24/16	\$17.00/hr to begin worki	ng on 7/5/	716 .
ESY Substitute		sa tor emergeno	y appointment by Ms. Fed.	ISICII OII 0/24/10	to begin worki	ug on 1131	10.
Ianatto	Kim	Arrowhead	ESY Program - Substitut	e 7/5/16 - 8/12/16	\$14.40/hr		
Jenkins	Ronna	Arrowhead	ESY Program - Substitut Teacher	e 7/5/16 - 8/12/16	\$ 285.day		
LaScala	Rene	Arrowhead	ESY Program - Substitut Principal	8/12/16	S 325/day		
Perotta	Cindy	Arrowhead	ESY Program - Substitut Principal	e 7/5/16 - 8/12/16	S 325/day		
AIS Services							
Cowan	Кепту	WMHS	Summer Credit Recovery - English	Summer 2016	\$55.63/hr	20	\$1,112.60
DeRosa	Michael	Gelinas	Summer Credit Recovery - Math	2016	\$55.63/hr	20	\$1,112.60
Kane	Allison	WMHS	Summer Credit Recovery - Social Studies	y Summer 2016	\$55.63/hr	20	\$1,112.60
Schuchman	Peter	Gelinas	Summer Credit Recovery - Earth Science	Summer 2016	S55.63/hr	20	\$1,112.60
Zeidman	Stacey Lynn	3V Academy	Summer Credit Recover Special Education	- Summer 2016	\$55.63/hr	20	\$1,112.60
Summer Work	2						
Duffy	Catherine	Мигрћу	Summer Work - SRI Student Testing, Check & Distribute Grade 7 ELA Books, Prepare New Writing Center, Plan PD Days, Review Final Exams and Textbook Inventory		\$685.60	I day	\$685.60
Kelso	Elizabeth	WMHS	College Essay Writing	Summer 2016	\$146.36/hr	20	\$2,927.20
Crispino	Lisa	WMHS	College Essay Writing	Summer 2016	\$146.36/hr	20	\$2,927.20

Proctoring/Gr	ading						
Ambrose	Donald	WMHS	Review Class/Proctor/Grading Aug RE 2015	Aug-16	\$55.63/hr	25	\$1,390.75
Baron	Josh	Gelinas	Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Bryne	Liz	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Buys	Megan	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Castagna	Al	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Clare	Patricia	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Coppolia	Patricia	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Crispino	Lisa	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Forese	Liz	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Kula	Mamie	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Levy	Barbara	Murphy	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$\$5.63/hr	25	\$1,390.75
Marotta	Chris	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
McAuliffe	Brian	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-I6	\$55.63/hr	25	\$1,390.75
McCaffrey	Virginia	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
McNeil	Brian	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Metrio	Jessica	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Milano	John	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Nickerson	Carol	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Pahjua	Pam	Murphy	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	50	\$2,781.50
Perrino	Craig	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Pomerantz	Linda	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Pomerantz	Danny	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Preuss	Maryann	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Re	Andrea	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	35	\$1,947.05
Smith	Bill	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Stelfox	Kristin	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	35	\$1,947.05
Tullo	Patricia	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Vonnes	Carol	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55.63/hr	25	\$1,390.75
Whitman	Julianne	WMHS	Aug RE 2015 Review Class/Proctor/Grading	Aug-16	\$55,63/hr	10	\$556.30
Williams	Laura	WMHS	Aug RE 2015 Review Class/Proctor/Grading Aug RE 2015	Aug-16	\$55.63/hr	25	\$1,390.75
			- 100 114 1414				

\$1,390.75 \$55.63/hr 25 Wright Chelsea WMHS Review Aug-16 Class/Proctor/Grading Aug RE 2015 2016-2017 APPOINTMENTS OF DEPARTMENT CHAIRS Subject Name School P.J. Gelinas English Cadolino, Joanna Mathematics McNamara, Laura Science Vorwald, Gary R.C. Murphy English Cathy Duffy Mathematics Rocco Vetro Patrick McManus Science Brian McCauliffe Ward Melville English Foreign Language Liz Brecht Physical Education/Health Maureen Kost Science Chairperson & IN Dr. Marnie Kula STAR Coordinator Coordinating Chair of Global Kerri Golini All Buildings Languages & ESL Coordinating Chair of Linda Bergson Guidance Coordinating Chair of Art/ Jennifer Trtettner Technology Coordinating Chair of Special Laurance Marino Education

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Coordinating Chari of Music

Anthony Pollera

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

Name	School/ Assignment	<u>Effective</u>	Length of
		<u>Date</u>	<u>Service</u>
Fischbach, Barbara	Mount Elementary School	6/27/16	1 yr. 5 mo.
	Special Education Aide		
Reindl, Candice	Arrowhead Elementary School	6/27/16	6 yrs. 10 mo.
	Special Education Aide		

APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

Norman, William Security Director

District-wide Safety and Security

New Position

Related to current employee: No Annual Salary: \$75,000 prorated Effective: August 1, 2016

Denial of clearance or conditional clearance from the Commissioner of Education shall result Ib immediate termination of employment.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Wilhelmy, Samantha

12 month Senior Clerk Typist (Step 6/Level 3)

Transportation Office

Replacing: Maura McMullin (reassigned)
Related to current employee: Yes
Annual Salary: \$42,924 prorated
Effective: August 1, 2016

Lincolive. August 1, 201

Ms. Wilhelmy is the daughter of Janet Furlani, a Principal Clerk in the Office of Human Resources. Fingerprinting clearance has been received and is on file.

Guards

Dumelle, Adam

Guard Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: July 14, 2016

Fingerprinting clearance has been received and is on file.

Foerster, Gary

Guard Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: July 14, 2016

Fingerprinting clearance has been received and is on file.

McManus, Francis

Guard Districtwide New Position

Related to current employee: No

Salary: \$18.67 hourly Effective: July 14, 2016

Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS

Catsoris, Jennifer

From: Account Clerk Typist (Step 9/Level 4)
To: Senior Account Clerk Typist (Step 8/Level 5)

Business Office

Annual Salary: \$51,514 prorated

Effective: July 8, 2016

DeAngelis, Diana

From: Senior Account Clerk (Step 11/Level 5)
To: Principal Account Clerk (Step 11/Level 6)

Business Office

Annual Salary: \$58,321 prorated

Effective: July 8, 2016

Lalia, Lori

From: Account Clerk Typist (Step 11/Level 4)
To: Senior Account Clerk Typist (Step 10/Level 5)

Business Office

Annual Salary: \$54,518 prorated

Effective: July 8, 2016

Morreale, Jacqueline

From: Account Clerk Typist (Step 9/Level 4)
To: Senior Account Clerk Typist (Step 8/Level 5)

Business Office

Annual Salary: \$51,514 prorated

Effective: July 8, 2016

Wiberly, Donna

From: Account Clerk Typist (Step 15/Level 4)
To: Senior Account Clerk Typist (Step 15/Level 5)

Business Office

Annual Salary: \$70,999 prorated

Effective: July 8, 2016

Custodial

Williams, Robert

From: Night Lead Custodian (Step 6/Level 1)

Annual Stipend: \$500.00

To: Custodial Worker I (Step 6/Level 1)

Arrowhead Elementary School Effective: July 11, 2016

Effective July 11th, Mr. Williams is being reassigned to the Split-Shift position at Arrowhead Elementary and is no longer entitled to the \$500 annual stipend as the Night Lead Custodian.

SALARY ADJUSTMENTS

Name Position/ Effective Stipend Amount

Assignment
Bosco, Glenn Night Lead Custodian

7/11/16 \$500.00 annually*

Arrowhead

Elementary School

Mr. Bosco is replacing Robert Williams who has been reassigned.

*This stipend is prorated and to be paid a a flat dollar amount on a monthly basis for each month of service.

Brady, Mary

Data Coordinator

7/01/16

\$6,000 annually

North Country Administration Building

> APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

DeCollibus, Maria Salary-\$11.88/hr.

Effective-7/14/16

Fingerprinting clearance has been received and is on file.

Dowden, Patricia Salary-\$11.88/hr.

Effective-9/1/16

Fingerprinting clearance has been received and is on file.

Custodial

Derenches, Thomas Salary-\$11.88/hr.

Effective-7/14/16

Fingerprinting clearance has been received and is on file.

Nordberg, Julie Salary-\$11.88/hr.

Effective-7/14/16

Fingerprinting clearance has been received and is on file.

Perez, Antonio Salary-\$11.88/hr.

Effective-7/14/16

Mr. Perez is the son of Tito Perez, a Guard in the District. Fingerprinting clearance has been received and is on file.

Food Service Worker

Gristina, Jennifer Salary - \$11.88/hr.

Effective 91/16

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Ceroni	Jenna	WMHS	Escort Spec, Ed. Sudents 1.1 to	2015- 2016	Reg Hourly	4	\$169.68

APPOINTMENTS TO COMMUNITY SWIM PROGRAM/ATHLETICS STAFF

Name Position Hourly Rate

Rizzi, Christina Lifeguard \$10.40

Ms. Rizzi was emergency approved by Cheryl Pedisich, Superintendent of Schools effective July 5, 2016. Fingerprint clearance has been received and is on file.

Templeton, Rebecca Lifeguard \$10.40

Ms. Templeton is a WMHS student and as such, fingerprinting is not needed.

APPOINTMENTS OF SUMMER RECREATION STAFF 2016-2017

Last Name	First Name	Building	<u>Position</u>	Effective	Hourly Rate	Assignment				
Revisions										
Bellini*	Alexia	WM	Counselor	7/1/2016	\$9.67	Half Day				
Diehl*	Maggie	WM	Counselor	7/1/2016	\$9.67	Substitute				
Lonisso*	Thomas	WM	Counselor	7/1/2016	\$11.14	Half Day				
The following new hires and revisions were emergency approved by Cheryl Pedisich, Superintendent of Schools.										
Daum	Kaila	WM	Counselor	7/1/2016	\$11.14	Full Day				
Connors	Jessica	WM	Counselor	7/1/2016	\$12.61	Half Day				
Соптіе*	Michael	WM	Counselor	7/1/2016	\$19.55	Travel Camp				
Heyder	Thomas	WM	Counselor	7/1/2016	\$9.67	Half Day				
Jackson	Hayley	WM	Counselor	7/1/2016	\$9.67	Full Day				
Mandracchia	Chris	WM	Counselor	7/1/2016	\$11.14	Full Day				
Santana	Gabrielle	WM	Counselor	7/1/2016	\$11.14	Full Day				
Webb	Lloyd	WM	Counselor	7/1/2016	\$11.14	Full Day				
*These recomme	ndations contain r	evisions to rec	ommendations Be	DE approved on	June 8th					
Higgins	Kate	WM	Counselor	7/1/2016	\$12.61	Substitute				

Hourly rates are subject to change based upon recommendation at Reorg on 7/13/16.

SUMMER ESY PROGRAM APPOINTMENTS 2016

Last Name	<u>First</u> Name	Building	Effective	<u>Title</u>	Rate
Substitutes					
Castellano	Alex	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Ferrara	Nancy	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Perniciaro	Jill	Arrowhead	7/5/16-8/12/16	SEA	\$11.88/hr
Smith	Jeanette	Arrowhead	7/5/16-8/12/16	Nurse	\$25.00/hr

AMENDMENTS/REVISION

Food Service Worker

Moline, Sheila Status: Part-time Food Service Worker

Amendment/Revision: Effective date of position

Date of BOE Approval: June 22, 2016

Ms. Moline was BOE approved as a part-time Food Service Worker effective June 23, 2016. That effective date is being revised to September 6, 2016.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: April Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

8, 12, 13, 14, 15,
19, 20, 21, 22,
May 3, 4, 10, 11,
18, 20, 25, 26, and
June 15, 2016

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: May 25, June 1, 2, 7, 14, 16, 17, and 20, Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMS OF INTEREST

2016

There were no Other Items of Interest.

PUBLIC PARTICIPATION There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote to adjourn the meeting at 8:32 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk